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1.3.1
<�*
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��� �� 	��
� 	���� �������
 � �� �
� ������� ����
 ����� ���� ��
 �����
 ����� ����� 	��� 
�	 �������
����� �
 ����� ����� ���� ���� �� ����� ���
 ����� � ���	� ���� �� ����� � ������� ����� �
� 
���� ����� ����
��������

Woofer
����� �����	 �������� 	���� ���� ��� ���� �� 	���� 
� �	��� � �������� ���� 	���� 	��

�
tweeter

�� � ���	
700−5000 � �����	 ����� ����	 ��������

mid-range
� ���	

70−700 � ����� � ������ ����	
�����	� ���� 
��
� ����� � ������

subwoofer
�� ������ ���� ���
 � ������ � ��	��� ������ ����	 �������

���� ��� �
� 
�� ����	 �����	 ���� �
 �� ����� ��� ����	� 
�	 ������ ��
� �
crossover


���	 ����� �����
�������� ����� ���� ���� 	����� ����� ����	 
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 ����� 
� �� ����	 �� ��� ���� ���� ��� �����	 ����� ��� ��� ������� �����
�	� ��� 
�	 �����	 ����� �� ��� 
����� 
�� �����
 ��
� �� �
 ���	� ���� � ����� �����

H(ω) =











K ωB1
< ω < ωB2

0
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 ���� 
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�	 ��� ���	 ����� ��
 ���� ����� ������ ��
� ���� 

HL(ω)

HF (ω) =











K/HL(ω) ωB1
< ω < ωB2

0
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1.3.2
<�*
.


����	����	�� ��
 ���� �� 	���� �
�� �� 	� ���� 

���	� �������� � ����� �
����� ���	 �� ��� ���� 
����� ������ � ����
 ���
 ��� ������
	 ��� ��� �����
 ���
 	����� � �����
		�� ��
	 ��
 ��
 �� ���� ����	 	���	 ����� ��	 	� ���	 ����� � ������� 
��	���	 ������ 	����	 	����
���	 ����� ������� ��	 �����	 	����	 ������ 
���� ������ � ������� � ���
 ��	��� ����	� �����	 ����� �� �
�
�
 ���	��� ������� ������� ���
�	 ������	 ��� ����� ��
� ��	��� ������ ��� ��� ����� 	���� ��
 ��
�
�Multi-channel

�� ���
��� ��������� ���
� �	� � �����	 	����	 ������ 
����� � ������� ����� ���� 	����
� �
� � �
� ����� � ������ ����	 ���� �	� ���� 
������� ���	 �	� ��
 ��� ��
 ������ ���� �	� �� ��� ���
� ����� ���� � 	����	 �� ����
	 ����� �������� ����
 �� � �
� � ����� � ������ ���� ������	 �� ������
�� ��� ����� 
� ������ ��� �
 � �	��� ���	� ������ ���	� 	��� �� ��� 	���	� ��
�� ������� 
	��� ������
��� ������ ���
 ������	 �
� 
������ 	�	� 	����	� 	�� ���
� ���� �� �� ���		 �
 ��
�	� �� �� �������
����� ��� ���� ����� ���� �� 
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yZIR

� �5� �� �48� � �4���5 �� D�� ����� ���647
����� � �1 @@@� ��6�71 � �6!9� ����� �� �4���5� ��7 �16 � �� �7 66�8 �� ��6�71 � �6!9�

��� ����48� � �8�9�� @ � �4�7 � �!��� � �8�9�6 ��4�� 6��� � ���� � �6�!� � ��6� ��4�5�� � �� ��7�
� �� � �6��� ���68 ��8�9� � �����8 � �� ��7�6 �1��� 4 �0 ����� ���9 � 
� ��!�64� � � ��6�71 � �6!9�

����� � �� � ������ � �� �48
� �4�8� ��� � ���4 � �8�9� 67 ��4�8� 67 ���668 � ���!� 3� �4 �3� �� �4���5� � �� �� 69 ��01 �1�6

�� �� �� �� � 69 ��� ���� �8�9�� � �� ����� �6��

���	 
�����
 � �������� ������
��
 �� ��� ���� � � �
� �� �� ���� ����� �� �8� �0 �7 �4 �� �9 ��� � ����� �9 � ����4�6 � �� �� �7 �4 69 ��014 �0 ��5�
yZSR

�5� �61�� ��4�� ���!� �!7 �� � �� 
���� ����6 �1�� � �0 � �9�� ��1 �� 7 ���1� ��"�:C� �1
�
yZIR

�5� �� �48� ���!� �
� ��

N

���� �� � �!��� �08 � �� �� 67 ��668� �����

N
∑

n=0

an
dny(t)

dtn
=

M
∑

m=0

bm
dmx(t)

dtm
(2.1.1)

aN 6= 0
�8 ���� 1�44 �4� ��� �!�� ���

y(t)
@�@@@�8�9�6 �� �48� �4�� 4�1�� @@@3�� 4 � �� � ��

x(t)
�7�8

�� �15 �1� ���� �9 � �8�� �� ���!�6 3� �4 ��1�7 3���8 �
bM 6= 0

38 �
����� � �� �96 �0 �� ��7� �9�5�� � ��5�� 2��9�

N
∑

n=0

aN−n
dny(t)

dtn
=

M
∑

m=0

bM−m
dmx(t)

dtm
.(2.1.2)

�
( 2.1.1)

67 3�� ��� � ����9 ���4 �4� �3�� ��� ��� � ���6 7 � �� ��� ��� 6��� 3��7 3���8
�
y(k)(t)

.
= dky(t)

dtk
3�� 4

��



��01 �D��
	���	 �
�� ���

t ≥ t0
���� � �����

M
����

x(t)
	������ ����	�

2.1.1
>-/�

{y(t0), y
(1)(t0), . . . , y(N−1)(t0)}


{y(t) : t ≥ t0} ���� ������ ��
( 2.1.1)

� 
� 
�� �
t0

�� ��

@4�5� ���9 ���4 ����� 3�� �� �
x(t)

��9� ��
t
9!�� �6��� �7� ����� 4�5� ��

x
@� 3��6 !��4 2��9�

�� ��� 4�5 �07 9��7��@@@�4�7� ���9 � ��� �4��� ����4� �7�8 �
x(·) ��� �7��7�6 �9�4 �� �����

�� ��� 4�5� ��
x(t)

@� 3��4� �41��� 69 ��5� 4 �6 � �� �96
	���	 �
�� �

x1
	���� ����

( 2.1.1)
�
 �� ��

y1
�


2.1.2
<,'>

{y1(t0), y
(1)
1 (t0), . . . , y

(N−1)
1 (t0)},

	���	 �
�� �
x2

	���� ����
( 2.1.1)

�
 ����
y2

��

{y2(t0), y
(1)
2 (t0), . . . , y

(N−1)
2 (t0)},

	���	 �
�� �
αx1 + βx2

	���� ����
( 2.1.1)

�
 �� ��
αy1 + βy2

��


{αy1(t0) + βy2(t0), αy
(1)
1 (t0) + βy

(1)
2 (t0), . . . , αy

(N−1)
1 (t0) + βy

(N−1)
2 (t0)}.

� �� ����� 38 ��8 ����0!� �6�95 � ����4�6 66!� �������� ����7��7 6��4�
( 2.1.1)

@� ���4 2<�%
<
�6 �7 �� �3���5� ��0 38� �8 9� �4 386� ���1� 3���5 7 � �� ��7�6

2.1.1
�57� �56 ��61��� ��4�

���!� ����!� �61�� ��4� �9 �1�� � �� ���
x

�� �48 � �� ���9 2��� 3���� �8�9� ����!� � �� ��
���4 �7��� ��� �!� � �� �48 3�� �7� 67 ���� ��0 D2�8�9� �� 67 !7 ��� � ���� 3��9�� �� 0 �

y
���� ��

��61��� ��4�6 �1����6 ���8
3��47 �4�7��� �� �7� �� �� ��6 3���5� � ��4� � �� �7 69 ��014 ���8�9� � �!� ���8 � �� ��� 3��47 �456

��4!�� �� 3���5� ���5 3���5 ��7 �1 ��� ��

 �
t
���

x(t) = 0
�� ��� � x ≡ 0

��
� 	
����	 ����� 
�	
( 2.1.1)

�� ����� �	 �����
2.1.3

<&.*<
��
�	 ����
� ������� �� ������� �������

N
��� ����� �	 ����� 
�	

( 2.1.1)
�� ����	 ����� �		 �����	



yh

�� 	�� ����� ���� 
	���	 �
�� ��� �����	
���� 
	���		 �
��� ������	 
�� �

x
��� �	 	����	 � �
 ���� 	
����	 ����� 
�	

( 2.1.1)
�� ���� �����



yp

�� 	�� �����

��� ( 2.1.1)
� 
� 
�� ����� 
���� �� ��

2.1.4
<,'>

�
yp

���� ����� 
��� 
�

�
yh

����	 ����� �		 �����	 �
 ���� 
�
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� �8�9� �D��

� �����	 	���		 �
��� �� �
��� ��

yh + yp
�� �������	 �������	 ���� �
 ���� 
�

�6 �7 �� �
2.1.2

�49�� 9��4 2<�%
<
��5� �� �48� 3���56� ��5� �61�� ��4�� 3���56 �� �61 ��� 69 � �� 3���5 � ��4�6 � �47� �� �7�


� �����	 	���		 �
�� ���� �
x ≡ 0

��
� 	
����	 ����� 
�	
( 2.1.1)

�� ��
 	����� �����
2.1.5

<&.*<


yZIR

�� 	�� ����� ����
�����	 	���	 �
�� ���� � �

x
��� �	 	����	 � �
 ���� 	
����	 ����� 
�	

( 2.1.1)
�� ��
 	���	 �
��� �����



yZSR

�� 	�� ����� ���� 
��
�



( 2.1.1)

�
� 
�� ����� 
�	
y

.
= yZIR + yZSR 2.1.6

<,'>
�6 �7 �� �

2.1.2
�49�� 9��4 2<�%
<

y1 − y2
�0� 
� �4�7 �61�� ��4� �� � ��0 �� �48 �9 � �� ��� �� � ��� �5

y2
@�

y1
�� �8 �6 � �7 4

�
�668� �4!�� ��� 3���5� �6 3� ��8 �� � �4!�� �� 3���5 �����!� �56 ����
yZIR

3���5� ��4!�� �� 3���5 � ��
� �� �� �8 9��4 6�96 � ��57��� �38 ��8 ��5� �61�� ��4� ���9 �� ���5 3���5 ���

yZSR

��0 ���96
����5 3���5 ��� �4!�� �� 3���5� ���5 3���5 67 � �8� � �4!�� �� 3���5 � �� � ��4!�� �� � �4���5 67 ���4�6

	���� �����
( 2.1.1)

� 
� 
� 	 �
� �� �
D

�������
 �� ����� ����� ����
2.1.7

<&.*<
N
∑

n=0

anDny(t) =

M
∑

m=0

bmDmx(t)(2.1.3)


	
����	 �� ��
�� �� � 	����	 � �
� ������	 ����� ��	 
�	 � 
� 
� 	 �� ������ �		 ���	 � �� �����
	 ����� ��	
�� ��� 


λ
���� �	�����

D
����	� ����� 
�	

N
∑

n=0

anλn(2.1.4)


��
� 	���
( 2.1.4)

�����	� ��
λ

�� �����	 �	 �����
	 ����� ��	 ����

�� ��� �7 ����� � ���6 3� �4 �4!�� ��� 3���5� ��

�	 ����	 ����� �		 �����	 ��
 
� 
� 
� 	 �� �����
	 � ���� ��	 �� �����	 �


λ1, . . . , λN
�� ����

2.1.8
>-/�

yh(t) =
N
∑

i=1

Aifi(t)(2.1.5)


��	�� � ������ � �� ������ �	 � ������ �� ��� � ������ �		 	
����	 �� ������ � ������� �	
fi(t)

��������	 ��
�


fi(t) = eλit ��
 �����
	 ����� ��	 �� ���� ��� ��� ���� 
�	

λi
�


��
 
����
	 �����	 ��� 	��� 	� �����
λi = λi+1 = · · · = λi+k

�� ��� �
k + 1

��� ��� ���� 
�	
λi

�� ����


0 ≤ j ≤ k

����
fi+j(t) = tjeλit
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�������� ������
��
 �� ��� ����� ������ � ��

� �� �� 3���5 �8 �4��� ���!��8 � �7�7� ��� �� �7�8 �� �8�9�6 �� �� � �668 ����� �1���4 �0 � �9��
���6� �� �48� �957�� �0 �67� 08�� 4 ��61�� ��4�� � !� �� �48� � ! ��6�

������ �	 
����� ��
��� ��� � �
��� �� �� �� �48 3�� �7� � ����!�� � �8�9�� 34��� 4

����
 � ���� ��� �
Φ
�� �� ���� ������ 
�	

Input Output Map—IOM
	
����	���� ����� �����

2.2.1
<&.*<



Y
�� ���� ��
 �	
���	 ��� �
 ����
 � ���� ���� �

X
�� ����� �	����	 ��� �


� ���7� ��� �7�� �� 3��4 �
H

�8�9�6 ���4 2��� 3�� ��� 7�7�4 �4� �71�� ����6

H-x -
y

����� �� �48 ��5�� �8�9� 2��� ����

2�8 � ! ��0 3��4 � �� �96 �� �� ��� 3�� �7�� �� 7 �!�� �0 3�� �� �7�8 �
y = Φ(x)

@8 � ! ��0 3��4�
��9� �� �9�6 ���4 �7�8 ��6 �8 � ��� 69

Φ
��5��� 69�5 �6�1� 2�8 3���6 7 � �0 3�� �� �

y(t) = Φ[x](t)�
��� � ����4�5 ���9� � ��7 ���5 ��� ������
t
�� ���4 �

t
3�� 4 9!��

y
������ 67

��7 ��� �14�� 27��5�� �0 ����9 3���4 �6 386� ��� ��� �� �48 ��5 �� � �8�9�� �� �9� � ��94 �7���
��� ��� �� �48 ��5�� !��� � �� �4��4� �8�9�� ���1� ���4 �6

�� �	 ��� �� ��� �
 �	
Y
��

X
	
���	� 	����	 ��� �
 ���� 	���� ���
������� 	
����� ������

2.2.2
<�*
.

	���� ����� ����� ���� ��
 ���
 �� �� ��
 ����� �	���	 �
�� ����� �
 
�	
�	�
0
�� ������� �� ��� � �� ���	


����� ��
 	
��� � �
�� 	���� ���� ���� �
� 
	
���
	���� ����� ����� 	��
 ��� �� �����
 ���� ��� ��� 	���	� 	���� ��� ��
 �	���	 �
�� ����� 
� �
 ��
� �� ���


	
���

�3� 0� ��� !�� � �� �8�9� � � �� 67 � �4��5��� �1�

n
�� �	 	���� ��
�

x(n)
�� 	�� ��
 ���� ����� ��� �� �	 ��� �
 ���� �� �� � �
 
��� � �


2.2.3
<&.*<


� ��� �� �� ��
 �� 
��� ����� �� �	 ��� �
 
������ ����� ����

���� �� �� � ���
 �	 	�� 	
���	 ��� 	����	� ����� 
�	 ���� �� �� �����


����� � � �� �
 �	 	
���	� 	����	 � �� �
 �
 ��� ��� �
��� �����

���� �� �� ��� �
 �	 	�� 	
���	 ��� 	����	� ����� 
�	 ���� �� �� �����


� ��� �� �� ���	� ���� �� �� 
�	 � �� �
	 ��
 	���� ����� 
�	 �������	 �����
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� �8�9� �D��
��5 �� 3�0 � �� 69 ���� 3� 0� � �� � ��

x(n0), x(n0 + 1), . . . , x(n1)
2����� �79�6 � �� ���� 3� 0� � ��

��5�� 3�� �� �
∞ �9
n0

@� 67�6 � �5 �� @3�� ��1 � ! � ���6 6�8 � 3�0� ���

���� �� �� ��� ��� ����� �� ��� 
�	

( 2.1.1)
��� �� ������	 �����	

2.2.4
<�*
.

�y
	���� �

x
	���� �� ������
 	
���� ��� �� ��
���	 ����� 
�	 ��� ��� 	��
� ������ 	����

y = Ax(2.2.1)


� �� ���� �	
x, y

�� �	����� 
�	
A

��
�
��� �� ������	 �����	

y(n) = x(n) + 2x(n − 1)

����� �
�
���� �
���

( 2.2.2)
	
����	 � ���� �� �� � �� �
 �	 	����	 � �
� 	����	 � �
 ��� ���� �� �� ����� 
�	

����� 
�	 ���� ��
 �����	 ����� 
	
��� 	���� ����� �� ��� �	�� 
�
10

���� ��
� � �
���� �� ����� ����	
�� �� ��
 � ������ ������ �� �
 ����� � �� ��� �� �� ��
 � ��� ��� �
 ���� 
�	 
������ ����� ���� ��������	


�����

�1 � ��
y

���!�� � !� �
�8��� �6�� ��6�� � �5�� � ��
x(t) ( 2.1.1)

��� 69 ���!��� �8�9�� ���9
�� ����


� �������� �	 	����	 ��� 	����	 ��
 ����� 
�	
SISO: Single Input Single Output

�����
2.2.5

<&.*<

� �� ���� �	 	
���	 ��� 	����	 �


MIMO: Multiple Input Multiple Output
�
��� �����



MISO

��
SIMO

������ ������� 	� �� 	����



t
�� �� ���	 ��� �� 	����	 ����� 	����

t
�� �� 	
���	 �
 ������ ���� �
��� ����� 
�����

2.2.6
<&.*<

�� ��� 4�� � �8�9�6 �� 3� ��8 � �9�7� �69� � �� �0 ���!�
	����	 ��
 �� ���	 ������ ���� ������ �� ����� �� ��� 
�	

( 2.1.1)
��� �� ������	 �����	

2.2.7
<�*
.


� �� �� �
� 	����	 ����� ����� 	����� 	��
 ���� ����� �� �� ��� ����
� � ������ ����
������	

y(t) = 2x(t) y(t) = x2(t) + (t + 1)2

����" �


������ � ���� �
 �� ��� ��� ���
 �	
������	

y(t) = x(t − 1) , y(t) = x(t + 1)

����: �
������ ���� ����� � ��
 ���� 	����	 ��� �
 ���� �����

t
���� 	����	 ����� ����� ��� ������ � ���� �	


�� ��� �� ���� ���
� � ����
��	

������ � ���� �� ��� �	

( 2.2.2)
��� �� �

( 2.1.1)
��� �� � ������	 ������	
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� �8�9� �D��
�0 ���!� �� ���� � ��9� ��948� �8�9� �� ���6�

y(t)
���!��

t
9!� 68� �� ����� ����4 �8�9�

�4�69 ���0! ����6 387 � ����� �4�� ��08 ���!� �56 ��0�! � ��7 �8�9� 67�6 2� ����� �4�1�� � �� ��9�
��� �� �8���� ���!�� ���� 7 � 386 �
��0!4 67 ���!�� ��80� � ����6 ��9� �9� �� �48� �8�9 �� �9�6

�� ��
y(t)

	
���	 ��� �
t < t0

��
t0

��� �

Causal, Non anticipative

������ �
��� �����
2.2.8

<&.*<

{x(s), s < t0}�� �� ��� �	��	� � ���� �����	 ��� �� 	����	 ����� ����

t

� ����� ����� ���� �� �	 ��� �
 ���	� ��
� �
 ������ ���
 �
��� �����


������ ����� �� ��� 
�	
( 2.2.2)

�����	
2.2.9

<�*
.
	
���	� ��� �� ��� �� ���������
 ����� ��
�� �� 	� ����	� ���
� ����� � � ����� ����� �
�� 	���� � 
� 
�


������� 	��	� �� 	����
�����	 �
 �� ������ ���� �	

2.2.7
	����� ������	

y(t) = x(t + 1)

����� �


	����	 �� ����� ���� ���� 	����	 ��� ��� ������ 	��
 �����
�����	

y =
dx

dt


����B �
���� ������� �������	 ���
� ��� ����� ���� 	
�� ��
� ������ 	���		 �	���� 
�������	 ��� ������ 
�	
���� �
 ����� �
 


t
��
� ��� �� �
 �

t
����

x(s)
���� �
 ���� �����

t
���� �����	 ��� �
 ���� ��� �	�


	���� 	���� ��� �� � �����
����
	 	���		� �� ��
�� ����� ���� ����� ��
 �� ������ ������ � �� �
� 	����	
	���� 	��
 	����	� ����� ����� ���� 	��
 
�	 �
 ������� ���
 ��� ������ 
�	

( 2.2.6)
�����	 �� �� ����



t
���� ������ �� 
�
 �	����	 �� ����	 ���� ��

�7��� �� ���� �� � 4��7 � �6��� � �4�6 1 �4 � �� �96 �6�� �� ���� �� 3���8 3� � ��6� �0�5� � �8�9�� ���
3� �� 3��

t
�4�7�6 �� �� ��1� � �� ��� � ! �� ��� 4��6� �4�� � ���� ��� !7 ��7 3���8 ���4��� ��� �9 67

�� ����� �4��7 ��6� �0�5 �8�9� 38� �� �0� �3� 0 67 �6� �0�5
������

α, β
��� ����

x1, x2
	���� ��� �
 ��� ��� �
 ���
��� �
��� �����

2.2.10
<&.*<

Φ(αx1 + βx2) = αΦ(x1) + βΦ(x2).


� �����	 � ������ � �� ���	 ���� 
�	 ������ ����� 	����	 ��� ���

��� � !
( 2.2.6)

�8�9�� ���� ����� �� ���4�6 �8�9� �����
( 2.2.2)

�8�9�� �8 ���� 9��4 ���!���
�� ���4�6

2� ���� � �4�8�� ��7 �� ������ � �� �� ��� �� � ���4�6 � �� �8�9�
@� �

Φ(x1 + x2) = Φ(x1) + Φ(x2)
2
(Additivity)

� ��� �� ���
Φ(αx) = αΦ(x)

2
Homogeneity

� ��4!�� ��
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� �8�9� �D��
�4�8� �� ������ ��� �48� 67 �7��� �61� � �� �� ������ �7�

y = Re[x]
�8�9�� ���!��6

��� �7�� �5�� ��� 6��7 �� 387
Re[αx] 6= αRe[x]

�0� �8��� �5�� � ��
α

�� �6�� �� ��� �� ����
�� ��8 ��� � ����� � ����� �4�7 ���� � ���4�6 �8�9� �4�� �0 386 ��8 ��� �5�� 3�� �

� ��6��� ��!6 � ! �6� ��8�9�� ��!6 9��� �� �6 �7��� � ����4�6� �6�7 �8 �6 �� �7 2� ����� ��9�
���1� ���4 �� �6� � ��8 ��� � ��6�� 1�44 �4� � ��8 � �� ��8 ��� �� ��7�� 2� ��� ���

� �� ��6 ���!� 1�46 ��7� 3�� �46 �75�� ��� ���� � �9�7� �69� �4�8� � �� � ����4�6� �4�8�
��� �� � �� �75 � �� �� 67 �� ��6 �����5 ��� 69 � �8� ���

@7 3���8 �
b 6= 0

�� ����4�6 �4��
y = a · x + b

�8�9��

Φ(x1 + x2) = a(x1 + x2) + b 6= ax1 + b + ax2 + b = Φ(x1) + Φ(x2).



Φ[x] − Φ[z] = Ψ[x − z]

�� ��
Ψ

���
��� ����� �� ��� �

Affine

�����
 �
��� �����
2.2.11

<&.*<
��4� �9

( 2.1.1)
��� 69 ��� ���� �8�9�� �

Ψ(x) = ax
@@@� �4�5� � �� 6�96

y = a · x + b
�8�9��

�61��� ��4� �7�8 ��� �48 � �� �� �476 �� �!� �714 �� 2� �4�5� �8�9� � �� � �4�� 4� � �9 ��� �61��
����68 �� ���4�6 �8�9� 9���8 �0�@@@�5� �61�� ��4� ���9

( 2.1.1)
�� � ��� � 7�5�� �0� �� ��0 ��

��8 � ��61��� ��4� �957� 66!� ��� �486 �1�� � ���4�6 �8�9� ����� �4�� � �6� ��4�5�� ����7�
�
�5�� � �4�7 �61��� ��4� �

m
686

bm = 0
�7�8

( 2.1.1)
69 ��714 ���0 � ���6

���68 ��5� �61�� ��4�� �8�9�6 � ��1���� ��� 69 � �� � �� ��� � ����4�6 � 4�8� 6��6 �1� ���
��61��� ��4� � ���!�� �� 9��� 3�0 ��1�6 � ��6�4 �4� 23���1 7 � �0 ���6 ���6�

yZSR

3���56 � ��1����
�� ���� � �!7 ��� ��� �8 69 ��!� 4

���
x(s) = 0

�� �� �� �
� ����	 � tx
�� � ���� �
 ��� � ���� ��

x(t)
��
� 
��� 
���� �� � �


2.2.12
<&.*<


��
�� ���� �� � �
 ����� 	� �� 	���� 

s < tx

	������	

u(t) =











0 t < 0

1 t > 0


����� �


 �
3.3

���� 	��� ������ 	���� �
t = 0

�� ������ 	��
 �� 	������ � ���� � 	������ 
�	� �	���� ������� �
���

x
��
� �� ���
�� ��� � ���

u
�� ����� ��� ���

α
���

x(t) = x(t) · u(t − tx − α)
�� ���� ���� � 	������ ��



x(t) = x(t) · u(tx + α − t)

�� ���� ���
�� 	������ 	� �� 	���� 
��
��

�5���� ��� � �� �4� � ���� �1 � �� ��!��6 �
tx = 0

@7 � �� �4��8� �0�
tx

3� 06 7��5�� �1���4 �6 ��
�
0
@6 6��7�

����� �

(Initially At Rest)

������	 	����� 
�	 � 
� 
� ��� �� ��
���	 ������ ��
�
2.2.13

<&.*<


s < tx

����
y(s) = 0

�� ���� 
�	 �� ��� �	����	 ����� �� ��
 
�	
s < tx

���� ��
��	 ��� � � �
� �����	
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�

2.2.14
<,'>

�61��� ��4� ����61�� �1�4�� �8�9� ���!�� ��4� � � �� � �� � ��4� � � �� �� � �8� �8 �6 � �7 4 2<�%
<
�6 �7 �� �

2.1.2
�49�� �9��4 � ����4�6� 386 �� �5�� ��� �� 3�0 ���9 �5� ��

�38� � ��� �48� �957� �456 ���!� 3�� 2� ������� ���!� �� �46 ���80� � ��61�� �1�4� ���!�
2� ��0 � �!7 ��� 
��6� 3� ��9� � � ����4�6 � �8�9� ���9


� �����	 	����� 
�	 �
 ��� �
 ������ 
�	 � ��
��� �����
2.2.15

>-/�
t0

3� 0 � ��9 � �� �����
x1(t), x2(t)

�� �48 � �� �� �47� 34��� 4 �� ��61�� �1�4�� �8�9��7 1�44 2<�%
<
� ��768

x1(t) = x2(t) t < t0,

���� �

x1(t) 6= x2(t) t > t0.

����A �
���!��

x1(t)−x2(t)
�� �48� ���9 �8 9��4 � ����4�6�� �

xi(t)
�� �486 �8�9�� ���!� ��

yi(t)
@� 3��4

y1(t) −
�8 9� �4 � ��61�� �1�4�� �4�8�� �

t < t0
���9

x1(t) − x2(t) = 0
@7 3���8 �

y1(t) − y2(t)
� ���

���6� �4��
t0

3� 0� ���!�� @ �� �
t < t0

���9
y1(t) = y2(t)

@7 �8 �� �46��� �
t < t0

���9
y2(t) = 0�� ��� �� �8�9�� �� �68 ��� �48� 67 � ��� ��9 � �8�9�

� �����
x(t)

�� �48 � �� 9��4 �� ��61�� �1�4� � ����6 ��8 �� ����� �8�9��7 1�44 �47� 3���8�
3��4�

x1(t) ≡ 0
���!4 �

t < t0
���9

y(t) = 0
������

y(t)
���!�� � ! �8 ���4�

t < t0
���9

x(t) = 0@6 � ��7
x(t) − x1(t)

�� �486
y(t) − y1(t)

���!�� �8 9��4 � ���� ���� �
x1(t)

@6 ���!�� ��
y1(t)

@�
� ���4�6 �8�9� ���!� �

y1(t) ≡ 0
�����4�6�� �47 ��� �� 0 � �1�� � �� 0 � �� ��� 387

t < t0
���9

y(t);( ;/ ;� �� ��61�� �1�4�� �8�9���
t < 0

���9
y(t) = 0

386 � 
�5� ���� ��� �5 �� �486
��9��5� ����� !�4��6 6�8 � � ��61�� �1�4�� �4��7 �D�� �8 ��!�� ��� �98 ���4

���
� ���� ����� ������
2.2.16

<�*
.
y′(t) + 2y(t) = x(t) .


�����C �


2.1.2

���� 	
���� ��	����� ���� � � ��
��� 	��
 �����	 ��

y(0) 6= 0

	���	 �
�� ���� �
� ���
� �� ��
�
����� �	� ���� 
������ 	��
 �����	 ��


y(0) = 0
���� �� ��� �� �� 	���	 �
�� ���� �


x1(t) =











1 −1 ≤ t ≤ 0

0 otherwise.


������ �

x2(t) ≡ 0 .

������ �


�	
x1

�� 	����	� ����� �� ��


y1(t) =























0 t ≥ 0

1
2

(

1 − e−2t
)

−1 ≤ t ≤ 0

1
2

(

e−2 − 1
)

e−2t t ≤ 0 .


�����" �

������ 	����� 	����
t
�� �� 	����	

t < −1
�� ���� �� ��
�� ��
 


y2(t) ≡ 0
�� �� ���
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� �8�9� �D��
�� �71 � �� ����� �57�� � ����4�6� ��4� �8 ���4 ���

�������	 	����� 
�	 �
 ������ 	��
 �� ��
��� 	��
 	
�	 �����	
2.2.17

<�*
.

y(t) = x(t)x(t + 1) .

�����: �

������� 	����� 	��
 �
 ����� ����
��� 	��
 	
�	 �����	 	�� ���

y(t) = x(t) + 1 .

������ �

�� ��� 

s

����� �� �� ��
	 �
 ����	 ������

σs�� ����

2.2.18
<&.*<

σsx(t)
.
= x(t + s).(2.2.16)

�

Time Invariant—TI

�� �� 	���� �
��� �����

Φ(σsx) = σsΦ(x)(2.2.17)


� �� � 	��
� ����� �� �����	 	����	 
�	 ����� 	����� 	����	 �� ���

�� 00�� ����5�� �9 �61�� �67 ��5 ��� �� 3�0� �9��� � �� �8�9� ������ 35���
Linear Time Invariant

��8�9� @@@ 
�D�6 � 3�0� � �9��� � ����4�6 � �8�9� 3� � ��94 3�� � �8�9�� ���
�
(LTI)

����!�� �56 ��8 3�0� �9��� �4�� 3� ��8
Φ(x)(t) = t · x(t)

�8�9��

σs (Φ[x]) (t) = σs (tx(t))

����� �

= (t + s)x(t + s)

�����A �

6= tx(t + s)

�����C �

= Φ[σsx](t) .

������ �

��47 ���

�� �� 	���� ����� ��
�� ������	 	����� �
���	 � 
� 
�

2.2.19
<,'>

� ���6 6� �
y = Φx

@� 3��4 ��4� � � �� � ��
σsx

� ! �0� �4� � � �� � ��
x

�� �8 �6 � �7 4�
s

9��4 2<�%
<
σsy

386 �
s
@� 00��� 3�0� �� � ��0 �� �61��� ��4� ����4� �

σsx
�� �48 ���9

( 2.1.1)
�� �� �5

σsy
�8

�6 �7 �� �
σsx

�� �486 ���!�� � ��
����0!� ����5�� �� 3���

D
�8 �804
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2.2.20
<,'>

Φ

(

d

dt
x

)

=
d

dt
Φ(x) .


������ �

��8�9�� ����5�� �9 �61�� ���0!� ����5�� ���68
y = Φ(x)

@� 3�� 4 �
dx/dt

� ! �8 �0� �
t0

���4 �� ����� 9!� �9 ��5���
x

�� �48� �� �8 �6 � �7 4 2<�%
<
� �� ����

y1
���!���

x1
�� �48�7 6��4�

( 2.1.1)
@�

y1 = dy/dt
@�

x1 = dx/dt
���4 �

x
�� �486 ���!�� ��

;( ;/ ;� ��� ��7�� ��
	
���	 � �� �
 ���� ���

Ψ
����� ����� �� ��� �
 	���	 �
���

Φ
	
��� 	���� ����� �����

2.2.21
<&.*<

x
���� �� ����� �� ��� �
 ��� ��� 
	����	 � �
 �
 ������	 �	����	 � ���
 �����

Ψ(Φ[x]) = x .

�����" �

���
�����	 �����	
2.2.22

<�*
.

Φ(x) = x

�����: �

�����	 
	���	 �
�� 
�	

y(t) = xn(t − 1)

������ �

�����	 
����
n

���� 	���	 	��
 �
 ����� �

n

��� 	���	 
�	

y(t) =
dx(t)

dt


�����B �
���� ���� ������ 
�	 ��� 	���	 	��


Φ[x] = Φ[x + α]

������ �

�����	 

y

����� ����
x

�
 ����� ���� 
�� ���� ����

dy(t)

dt
= x


����� �

� ���� �	 � �� �
	 ���
 
�	 	����	 � �� �
 ���� �
 	���	 
�	 � �����	 	����� �
���	

���4�� �8�9� ����� �� ��61�� �1�4�� ����4� ��D�� ��� 69 ��� ���� �8�9� �8 �4��� �� �8 ��6
�4�� �7� �3�0� �9��� � � ���4�6 �� ����� �3��8 �0 �69� �

SISO
��� ��� �� �48 ��5�� ���7 �� ��� 3� 0�

��8�5� 1�8��
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��8�� ��!�� �D��

6v(t)

-
i(t)

R(t)

��6�71 �8�9� 2��!�� 2��� � ���

������ �� ������� ������
��
 �� ��� ����� ����� ����� � ��

�
v

�!4� 1�� ��� �� �!�� �
R

�!4 ��� ��9���
i
��0 � �� �� �48� �� �8�9�� 34��� 4
�� � 69 3�� 4 1���� ��0� 3�� �7��

v(t) = R(t)i(t).

��" �� �

�� ��!4 67 � �4�7 � �!�� ���9 � �8�9�� � �4�8� �� 1�44
�9 ���

R = R0
�
I�� ���4�6� �3� 0� �9��� �3��80 ���1 �0 �8�9�

��!4� � �4��0� ��9 � ��!4��� ��4�7 �� �����
f(t)

�7�8
R(t) = R0 + f(t)

�
II�4�� �8�9�� �3��80 ���1 �8�9�� 386� ��18�4� �8�9 ��� �� �� �48� ��6� ���!�� ��9 �0 �8�9��

�
( 2.3.1)

�56 387 3�0� �9���

σsΦ[i](t) = σsv(t) = σs[(R0 + f(t))i(t)] = (R0 + f(t + s))i(t + s) 6= (R0 + f(t))i(t + s) = Φ[σsi](t).


��" �� �

2� ����4�6 � ���4

Φ[αx1 + βx2](t) = (R0 + f(t))(αx1(t) + βx2(t))

��" �" �

= (R0 + f(t))αx1(t) + (R0 + f(t))βx2(t) = αΦ[x1](t) + βΦ[x2](t)

��" �: �

�� ����4�6� ���!� �56 � ����
6�!� �!4 � ����� � �� �!4� �0� � �5�� 6��!

R0
�� ���0 ��6� �8�97 �!4 ��0 �

R(t) = R0 + i2(t)
�
III�� �6 ��! � �8�9 ���9 �6 �� �� �4�� ��0 �8�9 ���9

387 3�0� �9��� � �� �3��80 ���1 � �� �0 �8�9�

σsΦ[i](t) = σsv(t) = σs[(R0 + i2(t))i(t)] = (R0 + i2(t + s))i(t + s) = Φ[σsi](t).

��" �� �

2� ����4�6 � ���4

Φ[αx1 + βx2](t) = (R0 + (αx1(t) + βx2(t))
2)(αx1(t) + βx2(t))


��" �B �
6= (R0 + x2

1(t))αx1(t) + (R0 + x2
2(t))βx2(t) = αΦ[x1](t) + βΦ[x2](t)


��" �� �
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�D��6 ��9� 2� �8�9� �D��
�� ���4�6 �4�� �8�9�� 386�

�
R(t) = R0 + α

∫ t
−∞ i2(τ) dτ

�
IV�4�� �� �3�0� �9��� �8�9�� �8 � ���6 3� �4 � ������ � �� �7 �1� ��8 �3��80 �9 �8�9� ��0 �8 ����

�� ���4�6
�� ������ � �8�9�� 68 �8 9��4 ��� �48� 67 � ����� � �8�9� �� � ���6� � �� �!�� 687 3���8

������
��
 �� ��� ����� ���� 
������ � ��

�4� �4�4��� 4� �� ��6� ��45�� � �� ��7� ��� 69 � �8�9� ����� �5���6 �6 9��� �6�7� �7����
���6 3� �4 �8 �4��6 � �� �0�5 ����� ��6�8 � �� ��7� ��� ���4�6 �6�71 6!9� 68 ���6 3� �4 �8 � �9� ��

�� �6� ��4�5�� �� ��7� ��� 69 � �5 �! 67 �9�4�
�� �5� �4 � �68 7516 ��71 ���4� 6�� �7 � ��4 �0 � �9�� ����� � �1�� ���� 67 � �� �716 ��9�

��8 ��� �!� � �� � �6��� � �� �48 � �� � �� �48� ��6� �D���17 ��5�� ��8 �8�9� ���6 � �71 ��4��6
D� �� �17 � ���5�� �� 67 ����1 � ��75��� � �68� ���� 7 � �� �� ��� � �4�48�� 7��7�6� 6�9� 3�48�6 9�!�6
69 ������ �1� 687 1�44 �

H1, H2
@� �4� �� � �7� ��8�9� ��7 ��4�� 47 1�44 �����8� ����� ��6�8

�8�9�6 �� �48� � �� ����� ����� ���� � �8�9� ��� �1 ���!4 �
( 2.1.1)

����� � �6� ��4�5�� �� ��7� ���
����� � �

H2
��47� �8�9�6 �� �48 � ���� �0 ���!� �

y
��� �8�9�� ���!� �

x
��� �

H1
��4�7���

2���� ����� �0 � �� �1 3��4 �
z

��� ��47� �8�9���

-
yH1 H2-x -z

���� � �8�9� ����1 2��" ����

�� ��7� ��09� �� �� ���6 3� �4 ��� �
z

��� �67 ������
x

��� �487 �0 ��66�8� �8�9�� 69 ��714
���0 � �796 �� �75 �� �7 �46 3�� ������� �� �716 ���8 � �� ��7�� ��� ��� �38 �� ���6� ��4�5��
�� ������ �� �486 ���� �0 �� �7 ���6�7�� ���!�� �� �716 0� � ���54� �8�9� 68 ���56 ����4

��66�8� �8�9�� 67 ���� �4� �4 �4��
���� � ���7� � ����8� ����� �� ��� 6����� ����1

3� �4 ��� �
y1 + y2

��� �67 ����� �7� ��8�� �8�9� ���!4 ��5� �7� �� �48 � �8�9�� ��76 3�8
������� �� �716 ���8 � ����7�� ��� ��� �38 �� ���6� ��4�5�� ����7� ��09� �� �� ���6

�68 ���47 3���8 ��6 ��8 � �8�9� ����1� �6����� �8�9�� �� ���6 3� �4 ���8 ��668 35 ���
��� �� �8��� � �668 ��� �1 �75� �7

6����� ��� �1 � ���� ����1 ���6 6� �0 !�� ��� �8 ���4 �����6��4�� � �8�9� 69
3

��5� ��64 �7�8
� �8�9�8 3�67 !�� ��� �� �716 �� D�� ��� 69 � ��� ���� � �8�9� 6��6 386 68�4 �� �8�9� 67 
� �8 �� �9 �
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-x

-

-

H1

H2 -
y1

-
y2

-
y��
��
+

6����� � �8�9� ��� �1 2��: � ���

��7��� ���47 �58 � �6�!� 7 � �0 �� �76 � ! �� �� �8�9� ����1 67 !�� �� � �9� �� ���56 �8�� �����6��4��
��0 !��� � �8�9� �� �� �1� 6�5 ��6 1 �4� �668 �68 3� �4 


6
@@

5
� ���5 � ���� � �1�� �8�9�� ��� ��
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� ���

���� �� ����� � ����� � � ������ ��� � �����

�
��� �5 ���� �56 � ����6��4�� �� ��61� ����!� 4�� �� ����4�6 @ 6�!� 4� � �4�8� 2�0 � �976 ��01
�� D��1 ���� �56 ��0!4 ���!� �1�� � ��0 39��@@@6�� �
� ��6�71 � �6!9� � � �� �5 �56 � ��6� � ���� 4�5

�� �� ��� � �4�7� �561�� � ���!� �� ���7�7� 668� � ���0! � ���� 4�5
26�!� 4�� ��� � ���!��� ����� �� �48 � �8�9�� � ��94 �0 ��5�

y(t) =

∫ ∞

−∞
K(t, s)x(s) ds .


"�C �� �
@�� 3��4 ���5 ����8 �


kernel
� D3�9�! �� ����4 � �� � ��8�9�� � �!�4�� �� 3���8 �9���

K
����4�5�

� �� ����!�7 �� ���6��4�� �8�9
y(t) =

∫ ∞

−∞
h(t − s)x(s) ds .


"�C �� �
����1� ��8�9�� �� �!�����

h
���� 4�5 3��6 �� �48� � �� 3�� � �� �6��4�� ��� 69 ���!�� ��0 �8�9�

���4�� 9��� 69 38 �� ��014 ����� 67 ��6� � ���4�5 ���4� ����� �68 69 � 497 4 �0 !��� � �8�9� 67
��0 � ���4�56

���� ��
���
 � � �
2�6���� 1�� ���� � �6� ���� 6�� �9 �8�9�� 34��� 4

�3��69� ���6 !��� ��9��
t = 0

9!�� ��5� 1�� ���68 �39�� �66@@@� �� 6��� 67 ��61��� ����
�4� � �8�9�� � �6�71 ���!4�� 68 3�� � ��6���� �� ������ 6���7 3��8 �39� 4 6��� � ����� �� ��1�
6��� 1��

0
9!� ��1� ��5� � �� ��0� � �5� � �� 6��� 69 1���

0
9!� �456 ����� � �!�4��6 � �5��

� ���� 6��� 69 39��� ��47 ��� ���0 7 � �� 3�0 ��5 � �7 3�� ��8 �� �
0

� �7 ��0� �
V

���
Q =

∫ ∞

−∞
i(t) dt = C · V.


"���� �
9!�6 ��5 �5��� � ��� 2� �4�8�� ��7 �� � ��� �7 
��6� �0�5 �6 � �6���� ��0 � ��6 � �� ��0 �4� �8 ��
����� 67 ��6� � ����4�5 ���4� � ��� �� �5� ��� 69 ��� �� �08 � �� ��5�� �4�7 � ��� 69 6�!� 4��� �

0�
δ(t)

��� 3�� ���
��



��6� � ���4�5 � ��6�!� 4�� � �8�9�

��I

V

i(t)

C

��6� � ���4�5 2�71�� 2" �� � ���

�
1

��� �1� �77 �8 ��� ���! �� ��5� ���� ��� ��� �6�5 67 �6���� ���� � �� ��6� � ���4�5
��5� 67 �4�� �����6 ��5 �5��� � �� ��� ��1 � ��� 23� �0 ��� �� 69 � ��7 �1 �7�8 � ���71� � �4�8��

���68
1

��� 66�8� �1� �7 �
∫ ∞

−∞
δ(t) dt = 1.


"���� �
2�8 �0 � ��� 4�5 3��4 ��4�8��6 ���71 �4�� �� ������ �����

-t

6δ(t)

1 6

δ
����4�5 2" �� � ���

��� 69 67�6 ��6�� ����4�5 �� ���6 6����

fs(t) =











1
2ε |t| < ε

��
0

��1�
"���" �

ft(t) =























1
ε2 · (t + ε) −ε ≤ t ≤ 0

1
ε2 · (ε − t) 0 ≤ t ≤ ε

0
��1�


"���: �

fb(t) =
1√
2π ε

e−
1

2(
t
ε )

2

.

"���� �
����� �7 �67�� 76�7� ��� 69 ����� �47� �9� ��� 6! �� � 69 ��6� � ���4�56 ��� �� � �� 3�7��� � ���
� �4�7��� � �� ��� �47 �� �4�8�� ��76 ����� 38� �� 0 � ������ �1� 68� �8 � ���6 6� ��� ��! 3��95
�� 3����6 3� �4� � �5� 67 �4�� �����6 ��5 ��� 3�� �7 �67�� �

0
67 �4�� �����6 ��5 � ��5���
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��668�� � ���� 4�5 � ��6�!� 4�� � �8�9�
1�44 ��8� ��� � �

1
��� � ���� 4�5�� �1� 68 69 6�!� 4��� ����4� �
3��

ε
���1� ��� 69 �4�4���8 ������

� �� ����� �1� 686 �0� �
0

���� �5��� ����4�5 � ��
g
@7

∫ ∞

−∞
f(t)g(t) dt =

∫ ε

−ε
f(t)g(t) dt ≈

∫ ε

−ε
f(t)g(0) dt = g(0)


"���B �
�
f

���!�� ��7 �7 �67��
g

67 � �5���� 66!� �47� �
f

���!�� � �� 3�7��� 3�����7� �7�8
�
g
@� � ! ��

ε
67 6��!� � ��6�

( 3.1.6)
@� ��� ��� � �8��7 3���8

���
�� ����� ������ ���� ��
���
 � ��
686 �8 �6 � �7 4 �� �7�� �� �7 �� �7 �� ���4 ���6� � ���4�5 67 �� �� �� ��9� �4��� 3�0 9 ��7 47 �456

�
g

�5��� ���� 4�5
∫ ∞

−∞
g(t − s)δ(s) ds = g(t) .


"���� �
6�!� 4�� �

s
�4�7�� 67 � ���4�58

g(t−s)
69 � �44���� �4� �7�8 ���6�� ����4�5 ���!�� 9��4 3�����7�

�8�9� ���!� 69 �0 3����7 6�954 ���5� �
g(t)

�� �68 �
s = 0

�7�8
g(t − s)

� ��� 4�5� ��9 �� 386 3� �
6��4�

( 3.0.2)
����6��4��

h(t) =

∫ ∞

−∞
h(t − s)δ(s) ds .


"���� �
�8�9�� ���!� ���

h
� ��� 4�5� 1�8�� �0� �

( 3.0.2)
��� 69 ��� ��� ����6��4�� �8�9� �� ���68

���6� �� �486

������ �� ���
���
 � ��
�4�� � �668�� � ���� 4�5 67 ��668� ��� ���� ����� 67 ��6�� � �� ��1� �668�� D� ���4�5 �� �4���
�� �668�� � ����4�5 �9 � �796 ���� ��� �� �� �� D2�17�� �� �1 ��� 38 � �668 ����� 08�� 4 386 ��� �75
��5� ����1��6� � �� �8� �4�7 � �68� 7��7�6 68�47 �8 �����4�5� !7 �� 67 �668� � ���6 ��74
���!�6 ����4 �� �� �� ��� 69 ��� ���� �8�9�6 �� �488 ��6� �1����6 68�47 ��8 ���6�� 65�6 ���4

��� �� !��� � �� �� � ��9 
� �� �5 � ����� 67 �7��� � �7��� ���4 ���4� ���6� 67 ���0!4
�� ���� 4�5 3�� � ����!6� � �6�95 2� �6�!�� � �4�8�� �� �� ��� � �6�� � �668�� � ���� 4�57 ���47 3���8

� ��8 � �� �6�!� 4��
���
����������� �����
�� � �� � �

6�!� 4��� �
f

����4�5 3� 4�� �� �6�!� 4�� ��� � ����4�5 3��5�6 3� �4 �8 �41��� 6�1� 4
∫ ∞

−∞
f(t)φ(t) dt.(3.3.1)

�3�0� �4�7� 67 {φ} � ���� 4�5 ���� � ��
X

�67 �� �48� � �� �� �1�� �7� � ���4�6 �8�9� ���!�
3� ��� �

f
���� 4�5� 67 3��5 �� �8� 7 � ��66� � ��5��� 668 �� � �9� �� �� �� ��5�� �� �� ���� � �� �� �
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��668�� � ���� 4�5 � ��6�!� 4�� � �8�9�
�1�4 ��� �� �6��!

f
�67�6 ���

[T, S]
@� 3��47 6���� 4�� ���4 �0� ����7 34��

f, g
����� 4�5 ��7 �� ����

2�8
φ

��

φ(t) =











1 T ≤ t ≤ S
��

0
���1�
"�" �� �

6��4 �0 � ��� 4�5 � ��9
∫ ∞

−∞
φ(t)f(t) dt >

∫ ∞

−∞
φ(t)g(t) dt .


"�" �" �
��6�8 � ����4�6 � �8�9� 698 � �668�� � ����4�5 69 ��716 ��� ��8 �� ���0 6�68�6 � �9���� ����
���71 ��!�� �D� ����4�6 � �64���� 4�5 �� � ����� � ��� ������7 �� 67 ���5 ���� �� �6�8 � �8�9�
�64���� 4�5� 67 �6�95� ���68 �6�!� 4�� � ��� �69�5� �����1 ���� 4�5 � �� �08 64���� 4�5 ��8�9�6
�668 !7 �� � ���6 ��8 �

( 3.3.1)
6�!� 4��� ��� ���!��

φ
����4�5 69 69�5 �7� �

f
���� 4�56 ��7��

	���7 67 31 ��� � ����4�5 ���4� ����6 �� �48� � �� �� �1�� �� 6��!4 3�7�� �67� �� ��� 4�5� �� ��
�� �� ��0 �

S
@� �0 ���� 3��6 !��4 �


Laurent Schwartz
��� ������ �7 69 �

Schwartz Test functions�� �4�6 �5 68� �� �� ��� 
6��! |t| �7�8 � � �89�� 3� �� ��0!4� 3� ���4� � ���� 68� � ��0!4 3�6 �7� �����4�5�
� �� ����!�

���� ���� ��� � ����� � �� ���
φ
�� 
� �
�	 ������	 �
 ��� ����	

φ
��������	 ���
 
�	

S
���
	

3.3.1
<&.*<

������
n,m

����� ���

lim
|t|→∞

tnDmφ(t) = 0.

��!��8 � �6�!� 4�� �8 ����� ��7��
ω
@� �6 �67 �6

k
68 ���9

S
@� 3�

tke−t2 , e(−t2−jωt) � ���� 4�5� ��!��6
���� 3� ��� �

f
�� ��9�7� �1 � ����!�

( 3.3.1)
@�

�� ��� � �� ��� �������� ��� �	
f, g

�

3.3.2

<,'>
∫ ∞

−∞
f(t)φ(t) dt =

∫ ∞

−∞
g(t)φ(t) dt

��������� �� ����� ��	� �������
	 ������ 
� ����� �	��� 	� 	���� ���
f(t) = g(t)

��
 ����� ������� ���

���� � ������� ���
�

��� �668�� ����4�5 67 �� ����� ���!��
����	 � ������� �� ����	 ��
��� ��������� 
�	

f (Tempered distribution)
������ 	������

3.3.3
<&.*<

�����
n,m

���� �� ��� ��
� � ��
��	 ���� � ������� �� 	��� 
�	
φk

�
 

�	 �� ��� � ��� 
�	� ������ ��
���� ���

lim
k→∞

sup
t

|tnDmφk(t)| = 0,

"�" �: �



limk→∞ αk = 0

��

φk

��
f

����	� �����	 ����	 
�	
αk

�
�
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��668�� � ���� 4�5 � ��6�!� 4�� � �8�9�
����!� ��� 69 ���!�� ���� 4�5� ���68 �31 ��� � ����4�5 69 ��6�95 ��� 69 ���!��

f
�668�� ���� 4�5

� ��� 4�5 34��7 � ���� 4�56 � ! � �668��� � ����4�5� �6�95 �� ��1�4 �7��� �31 �� � ����4�5 3�7 � �� �486
67 �� �486 3���!� �� ����6 � �5�� ���0 3� � �668�� � ���� 4�5 ��7 �� � ���6 ��87 �8� 9��4 �31 ��

�31 ��� � ���� 4�5
�� �668�� � ����4�5 69 � �� �� � �6�95 3��6 ��8 � ��8 �� � �4�� �� �47� �98 7��74

������
�
φ

��
f

�� 	����	 �
 ���� ����� ������� 
�	
φ
�� ������ 	������ 
�	

f
�


3.3.4
<&.*<

∫ ∞

−∞
f(t)φ(t) dt.

�� ���
f

�� 	����	 ��� �����
f = αf1 +βf2

��� ��	 
��
f1, f2

������� � ������� ��� �������
 ������ �����
∫ ∞

−∞
f(t)φ(t) dt

.
= α

∫ ∞

−∞
f1(t)φ(t) dt + β

∫ ∞

−∞
f2(t)φ(t) dt.

��� �� �����
φ1

���� �������� ���
∫ ∞

−∞
(φ1(t)f(t)) φ(t) dt

.
=

∫ ∞

−∞
f(t) (φ1(t)φ(t)) dt.

�� �����
α, β

�� �� ������ �� �	 ��� ����� � ����� 
��� ������� 
�	 ��� �������� ����� ��� ���	 ����� ��� � ��
∫ ∞

−∞
f(αt + β)φ(t) dt

.
=

1

|α|

∫ ∞

−∞
f(s)φ

(

s − β

α

)

ds.

��� 6�!� 4��� �7�8 �� �� ����� 6�96 � �4����7� 68 �0� � �� ��1 � ���� 4�5 3�
f, f1, f2

�� �8 � ���6 6�
�4�7 ��� � ������ �31 ��� ���� 4�5 67 �6�956 3�� �� �� ��� �0 6�!� 4�� �8 7 �!��6 � �71 �6�!�� 3� ���
� �4�8� ������ 31 ��� � ��� 4�5 �6�95 �� ���!��� ����7 �58 �� �� �� �8� �4�7 � ��1� � �6�!� 4���
9� �4 �����4�6 � �� �668�� ���� 4�5 ���!�� �567 3���8 �� ���6 �1 �4 � �� �0 3�� �� 386� �6�!� 4��6 � �� ��

�8
∫ ∞

−∞
f(t)[αφ1(t) + βφ2(t)] dt = α

∫ ∞

−∞
f(t)φ1(t) dt + β

∫ ∞

−∞
f(t)φ2(t) dt.

3� �� �1� ������ 4�5 67 � �6 �!�� � �6686 �� ���� �668�� ����4�5 67 �� �!�4�� �8 � �� �� �4� � �8 ��6
���!�� �6 � ���6 6�69 � �668�� � ����4�5 3�� 658 �8 �6 � �7 6 7 � �6�!� 4���

������� �����
�� �	 ����
 � �� ��
����6 �� �6 �!�� � ���!� 4��� � ���0!� �668 68 �� ��668�� � ����4�5 69 6�1�6 ��� 3� �4 �� 3���8 � �� 1 �4
�4�47 ���!�6 � ���� �4��7 3���� ��5�� ��6�!� � ���4�5 67 ��0!4� �4�7 3� ��� ��0!4 ���!�6 7 � �8
��0 ���!� �1� �8 ���4 ���5� ��6�!� ��0!4 67 �6�6 � �� �� �0 ��0!4 67 � �� �4�8� �6�� �� D��1 �����
�0� �� �5���� ���0! �
�668�� �6 � �6�!� � ��� 4�5 � ��

f
�� ��5�� ���� � ��61� ����!� 4��� �1� �4

∫ ∞

−∞

d

dt
f(t)φ(t) dt = f(t)φ(t)|∞−∞ −

∫ ∞

−∞
f(t)

d

dt
φ(t) dt


"�" �� �

= −
∫ ∞

−∞
f(t)

d

dt
φ(t) dt


"�" �B �
386 �6 ��! |t| @� �5�6 �5��7

φ(t)
@7 �7 ���� 66!� �
6��! |t| ���9 ��� ��� �6�! �4��

f
@7 ��4�� �
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��668�� � ���� 4�5 � ��6�!� 4�� � �8�9�
��� �� ������ ������ 	������ �� �����

3.3.5
<&.*<

∫ ∞

−∞

d

dt
f(t)φ(t) dt

.
= −

∫ ∞

−∞
f(t)

d

dt
φ(t) dt.(3.3.7)

�
φ1

��� ��������
α

������ � ���� ���� �������	 � �����	 �
 �� ����
( 3.3.7)

�����	
3.3.6

<,'>
d

dt
(f1 + f2) =

d

dt
f1 +

d

dt
f2,


"�" � �
d

dt
(αf) = α

d

dt
f


"�" �A �
d

dt
(f · φ1) = f

d

dt
φ1 + φ1

d

dt
f.


"�" ��C �

387 � ���!��� 9��4 3�7��� 3����7� 2<�%
<
∫ ∞

−∞

d

dt
(f1(t) + f2(t)) φ(t) dt = −

∫ ∞

−∞
(f1(t) + f2(t))

d

dt
φ(t) dt


"�" ��� �

= −
∫ ∞

−∞
f1(t)

d

dt
φ(t) dt −

∫ ∞

−∞
f2(t)

d

dt
φ(t) dt


"�" ��� �

=

∫ ∞

−∞

d

dt
f1(t)φ(t) dt +

∫ ∞

−∞

d

dt
f2(t)φ(t) dt.


"�" ��" �
� ���6 ��� �� �47� 3����7� �18��

∫ ∞

−∞

d

dt
(φ1(t)f(t)) φ(t) dt = −

∫ ∞

−∞
(φ1(t)f(t))

d

dt
φ(t) dt


"�" ��: �

= −
∫ ∞

−∞
f(t)

(

φ1(t)
d

dt
φ(t)

)

dt

"�" ��� �

= −
∫ ∞

−∞
f(t)

(

d

dt
[φ1(t)φ(t)] − φ(t)

d

dt
φ1(t)

)

dt

"�" ��B �

= −
∫ ∞

−∞
f(t)

d

dt
[φ1(t)φ(t)] dt +

∫ ∞

−∞
f(t)

(

φ(t)
d

dt
φ1(t)

)

dt

"�" ��� �

=

∫ ∞

−∞

(

d

dt
f(t)

)

φ1(t)φ(t) dt +

∫ ∞

−∞

(

f(t)
d

dt
φ1(t)

)

φ(t) dt

"�" �� �

=

∫ ∞

−∞

(

φ1(t)
d

dt
f(t) + f(t)

d

dt
φ1(t)

)

φ(t) dt.

"�" ��A �

;( ;/ ;�
67 ��0!4 ��6�!� ���0! ��8 � �� �1 ���� �� � �� ���� � �668�� � ����4�5 67 ���0!� � �6�95 �� �8 ��6
69 �668�� ����4�5 67 � ���!�� �� 6�954 �� ��47 ��� ��668�� ����4�5 ���� � �� �668�� ���� 4�5

�� �4�8�� ������ 67� �4�84 � ��� ������ ��6�!� � ��� 4�5
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��668�� � ���� 4�5 � ��6�!� 4�� � �8�9�
������ � �� ��

��668�� � ���� 4�5 67 �6�95� �� ��1��6 3� �4 �460�6 �� �668�� � ���� 4�5 3��5�6 ��8 �� �7�7�
S�56 �668�� ���� 4�5 686 ������0� � �796 7 � ��0 �31 �� � ���� 4�5 34��7 � ���� 4�5 �9 � �6�!� 4��6 � !

���!�� � ��� �6�95�7 ��8 �
0
@� ��9� �� ���6� ��6�� ����4�5 �6�95 �8 �6 � �7 4 �67�6 �8 �� �� �4�8�

�1� �4� 386 �
0
@� � �5 ���� ���� 7 � ��� ��

∫ ∞

−∞
g(t)δ(t) dt = g(0)

��668�� � ����4�5 67 ���!�� �� ��1��6 3� �4 �� �� ����� �
0
@� �5��� �7�

g
����4�5 686 �5��

��8 �9 ����8 �6�� ������ 4�5 67 �� �� ��1� �157� ���9 � ���7 4 6�!� 4��� � �4�8� 68 � ! �� ��1�
��668��� � ��� 4�5� � �4�8�� ��6� @@@� �1��6 3� �4

2���6 �� �75 ����� � �668�� � ���� 4�5 ���6 �75� ��79�6 2� ����� ��9�
�� ��

N
����

g
	���� 	������ ��� ���

f
������ 	������ ��� 
��� ��	 ����

3.3.7
>-/�

∫ ∞

−∞
f(t)φ(t) dt =

∫ ∞

−∞
g(t)

dNφ(t)

dtN
dt.

67 � ����� 9��4� ������ ���!� �� ��1�4 �7 �����5 � ����� 69 ��5� � �668�� � ���� 4�5 69 ��9
�� �668�� � ��� 4�5

������

� ���� ����
�� � �� ��
�� �� ��0!4 � �!�4�� �� 3��5�4� ����� 67 ��6� � ���4�5 67 �� ���� ���!�6 �98 ��014

�� ����	 ������	 	������	 
�	 	��� �������
3.3.8

<&.*<
∫ ∞

−∞
φ(t)δ(t) dt = φ(0).

��668�� ���� 4�5 �� �0 386� �
��5���� �4�8� �� ����6 6� 38� � ����4�6 �6�95 �0 38� �8 � ���6 6�
�� �68 ��!���� ����4�5 ��

u
@� 3�� 4

u(t) =











1 t > 0,

0 t < 0.

���!�� �4��
t = 0

@� ��9�

3.3.9
<,'>

δ(t) =
du(t)

dt
.
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��668�� � ���� 4�5 � ��6�!� 4�� � �8�9�
��6� ��8 � ���� �69�5 �!���� ����4�5 67 ��0!4� � ��7 �668��� � ��� 4�5� �8 1 �8 ��6 �4�69 2<�%
<

���0!4� ���!� �56 �6�� �31 �� � ��� 4�5 68 69
∫ ∞

−∞
φ(t)

du(t)

dt
dt = −

∫ ∞

−∞

[

d

dt
φ(t)

]

u(t) dt

"�" ��C �

= −
∫ ∞

0

d

dt
φ(t) dt


"�" ��� �

= −φ(∞) + φ(0) = φ(0).

"�" ��� �

;( ;/ ;� ���6�� � ���4�5 �6�95 � ���� �� �0
�� �68 ��6� 67 
� ����� �6 � 6�!� 4�� � �� �!���� ����4�5 �8 � ����6 � ! 6�

∫ t

−∞
δ(s) ds =











0 t < 0

1 t > 0 .


"�" ��" �

�� !���� �� �4���!�6 ����� �
0

���� 4� ��!�� �4�� �0 6�!� 4�� 38� �
231� � ���� 4�5 69 ��6�95 ��� ���!�� ��0!4�

3.3.5
���!� �56 ���6� � ���4�5 67

δ′
��0!4� ���

∫ ∞

−∞
δ′(t)φ(t) dt = −

∫ ∞

−∞
δ(t)

d

dt
φ(t) dt


"�" ��: �

= −φ′(0)

"�" ��� �
��6� � ���4�5 67 ��0!4� ���6� � ��� 4�5 ���!��� �31� � ���4�5 � �� 31� � ��� 4�5 67 ��0!47 3���8

2�8 ����76 !��4� 

doublet

� D�6��� �� ����4

-t

6δ
′(t)

1

−1

6

?

doublet
2
δ′

67 ��0!4 2" �" � ���

��08 ���� 4�5 � ��9 2
0
@� �5��� ��0!4 �69� � ��7

f
���� 4�5 686 ��1��6 3� �4 ��0 �4�8�

∫ ∞

−∞
δ′(t)f(t) dt = −f ′(0) .


"�" ��B �
�0�

0
@� � �5��� � ��0!4

n
�69� ����4�5 � ��

f
�� ��� �� �����

∫ ∞

−∞
f(t)δ(n)(t) dt = −

∫ ∞

−∞
f (1)(t)δ(n−1)(t) dt


"�" ��� �

= (−1)nf (n)(0) .

"�" �� �
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��668�� � ���� 4�5 � ��6�!� 4�� � �8�9�

�0 �� 4� �1� �
0

���� 4� �5���
f
@7 ��4�� ���!��

f
�6�!� � ��� 4�5� ��6� � ���� 4�5 67 �658��

∫ ∞

−∞
(δ(t)f(t))φ(t) dt =

∫ ∞

−∞
δ(t)(f(t)φ(t)) dt = f(0)φ(0) =

∫ ∞

−∞
(f(0)δ(t))φ(t) dt


"�" ��A �
�� ��7 3� � �� �668�� � ����4�5 �� 3����7� ���� �47 2

f(t)δ(t) = f(0)δ(t)
386�

�
f(t)δ′(t)

��� �714 �� �� �����
∫ ∞

−∞
(f(t)δ′(t))φ(t) dt =

∫ ∞

−∞
δ′(t)(f(t)φ(t)) dt


"�" �"C �

= −
∫ ∞

−∞
δ(t)

d

dt
(f(t)φ(t)) dt


"�" �" � �

= −
∫ ∞

−∞
δ(t)f(t)

d

dt
φ(t) dt −

∫ ∞

−∞
δ(t)φ(t)

d

dt
f(t) dt


"�" �" � �

= −f(0)

∫ ∞

−∞
δ(t)

d

dt
φ(t) dt − f ′(0)

∫ ∞

−∞
δ(t)φ(t) dt


"�" �"" �

= f(0)

∫ ∞

−∞

d

dt
δ(t)φ(t) dt − f ′(0)

∫ ∞

−∞
δ(t)φ(t) dt


"�" �": �
�
f(t)δ′(t) = f(0)δ′(t) − f ′(0)δ(t)

3�8� �
�8 � ����6 3� �4 �� �� �����

f(t)δ(n)(t) =
n
∑

k=0

(−1)k
(

n

k

)

f (k)(0)δ(n−k)(t) .

"�" �"� �

3� � 3����7� 67 6��7 �� 38� �
∫ ∞

−∞
f(t)δ(n)(t)φ(t) dt = (−1)n

dn

dtn
(f(t)φ(t))

∣

∣

∣

∣

t=0


"�" �"B �

=(−1)n
n
∑

k=0

(

n

k

)

f (k)(0)φ(n−k)(0)

"�" �"� �

21 �8 ��6 �4�697 3����7� 67 3�� � �� �47 ��� �

∫ ∞

−∞

(

n
∑

k=0

(−1)k
(

n

k

)

f (k)(0)δ(n−k)(t)

)

φ(t) dt


"�" �" �

=
n
∑

k=0

(

(−1)k
(

n

k

)

f (k)(0)

∫ ∞

−∞
δ(n−k)(t)φ(t) dt

)
"�" �"A �

=(−1)n
n
∑

k=0

(

n

k

)

f (k)(0)φ(n−k)(0)

"�" �:C �

�� ���7 � 4�� � ���� ��� �
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3�9�! � �8�9� � ��6�!� 4�� � �8�9�


n ≤ 3

����
sin(t)δ(n)(t)

�����	 �
 ����
3.3.10

<�*
.
sin(t)δ(t) = sin(0)δ(t) = 0


"�" �: � �
sin(t)δ′(t) = sin(0)δ′(t) − cos(0)δ(t)


"�" �: � �
= −δ(t)


"�" �:" �
sin(t)δ(2)(t) = sin(0)δ(2)(t) − sin(1)(0)δ(1)(t) + sin(2)(0)δ(t)


"�" �:: �
= 0 − cos(0)δ(1)(t) − sin(0)δ(t)


"�" �:� �
= −δ′(t)


"�" �:B �
sin(t)δ(3)(t) = sin(0)δ(3)(t) − 3 sin(1)(0)δ(2)(t) + 3 sin(2)(0)δ(1)(t) − sin(3)(0)δ(t)


"�" �:� �
= 0 − 3 cos(0)δ(2)(t) − 3 sin(0)δ(1)(t) + cos(0)δ(t)


"�" �: �
= −δ(2)(t) + δ(t) .


"�" �:A �

����� ������ � ��
���48� � �6�!�� � ����6 �4� �4 � ���4�6 � ��7 � ��� 3� 0� �� ��� �� �48 �8�9� 68 ��7��� ���47 �58

���� ������ ���6�!� 4�� �8�9�8 
3�8 ���94 �6 3� �69 � �6�
y(t) =

∫ ∞

−∞
K(t, s)x(s) ds .


"�: �� �
��� ��8�9�� 3�9�! ����4 �� ��7�� � �4�7� �47 67 
��8��� �� � � �7�� ���� 4�5 � ��7 �

K
����4�5�

� ������ �� � �6�� ��1��6 3� �47 � ���6 ���6�
SISO

�8�9�� � ��94 ��668�� ���� 4�5 � ���6 �6�8 �
�
MIMO

�8�9�6

� ��
��� 	
����	���� ����� ����� ��
��

( 3.4.1)
��� �� ��
���	 ����� ��

3.4.1
>-/�

@7�� ��� ��!��� ��� ��� � �� � ���� �� �48 � �� 6867 3���8 ����� �� �48 ��5 �� � �� �8�9�� 2<�%
<
�0� �

α, β, x1, x2
� �� �� � � �9 ��� �98 �1�4 �

( 3.4.1)
�� ��

y(t) = Φ[αx1 + βx2](t)

"�: �� �

=

∫ ∞

−∞
K(t, s)(αx1(t) + βx2(t)) dt


"�: �" �

=

∫ ∞

−∞
K(t, s)αx1(t) dt +

∫ ∞

−∞
K(t, s)βx2(t) dt


"�: �: �

= αΦ[x1](t) + βΦ[x2](t)

"�: �� �

;( ;/ ;� �6�!� 4�� � �4�8�� 9��4 �7 �67� 3����7� �7�8
��768 � ���4�6 �� ��� �� �48 �8�9� �1�4 ��8�9� 68 
�9�8 � ����� �668 !�� �� ��07 � ����6 ��8

��� 69
K

���� 4�5 ���!4 �
Φ

��5� ��� 69 ���!���
K(t, τ)

.
= Φ[δ(· − τ)](t) = Φ[σ−τδ](t) .
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3�9�! � �8�9� � ��6�!� 4�� � �8�9�
� ���4�5 �9 6�!� 4�� ��� 69 �� �48� �� !���4 �

τ
3� 0� 695 �7� �6� �� �486

t
9!�� �8�9�� ���!� �� �0



3.6

��5 ��� � ��6�

x(t) =

∫ ∞

−∞
x(τ)δ(t − τ) dτ .


"�: �� �
� ����� {fi(τ)} �����4�5 � {xi} � �9 ��� ���� 686 �����4�6 � �� �8�9��7 3���8

Φ

[

∑

i

xifi

]

(t) =
∑

i

xiΦ[fi](t) .

"�: � �

���� ����� 6��4 �
3� �� 6!�� 4��� �804 � � �8� 67 !�� ��� 6�!� 4��7 3���8

y(t) = Φ[x](t)

"�: �A �

= Φ

[
∫ ∞

−∞
x(τ)δ(· − τ) dτ

]

(t)

"�: ��C �

=

∫ ∞

−∞
x(τ)Φ[δ(· − τ)](t) dτ


"�: ��� �

=

∫ ∞

−∞
x(τ)K(t, τ) dτ .


"�: ��� �
�3�9�! �8�9�8 �8�9�� 67 !�� �� �46� ��

� ����4�6� �4�8� �� �7�� ��6�58 � �� � �!������ ���� � D�57� �� �4�� �0 ��7 �17 ����� 2� ����� ��9�
�668�� � ��� 4�5 ��0 �� �4��!� �6 �� �47 �� �6�!� 4��6 �6� ��5 �� � ��� �1� �5�� �9 � �� �8�6 ���!��
� �8�9� �� 3� �6�� �3�9�! � �8�9�8 3!� ��6 3� �4 �6 �7� � ����4�6 � �8�9� 347 � �38� � �� �4�7� �47 67

D�� ��!�6 ��5
�3��80 �9 � ���4�6 � ��4�� �8�9� � �� 3�9�! �8�9� ���� ��� ��6 ��5


������ ���� 	��

K(t, s) = k(t)δ(t − s)

����� �� �����	 �� 	
�	
3.4.2

()*&$

t
��� �
 ��� �
 ������ 
�	

K
����� �� �����

3.4.3
>-/�

∫ ∞

t+
|K(t, s)| ds = 0 .


"�: ��" �

� ��� � �� ���� ����� ���
 ��� �

s > t
���

K(t, s) = 0
�� 
�	 �
��	 � �����

�0� � ����� ��4�� �� 2<�%
<

y(t) =

∫ ∞

−∞
K(t, s)x(s) ds =

∫ t+

−∞
K(t, s)x(s) ds


"�: ��: �

t < T
� �� ��� �0� � ����� �4�� ��4�� �� �47 ��� ���6�

s ≤ t
���9 � ��

x(s)
�8�9� � �6�� 386�

� ����� ��7
[T, S]

@� 3��4 �7� 6���� 4�� �
∫ S

T
K(t, s) ds = α 6= 0 .


"�: ��� �
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����6��4�� � �8�9� � ��6�!� 4�� � �8�9�
�� �48 � �� �1�4

x(s) =











α T ≤ s ≤ S

0
���1�
"�: ��B �

���
t
9!�� ���!�� ��9

y(t) =

∫ ∞

−∞
K(t, s)x(s) ds =

∫ S

T
K(t, s)αds = α2 .


"�: ��� �
;( ;/ ;� �� ����� �4�� �8�9�� 386� ����9� �� �48� �8�9� ���6� ���!��

� �� ��� 686 �� �!� �� �� 3� �4
K(t, s) = 1

3�9�!� 67�6 �36 �8 �6 �� ���8�5� 3�7 3�9�! � �8�9� 7 �
��8�5� �4�� 386� �6�!� 4�� �� �� ��6 7 � �7�

��� � �9�� �
t

3� 0� �7��5�� � �6�� 67� �3� 0� �9��� �4�� 3�9�! �8�9� �8 � �� �� ��� 4�� ����
�3�0� �9��� ��� 3�9�! �8�9� ��� ���4

��
�� ����� ������ � ��
��� 69 ���!�� ��� �6��4�� �8�9�

y(t) =

∫ ∞

−∞
h(t − s)x(s) ds .


"���� �
�8 9��4

3.4.3
�57�� �� ���4�6 �� ��� �� �48 �8�9� �� �0 386� �3�9�! �8�9� 67 ���5 ���� 3���8 ��0

����� �8 �6 � �7 4 �
�57�� ����� ��� �
t < 0

686
h(t) = 0

@7 � �� � ������6 �1�8� � � �5�� ��4�
38� �8�9�� �

y = h ∗ x = x
�0 ����� 38� � 2� ����� � ��

h = δ
����9 �8�9� �8 6���� ��� 4�6

�� �����

�� �� 	� ��� ���
��� 	
����	���� ����� ����� ��
��

( 3.5.1)
��� �� ��
���	 ����� ��

3.5.1
>-/�

���!�� �56 � ���4 �3� 0� � �9 ��� 1�8��6 �� ���� 7 � 2<�%
<
στy(t) = στ

[
∫ ∞

−∞
h(t − s)x(s) ds

]
"���� �

= στ

[
∫ ∞

−∞
h(s)x(t − s) ds

]
"���" �

=

∫ ∞

−∞
h(s)στx(t − s) ds


"���: �

= Φ[στx](t)

"���� �

;( ;/ ;� �
σ

67 ���!��� �7 �67�� 

3.6

��5 ��� � � ���6��4��� � �4�8�� 9��4 �47� 3����7� �7�8
2� �� �6��4�� �8�9� 1�8�� � �� 3� 0� �9��� 3�9�! �8�9� ��47 ���

�
x

��� ��
 

h(t)

.
= K(t, 0)

����� 
�� �� 	� ��� ����� �� �����
K

�	�
3.5.2

>-/�
∫ ∞

−∞
K(t, s)x(s) ds =

∫ ∞

−∞
h(t − s)x(s) ds .


"���B �
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����6��4�� � ��6�!� 4�� � �8�9�
����!��� 2<�%
<

Φ
[

σ−τδ
]

(t) =

∫ ∞

−∞
K(t, s)δ(s − τ) ds = K(t, τ) .


"���� �
�8 9��4 3� 0� � �9 �����

Φ
[

σ−τδ
]

(t) = σ−τΦ [δ] (t)

"��� �

= σ−τ

∫ ∞

−∞
K(t, s)δ(s) ds


"���A �

= σ−τK(t, 0)

"����C �

= K(t − τ, 0) .

"����� �

;( ;/ ;� �18�� �57���
K(t, τ) = K(t − τ, 0)

�8 9��4 � �� ��7�� ��7�
�3���� �� �1�4 386� ������� ��09� �0 �7 �4 1�46 � �� � 1 �4 2�8�5� � �� ����6��4�� �8�9� 68 �6
�� �� �4�8� � � �� �6��4��� �6�95 67 ���9�� ��016 3� 0 7 ��� 4 ��46 � �� �71 3� ��� �6��4�� � �8�9�7 3���8

���
�� ����� � ��

�� ������ �������� ��� ��� 	�� ������� �����
3.6.1

<&.*<

(f ∗ g)(t)
.
=

∫ ∞

−∞
f(τ)g(t − τ) dτ.

�� ���� � �4�8�� � ���6��4��� �6�956
�� �68 �
��71 �4�� � �4�7�� ��� � ���� ��� �� ��

f ∗ g = g ∗ f .

"�B �� �

τ ′ = t − τ
� �4�7� �561� ��09� ����!�� �� � �7�4 2�18��

(f ∗ g)(t)
.
=

∫ ∞

−∞
f(τ)g(t − τ) dτ


"�B �� �

=

∫ −∞

∞
f(t − τ ′)g(τ ′) d(−τ ′)


"�B �" �

=

∫ ∞

−∞
f(t − τ ′)g(τ ′) dτ ′
"�B �: �

.
= (g ∗ f)(t) .


"�B �� �
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����6��4�� � ��6�!� 4�� � �8�9�
2 
� ��� �6��4�� ��7�7� � ���!��� � �� �� �� �68 � ���� ��������

(f ∗ g) ∗ h = f ∗ (g ∗ h) .

"�B �B �

2� �4�7� �561�� 6�!�� � �� �18���

(f ∗ g)(t) =

∫ ∞

−∞
f(t − τ)g(τ) dτ


"�B �� �

((f ∗ g) ∗ h)(t) =

∫ ∞

−∞

∫ ∞

−∞
f(t − τ − s)g(τ)h(s) dτ ds


"�B � �

(g ∗ h)(τ ′) =

∫ ∞

−∞
g(τ ′ − s)h(s) ds


"�B �A �

(f ∗ (g ∗ h))(t) =

∫ ∞

−∞

∫ ∞

−∞
g(τ ′ − s)h(s)f(t − τ ′) dτ ′ ds .


"�B ��C �

�
dτ ′ = dτ

�0 �561�� �8 �6 � �7 4 � � ���� ��� �� ��7� �
τ ′ = τ+s

� �4�7� �561�� �98 �6���� ������
�8 ��� 9��4 6�!� 4��� � �4�8�� 2� ���4�6 �6�95 ��� ��� �6��4��

f ∗ (αg + βh) = αf ∗ g + βf ∗ h .

"�B ��� �

698
t

68 ���9
g(t − τ)

69 � �716 3� �4 387 ���668�� � ���� 4�56 � ! �0 ���!� 6�95�6 3� �4 �8 ����
6��6� � ��!�6 3� �4 �0�

t
���� 4� �5���

g(t)
�� ���6�

τ
�4�7�� 67 ����4�5

(δ ∗ g)(t) =

∫ ∞

−∞
δ(τ)g(t − τ) dτ = g(t).

���
g

�7�8 � ! �4�84 �0 � ��0 �� �5��� ���� 4 68�
g

����4�5 686
(δ ∗ g)(t) = g(t)

�8 �8 �� �4����
�� � ����4� �71�4 �6 386 �� �668�� � ����4�5 3�� 3����7 67 3���� ��� 3����7� �7�8 ��668�� ���� 4�5
69 �

φ
31 �� � ���4�5 6�� 6�!� 4��� ���� �� ����4 ��0 � ����6 ��8 �

δ ∗ g = g
�8 ���4 �6� � �5����

��6� � ���4�5 � �4�8�� 7 �� �7 �
s = t − τ

�7�8
s

�4�7��
t
�4�7�� �561� ���

∫ ∞

−∞
(δ ∗ g)(t)φ(t) dt =

∫ ∞

−∞

∫ ∞

−∞
δ(τ)g(t − τ)φ(t) dτ dt


"�B ��� �

=

∫ ∞

−∞

∫ ∞

−∞
δ(τ)g(s)φ(s + τ) dτ ds


"�B ��" �

=

∫ ∞

−∞
g(s)φ(s) ds


"�B ��: �
�
δ ∗ g = g

�8 �46�� 38��
�00� 2� �� �6��4��� 67 ��5� �4 � �4�8�

(f ∗ σ−τδ)(t)
.
=

∫ ∞

−∞
f(t − s)δ(s − τ) ds


"�B ��� �

= f(t − τ)

"�B ��B �
���6 3� �47 � �� � �9�7�� ��668�� ����4�5 67 3�0� �00� ���!� � ��6� � ���4�5 � �4�8�6 �����

�
σ−τf = f ∗ σ−τ δ

2� �� �6��4�� ��09� �00�
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����6��4�� � ��6�!� 4�� � �8�9�
2���� ����� �����6��4�� ��09� ���0! !� ��6 3� �4

f ′(t) = (f ∗ δ′)(t) .

"�B ��� �

2�18��

(f ∗ δ′)(t)
.
=

∫ ∞

−∞
f(t − τ)δ′(τ) dτ


"�B �� �

= −
∫ ∞

−∞

d

dτ
f(t − τ)δ(τ) dτ


"�B ��A �

=

∫ ∞

−∞

d

dt
f(t − τ)δ(τ) dτ


"�B ��C �

= f ′(t) .

"�B ��� �

�� �� �668 35 ��� �
f ′(t) = Df(t) = (f ∗ δ′)(t)

!�� ��� �� �46��

f (n)(t) = Dnf(t) = (f ∗ δ(n))(t) .

"�B ��� �

���71� ������ �� 3� �4 ��6� 67 ��0!4� ��6� �00� �9 ��� �6��4�� ��� ���0!� 3� 0 � 00� 67 !�� ���
�����

�� ��� 
�� �� 	��	 ��� 	���� �� ������ 	�� �������	 �����
3.6.2

>-/�

(σθf) ∗ g = σθ(f ∗ g) = f ∗ σθg ,

"�B ��" �

(Df) ∗ g = D(f ∗ g) = f ∗ (Dg) .

"�B ��: �

�� ��� ��� �� 	��	 �� ������ 	���� �� ����

D(σθf) = σθ(Df) .

"�B ��� �

�����6��4��� 67 � ��� ��� ������� �4����7 � �!�� ���� 2<�%
<

(σθf) ∗ g = ((σθδ) ∗ f) ∗ g

"�B ��B �

= (σθδ) ∗ (f ∗ g)

"�B ��� �

= f ∗ ((σθδ) ∗ g) .

"�B �� �
�8 9��4 ��6� �9 ��� �6��4�� ��� 69 �00� 67 !�� ��� 386 �� ��� ��� �� ��� �47��7� 3��1�� 3����7� �7�8

���0! � ��9 ���� ����� �� �� �6��4�� �9 �561�� 3�0� �00�

(Df) ∗ g = ((Dδ) ∗ f) ∗ g

"�B ��A �

= (Dδ) ∗ (f ∗ g)

"�B �"C �

= f ∗ (Dδ) ∗ g .

"�B �" � �
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����6��4�� � ��6�!� 4�� � �8�9�
���4� ��57�� � ���� ��6 � ���7 3��1��� �47� �����

D(σθf) = (Dδ) ∗ ((σθδ) ∗ f) = (σθδ) ∗ ((Dδ) ∗ f) = σθ(Df) .

"�B �" � �

;( ;/ ;�
���5��� ������ � �4�0 �6� ���9 �9�6 � �� �96 ��71 ���7 � ����� � ��� �6��4�� �716 ��8

�� ��� ���� ������
� � ��� ����
��	 � �� �
 ��� �	
f, g

�� ����
3.6.3

>-/�

f(t) = 0 for t 6∈ [a, b],

"�B �"" �

g(t) = 0 for t 6∈ [c, d] .

"�B �": �

��


(f ∗ g)(t) = 0 for t 6∈ [a + c, b + d] .

"�B �"� �

�714 2<�%
<

(f ∗ g)(t)
.
=

∫ ∞

−∞
f(s)g(t − s) ds .


"�B �"B �
��� �6�!� 4��6 �� ��� 3�� 386�

f(s) = 0
�0�

s < a
�� �

s
67 � �1� 68� ���� �� � ���4

t < a + c
��

6��!� ��!6 �18��� �6�!� 4��6 �� ��� 3�� � �7 �
g(t− s) = 0

0� �
t− s < a+ c− a < c

�0�
s > a

�� �47
;( ;/ ;� ���0 3��69�

��� ����
�� ������� � ��� � �� � �
�8�9�8 �� �� !���6 3� �4 386 �3�0� �9��� � � ���4�6 �8�9� � �� � ��61�� �1�4�� �D�� �8 �4���
3���5� ��7 �1 ��� 69 �� �� ��6� 3�0�� ��� 69 2� �� �7 �5��� �716 3� �4 �6�� ���!� �� �� �� �6��4��

�6�!��� ���9�� �6� � �� �7 ��4!�� ���

����
���
��� ���� ��
�� ����� ����� ����� � ��

�� �48� �� ����68 �
�D�6 � 3� 0� � �9��� � ����4�6 � �8�9� 67 �����9 � �� D � �� �6� ��44�5��� � ��
�� ��� � �� � �� � ! ���!�� �0� �
�8��� �5�� � ��

s
�7�8 �

x(t) = est ������ � �� � �� �D�6 �8�9�6
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��8�9� ��� �1 � ��6�!� 4�� � �8�9�
38� 3 �

H(s)
�8��� 9��� ���9

H(s)est ���� ���!�� �� �68 �����

y(t) =

∫ ∞

−∞
x(t − τ)h(τ) dτ


"�� �� �

=

∫ ∞

−∞
es(t−τ)h(τ) dτ


"�� �� �

=

∫ ∞

−∞
este−sτh(τ) dτ


"�� �" �

= est

∫ ∞

−∞
e−sτh(τ) dτ


"�� �: �

= estH(s).

"�� �� �
��6� �0 9��� ��� �48� � �� 6�58 
3� 0� ��6� �4��7 6��! �� �68 � 9��� � �� ���!�� �8 �����6 �49!� ��7 �

�69�6 ��7 �1��� �
s

����5�

H(s) =

∫ ∞

−∞
e−sτh(τ) dτ .


"�� �B �
�
6

��5� � ���5� ��69 ��64� ��8�9�� 67 ������� � ���4�5 ���4 �0 6��!

������ ����	 � ��
23�9�! � �8�9� ��7 ���� � ���1� �4�7 �6�1� 1�44 �� �8�9� ��� �1� 3��6 �98 ��014

-
yH1 H2-x -z

���� � �8�9� ����1 2"�: ����

����� ����� � ��1� �4� ��0 ���6 68�4 3�9�! � �8�9�� �����7 3���8

y(s) =

∫ ∞

−∞
K1(s, u)x(u) du


"� �� �

z(t) =

∫ ∞

−∞
K2(t, s)y(s) ds


"� �� �
386�

z(t) =

∫ ∞

−∞

∫ ∞

−∞
(K2(t, s) [K1(s, u)x(u)]) du ds


"� �" �

=

∫ ∞

−∞

(
∫ ∞

−∞
K1(t, s)K2(s, u) ds

)

x(u) du

"� �: �

=

∫ ∞

−∞
K(t, u)x(u) du


"� �� �

Version 1.1
: �

September 2006



��8�9� ��� �1 � ��6�!� 4�� � �8�9�
��� 69 3�� 4 �66�8� �8�9�� 67 3�9�!� �7�8

K(t, u) =

∫ ∞

−∞
K1(t, s)K2(s, u) ds .


"� �B �
6��4 � �� �6��4�� � �8�9� ���9

z(t) = (x ∗ h1 ∗ h2)(t)

"� �� �

= (x ∗ (h1 ∗ h2))(t)

"� � �

�3�9�! � �8�9�6 � ������ ��� � ���7 � �� �3�8� �

z(t) = (h ∗ x)(t)

"� �A �

h = h1 ∗ h2 .

"� ��C �

����� ���71� ������ �� � ���6 3� �4
3.6.2

�57�@@@� �� �6��4��� � �4�8��� 3�8�

�	 	����	 ������ 	����	 �	�� ������� ����� �
�� �� �� ��
 � �� �� 	� ��� ���
��� ������

3.8.1
>-/�

�� ��� �	����� 	����	 �����

Φ[Dx] = DΦ[x] .

"� ��� �
����� ��� �	�	�	 	��	�� ����� � �	��� ���� 	���� 	� �	�� ����� ���� ����� ���	� ��� �� ���� ���
�


	� ��� � 	���� ��� ���	 �
 	��� ���
 ���� � �����	 ����

3�9�! �8�9�� �� ���6 �� �48 3�� �7�� ����1� ���9 ��� �� � �75 � �� � �8�9� ��7 67 6����� ����1

-x

-

-

H1

H2 -
y1

-
y2

-
y��
��
+

6����� � �8�9� ��� �1 2"�� � ���

��� 69 �� ���
y(t) = y1(t) + y2(t)


"� ��� �
=

∫ ∞

−∞
K1(t, s)x(s) ds +

∫ ∞

−∞
K2(t, s)x(s) ds


"� ��" �

=

∫ ∞

−∞
(K1(t, s) + K2(t, s)) x(s) ds


"� ��: �
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��8�9� ��� �1 � ��6�!� 4�� � �8�9�
386�

y(t) =

∫ ∞

−∞
K(t, s)x(s) ds


"� ��� �

K(t, s) = K1(t, s) + K2(t, s) .

"� ��B �

6��4 � �� �6��4�� �8�9� ���9

y(t) = (h ∗ x)(t)

"� ��� �

h = h1 + h2 .

"� �� �

����� 1�46 3� �47 ���� �� �8�9� ����16 ���7� 3� �4 3�9�! ��� 69 � �8�9� ��� ��7 ���4 ��8 ��
����1 � �� � �8�9�� ����� � ��� ���� � �� �� �1� �1� �6�� ��� �� � ��8��� � �� �� �1 � ! 
��� �75� � ����

2� �7�

-��
��
+

x

6

�

-

H1

H2 -
y

� ?

� �7� ����1 2"�B ����

���9 ��8 � �� �7 3� ��� 7 �� �7 � �� �����6��4�� � �8�9� ��7� ��8���� ��08 �8�9� 1�46 3��� 4
�1� �46 6�� �� �6����� �� ���� ����1

y = (x + y ∗ h1) ∗ h2

"� ��A �
�7��� �

x
@� �67 � �6�� �� ���6�

y
�� �4�� 	616 3� �4 ���8 ���� �6 �7� ������ �1� �4 � ��7

��08 �8�9� 1�46 6� ����� � �� �7 ��09� �8 ���4
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� ���

� ���� �

� �� 4� 2� D��� �� �� �45 �658� �����4 ����4�6 �1�� 2���!6�� � �!7 �� 2�0 � �97 ����6 ��01
��4!�� ��� 3���5� � ������6� � �� 48��6

35 ��� �� �� �� ����9 66�8 ����� 68� ��� � ���71 69�� ���8�9�� ����6 �08�� � �� � ���� �� �7 �4
� ��!�6 ��8 ��4�� ���!�6 � �6 �� �� 3�� �1� ��� �9 �� �� �48 �7� �08 � �� ����� �8�9� ��� �� �� �� 4��

�� �� 67 6��!6 ��� � � �� �� ��1�� ���!�6 �4�69 �3�� � �� ���

����� ��	�� � � �
�����4 �� ��9 ���!�� �7� ���4�6 �1�� � ��

Normed Space
����4 �1��


���
� ����
ax + by

��
	
a, b

��� ����
x, y

��� �
 ��� ��� �
 ��
��� ���� 
��� � �� �
 ���

4.1.1

<&.*<

���
�

x
���

x + 0 = x
�����	 ���
	 �	� �0

�� �� ��� ���
� ��
	 ���

���
�	 ������	 �
 �� ����	 	������ 
�	 ||x|| 	����



x = 0

�
 ��� �
 ������ �������� ||x|| ≥ 0

�

�||x + y|| ≤ ||x|| + ||y|| ������	 ������ �
 
�


||αx| = |α| · ||x|| ������	 ������
α

����� ���� ��� 
�

�
y
@�

x
3�� �1��� 6�8 ||x − y|| 6��!6 �1����6 � ��75�� �6� � �4�8�

���� 7��74 �4� ���768 ��7 ���� �� D� �9 ��� D� �7�8 ���4�6 �1�� ���!�6 3� �4 2� ����� ��9�
���6� � ��7�� � ��5�� ��7 � �9 ���6 6��!4 � �� �96� �� ��8 ��� � ��5��� 668

2 
3�8 ��0 1 �8 �4 �6 � �����4 �� � ���� � �6�!�
��� Lp

����� �����
p ≥ 1

�� ���� � �� ������ �
 ������ � �������� ����
4.1.2

<&.*<

||x||p .
=

(
∫ ∞

−∞
|x(t)|p dt

)
1

p

,

: ���� �

::



�� �486 � ���� � � �� �� �
����� �������� 	����

x
�
�

||x||∞ .
= sup

t
{|x(t)|} .


: ���� �
�� ��� �� ���� 	� �
��	 	����	 ����� � �������	 ���
� �����

Lp
�� �������	 ���
 � ����	

Lp = {x : ||x||p < ∞} .

: ���" �

��09� �� �� ���47 �8 ��� 69 67�6 ��� �� � �668 � ��� 4�56 � ! ||x||∞ 67 ���!�� �� ��1��6 3� �4
�3�9� ���6 � �5��� � ���� 4�5

� ��� �� ��9 �� ��� 3��� �5��� � �� ||x||∞ ����� ��� ||x||∞ 67 �� �� ��67 ���!� 2� ����� ��9�
2� ���� � �4�8�� ��7 � �� �����7 �8

A
� �4� 0 �� ��

|x(t)| ≤ ||x||∞ t 6∈ A
68 ���9

∫ ∞

−∞
1{t∈A} dt = 0 .

�6 � �7 4 �� �4� 0 67 D�4�� D ����� �9�6 �
x

67 � �� ����� 38� ��0 �� �68 �
!�6 6�!� 4� � �� 6�!� 4�� �
�� 4�7� �6 ����4� ������ ����4�

x
67 ��9� �� �47 4 �� ��0 ���!� �56 �8

�� �� ��1� � �� ��� ���� � ��
L∞

�1��� ���5� �����4 �9 ���4�6 �1�� � ��
Lp

�1���
p ≥ 1

686
��!�4� � �69� � ����4�5� ���� ���

L2
�1��� ��61�� � ��6 ���!� 4��� 
�����4�5 � ��� ��� ���� � ��

L1��� �45 �658� ���!�6 3� �4 
�
p = 2

���9 ��� � �� ��9 � ���5��

〈x, y〉 .
=

∫ ∞

−∞
x(t)y∗(t) dt


: ���: �
�〈x, x〉 = ||x||22

��� � �� �45� �658�6 ���7� ����4� �
y

67 �8���� ����� � ��
y∗

�7�8

����	 �� �
������	 �� ��� ����
� � ��
��� ��1 �4��7 �� ���6 � ��� �� ��1 �� �487 38� � �� �9�6 ��71 ������ �� �48 ��5�� � �8�9� ���9

�

BIBO: bounded input bounded output

�� ��� 	���� �
���
Φ

	
��� 	���� ����� �����
4.2.1

<&.*<

||Φ(x)||∞ < ∞ ���� ||x||∞ < ∞ �
 �� ��� 
	� ��� ���� 
�	 	� ��� 	����� �����	 �����

�� ���!�� ��8 �� ���� � �� ���6 � �68 ��847 �456
�BIBO

������ �	 � �
�	 ������	 �� ��
�� �� 	���		�
4.2.2

<�*
.

Φ1(x)(t) = cos(x(t))

: ���� �

Φ2(x)(t) = x(t − 1) · x(t + 3).

: ���� �
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�� �486 � ���� � � �� �� �
�BIBO

�� ��� ������ ���
 � �
�	 � �����	 �
� �� ���

Φ3(x)(t) =











1 x(t) = 0

1
x(t) x(t) 6= 0 .


: ���" �

Φ4(x)(t) =

∫ t

−∞
x(s) ds


: ���: �

Φ5(x)(t) =
d

dt
x(t).


: ���� �
��


Φ3
�� ����� �� ����� ���
 ���
 � ����� ��
� ��
�� ���

x(t) =











1 t ≤ 1

1
t t > 1.


: ���B �

������ �
 �� ��� ��
 
�	�
x(t) = sin(t2)

��
	 �
 �����
Φ5

�� ����� 

x(t) ≡ 1

����	 ��
	 �
 �����
Φ4

���

	� ��� 	��


2t · cos(t2)
�� �� �� �� �����6 �� �7 7 � � �� �6��4�� � �8�9�6

�
 ��� �

BIBO

	���� ����� 
�	 ������ 
� � �
 
�	� �
h

��	 ����� �� 	�� ������� �����
Φ 4.2.3

>-/�
∫ ∞

−∞
|h(t)| dt < ∞ .


: ���� �

||Φ[x]||∞ ≤ ||h||1 · ||x||∞ ��
 ������ �
��	 �
 


L1
�� �
���

h
�
 ��� �
 �� ���

��� ��1 ��6� ���!�� �8 � ����6 �4�69 ���768 � ��1 � ��
x

�� � �
L1

@6 �8��7
h

�8 �6�1� 1�44 2<�%
<
38� �

|y(t)| =

∣

∣

∣

∣

∫ ∞

−∞
h(τ)x(t − τ) dτ

∣

∣

∣

∣


: ��� �

≤
∫ ∞

−∞
|h(τ)x(t − τ)| dτ


: ���A �

≤
∫ ∞

−∞
|h(τ)| sup

s
|x(s)| dτ


: ����C �

= ||h||1 · ||x||∞ .

: ����� �

�� 49��7 3��1�� 3����7� �� � ����� 38� � ����� ��4��� ||y||∞ ≤ ||h||1 · ||x||∞ 386
�� �68 �� ����� �4�� ��4��7 1�44 �47� 3���8� �� 1�8��6 ��8
∫ ∞

−∞
|h(t)| dt = ∞
: ����� �
���!4 �||Φ(x)||∞ = ∞ @7 �8

x
� ��1 � �� ����6 ���4�

x(t) = sign(h(−t)) =











1 h(−t) ≥ 0

−1 h(−t) < 0 .


: ����" �
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��� ��5� ��� ����� � � �� �� �
�714 �� ��1 � �� �4��

y
386�

y(0) = ∞ �8 ���4 �
x(t) = sign(h(−t))

��1� 3�� ���

y(0) =

∫ ∞

−∞
h(−t)x(t) dt


: ����: �

=

∫ ∞

−∞
|h(−t)| dt


: ����� �

= ∞ .

: ����B �

;( ;/ ;�
�8 �� 4�6 �6��7

BIBO
����� � �����6��4�� �8�9� ���9 2���!��� �� �� �� 01 ����� �46�� �79�6

����9
B

9��� � ���

||y||∞ ≤ B · ||x||∞

: ����� �
�
3�� � �� ||x||∞ @7 3� ��� � 3�� � �� � ��

x
�� �8 9��4 3�8� ��5� �

B = ||h||1 ��� 69 3�� 4
B

9�����
��4�� �8�9�� 67 ���!�� �0�

���9 �
( 4.2.1)

�� ��7�� ��� ���� �8�9�� 67�6 2�08 9��� 3���9 3�� �7�
BIBO

����� � � �8�9� 7 �
�44�� 3�� ���6 ���!�� ���7 �1 �� ��� �

cos(0) = 1
@7 3���8 ||Φ[x]||∞ ≈ 1

�0� 3��
x

�� ��0 �8�9�
��4��

����6 ��8 ��4�� � �� 3�� � ��6 ���!�� �� ����8
B

9��� � ��� �6 �
( 4.2.2)

�8�9�� ���9 ���0 ���96
� ����� ��0 �� �96 ��08 9��� 3�� 386�

y(t) = α2 = ||x||2∞
�0� �

x(t) = α
����1 �� �48 �1�4 ���0

sup
t

|Φ[x](t)| ≤ sup
t

|x(t)|2
: ���� �
�� 4�� ��� 3�� ���6 ���!�� 386� �||Φ[x]||∞ ≤ (||x||∞)2

���68
�����	� �
��	 �
 �� ���� 
�	 �
	 �

BIBO
	����

h = δ
��	 ����� �� 	�� �������	 ����� �
	

4.2.4
()*&$

�
BIBO

	����
h = δ′

��	 ����� �� 	�� �������	 ����� �
	

�3�9�! � �8�9�6 �0 ������ �61 ��1��6 3� �4
�
 	���� 
�	 ����� �����

4.2.5
>-/�

sup
t

∫ ∞

−∞
|K(t, s)| ds < ∞ .


: ����A �

�0� � ����� ��4�� �� 2<�%
<

|y(t)| ≤
∫ ∞

−∞
|K(t, s)| sup

s
|x(s)| ds .


: ����C �
;( ;/ ;�

Φ1,Φ2
�� �8 � ���6 6� ���!��� �� �� ����� � ����� � �8�9� � ���1� �7�8 ���7 4 � ���� �� � 4�8�

3� �� �1� �6����� �8�9�� � � ��� 3��� �1� �6����� �8�9�� �0�
BIBO

� �� �� �
IOM

��8�9� ��7 ��
������ 1�8�� �4�� 
�08 7 � �� � ��85��� �8�9�� ���0 ���96 �

BIBO
����� � 3� � ! 6�����
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��� ��5� ��� ����� � � �� �� �
��� ��
���� ����
� � ��

( 2.1.1)
�� ��7� ��� ������ �D�� �8�9� �8 �804

N
∑

n=0

an
dny(t)

dtn
=

M
∑

m=0

bm
dmx(t)

dtm

: �" �� �

�� 4� �957� ��� 2� �� � �� ���� � ��!6 �4�7 �6�7 6��76 3� �4 �� D�� ��� 69 � ��� ���� � �8�9� ���9
��89�� ���� �61���

�� ����
yZIR

��
 	����� 	����	 �
 ������� ��
 	���� �
��� ���� �����
4.3.1

<&.*<

yZIR(t) → 0

: �" �� �


	���	 �
�� ��� �
�� �
t → ∞ ��
�

67 �4��5�� � �4�6 �5� �8 �804 ���� ��� 69 �� �0 � 4�8� 69 �957� 68 3�� �� �486 �8 ���!��� ����
� �� � �4!�� ��� �� ��7��

N
∑

n=0

anλn
: �" �" �

����7�� 67 � �4���5� �� �4��5�� � �4�6 �5� �7��7 �
N
∑

n=0

anλn = 0 .

: �" �: �

���� ��� ���� �	 �����
	 ����� ��	 ����� �� �
 ��� �
 ������� ��
 	���� 
�	 ���� �����
4.3.2

>-/�
��� ���� �� ��� ���� �����

<e (λ) < 0 .

: �" �� �

tkeλit ������ � ����� 67 � �8�� � ��8���
yZIR

��5� � ��4!�� ��� 3���5� �8 

2.1.8

�57� � �804 2<�%
<
��

t → ∞ �7�8
tkeλit → 0

� ���� �66� � ������ �1� 68 ��4��5�� � �4�6 �5� 67 7��7 ���
λi

�7�8
;( ;/ ;� �<e (λi) < 0

�� ���
���4 �� �� ����� �� ��� �6�7� � ! �6� ���!�� �� �6 � �4�7 �� � ���� �� �!�� �47 �8 3���6 ��71

�� ���!�� �5�� ��� ��0
��� �� ��
���	 �����	

4.3.3
<�*
.

ẏ − y = ẋ − x

: �" �B �
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��� ��5� ��� ����� � � �� �� �
�	����� 	��� 	
���	 ����

δ

�	 ��		 ����� ���
 


1
�� ���� �� � �����
	 	
����� ��� ������� ��
 	���� 	��




BIBO

	���� �����	�
������ ���� ���

ẏ + y =
d2

dt2
x(t) +

d

dt
x(t)


: �" �� �
�����	 �� � �
�� �� ���
 
� ������ ��
 	���� �����	 ���� �

(−1)

�	� � �����
	 	
����	 �� ��
 ���� �� ��


����		 ����� �	� � BIBO
	���� 	��


����� �6 � �� ��5���� � ���� � 3�� � ��7�� ����
BIBO

����� � D�� �8�9� ��� ��668� �6�7� 69
� ���� � 1�46 ���8 � ! ���4 �0 �7��� ��656 � ������ 65� 4 �7�8 ��� �� �1 ��� ��5� �494

BIBO��� ����� ����4�5 1 �� �4� � �4��� � ���7�� ��6�� ���!� ��7 �1 �66
BIBO3�8 � ! ��4��5�� � �4�6 �5� �7�7 69 ��4� � ���6 �4�69 � D�� 67 ��� ��5� ��� ����� � � ���6 ��8

��8 �4�60�6 �
4
@� ����! ��01� � �� �4�6 �5 67 � �7�7 �716 �6�8� �46 3�� 387 ��� ��9� ���� ����86

�0 �� ��� ����6 ��6 �67 �7��� ��61 �� �9�6 �� 2� �7�7� ��� ������ �9�6 ���� 3�� � ���� � � ���6
�6 �!��� ��9��

Routh-Hurwitz
	��� �� @ ���� 3���� ��� �3�� �1� �� �� �7 �5�� 347 �
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� ���

����� ��� ��

�� ���� �
���
��� ����� � ��� 
���� � � �
�� �48� �� ����68 �
�D�6 � 3�0� � �9��� � ����4�6 � �8�9� 67 �����9 � �� D � �� �6� ��44�5��� ���
�� ��� � �� � �� � ! ���!�� �0� �
�8��� �5�� � ��

s
�7�8 �

x(t) = est ������ � �� � �� �D�6 �8�9�6
67 ���5 3���5 ���9 �0 ����9 � ���6 6� �

H(s)
�8��� 9��� ���9

H(s)est ���� ���!�� ���68 �����
�� ���4� �� ��7�� ���4 �

yp(t) = H(s)est ������ ���5 3���5 7 �
x(t) = est �� �48 ���97 7144 �� D��

N
∑

n=0

an
dny(t)

dtn
=

M
∑

m=0

bm
dmx(t)

dtm

����� �

N
∑

n=0

an
dnH(s)est

dtn
=

M
∑

m=0

bm
dmest

dtm

����� �

H(s)
N
∑

n=0

ansnest =
M
∑

m=0

bmsmest
����" �

H(s) =

∑M
m=0 bmsmest

∑N
n=0 ansnest

.

����: �
� �4�6 �5� 67 7��7 �44��

s
@7 ��4�� ���68 ��5� �4�� �48��7 ��4�� ��08 ���5 3���5 � ��� 38� 2� 4���

��D��� 67 �4��5��

�C



��01 ��� �5
2������ �� �714 �����6��4�� �8�9� ���9

y(t) =

∫ ∞

−∞
x(t − τ)h(τ) dτ


����� �

=

∫ ∞

−∞
es(t−τ)h(τ) dτ


����B �

=

∫ ∞

−∞
este−sτh(τ) dτ


����� �

= est

∫ ∞

−∞
e−sτh(τ) dτ


���� �

= estH(s).

����A �
� ! ���!�� �8�9� �� �� ��7 3���8 ��� �48� � �� 6�58 9��� � �� ���!�� �8 �����6 �49!� ��7 �
��8�9�6 ���7�� ��1� ����4�5 � ���6 ����1

H(s)
���� 4�5� �0� �����6��4�� �8�9�8 � !� � D�� ���

67 �7��� ��656 ����� 67 �7��� �7��� ��69 ��64� �������� ����4�5 ����4
H(s)

����4�5�
�� �0 � �� �6��4�� � �8�9� 67 �7��� �� �� �4�6 �5 �47 67 �4� ���� ��� �0 � ��� 4�5 �8 � �� �� �4� �D��
�5�� � ��

ω
�7�8

s = jω
�� ���5� �
����6��4��� 3�9�! �� � �6�� ���!� 67 � ���� �� �656 �����

���!� � ����� �4�
H(jω)

@6 ��� ��0 ���8 7�56 3� �4
ω

��� ��4���� � �� � �� �� �48� � �� �0� ��7��
� ��� � �� �0 ���� � ��6 ���!�� �0�

ejωt �4���� � �� � �� �� �48� ��7 3��8� ��8�9�� 67 ����
����� � ���� � ��

( 5.1.9)
@@

( 5.1.8)
��� 69

H(jω)
���!� ����� ���!� � ��7 9���� 658��� ��� ����

69� ���@@@� ����4�6 � �8�9� 67 ���� ��7 ��� 1 �� �46 �4� �� �6�� �� �0 ����9 �
h

�6�� ���!� 67 ��� �5
�� �� �� �� �� 4�� � � �6� �0�5 � �9�7�

����
 ����� � ��
� �� �5 6�!� 4�� ��� ��� �5 ����� �� ���!4 


4.1.2
���!� �

L1
@� � ���� 4�5 � ��9

F{x}(ω) = X(ω)
.
=

∫ ∞

−∞
x(t)e−jωt dt.


����� �
�8�5�� ����5 ����� �� ���!4 �0�

L1
@� � �� � !

X(ω)
��

F−1{X}(t) = x̂(t)
.
=

1

2π

∫ ∞

−∞
X(ω)ejωt dω.


����� �
3��6

x
3�� �7�� ��� ���� � ��� �� ���01� �8�5�� ������7 �46 1���� �67 ���

x̂
3�� ��6 �����

�4�� �� �����5 ����� ��7 �16 ��� � �� 6�!� 4��� �8 7 �!��6 � �71 ����96 �4���6 ��71� �8��� � ��
x̂6�!� 4��� ��5�� �

L1
@� � �� ��6 �� �5�� ��� �� �0 ������� �� ���!�6 ���1�� ����

∫ ∞

−∞
e−jωt dt

� 

t
686

1
���7� � ��� �

1
���� 67 ������ �� ���!� �4�� �6���� �668 ��!�� �4��

�8 3��4 �� �4�� �7�� �� �
x

���� 67 ����5 ����� ��� F [x](ω)
�� ���� � �4�� ��� 7��74 �4�

���� 4�5 � �� �9� � ���7 �86 � ���71 7 � 386� �
x 6= F [X]

@7 3���8 ������ �4�� �0 �7� �8 �6 � �7 4 �
x

F↔ X�3�� � ��� �9�5 �� ����� �4�7� 67 ����4�5 � ��7 �������� 6��7 ��� 9�5�� 

t
�4�7�� 67
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���	 � ��

� �� 4�� 68 �� 3���4 �6 �8 ��9 �� ��6�!� 4�� � ������ � ���5 �� �� ����� ���1 69 ��014 �0 � �9��
� �� ���� � 4��7 � �� ��6 ��1�4 ��� � �9�� �

L2
@� � !�

L1
@� �� ��� ��� 687 1�44 �0 � �9�� �� �������

��6� � �� 4�
�
x̂
�� ����� 	���	 	���	 ��

X
�� 


X
�� ����� 	���� ����	 �� �� ��


L2
�� ��
 
�	

x
�


5.3.1
>-/�

������ �
∫ ∞

−∞
|x(t) − x̂(t)|2 dt = 0 .


��" �� �

������ �8 � �1 ����� � �4�7 � �� 4� � 47 � ��� �� �� � ��94 �7��� �� ����6 �75�� � �� �0 �57�
������� � ��� �� ���01� �8�5�� ������� ����� 4 68� ���!��

X ∈ L1
����� �
 
����

X(ω)
�� ���	 ������ ��� 	���� ����	 ��


x ∈ L1
�
 
	������ �
��

5.3.2
>-/�

���
�	 ��
��	 ��� ����� �

����� �� � ��� ��� ��� ���� � ��� ���� ������ �� ���� ���� ��� 
�	
x

��
	 
�

����� �� � ��� ��� � ����� �
 ������ �� ���� ���� ��� 
�	
x

��
	 
�

��


x̂(t) =
1

2
[x(t−) + x(t+)] .


��" �� �

� ����� �
 ������� �����	 ������ 	���� �� ����� ����� ��� �����	 � �
� 	��� 	���		 	���		 ��� ���

38 � ��� �� ���!�� ������ 2� 4�7��� �49�� �� �� 1�8�4 2<�%
<

|X(ω)| ≤
∫ ∞

−∞

∣

∣e−jωt
∣

∣ |x(t)| dt = ||x||1 .

��" �" �

;( ;/ ;�

������� ��
��� � �� � �

����
��� 	���� 
�	 	���� ����	
5.3.3

>-/�

ax1 + bx2
F↔ aX1 + bX2 .


��" �: �

;( ;/ ;� �6�!� 4�� � ����4�6� 9��4@@@6�!� 4�� ��� ���!�� ������7 ����� ���9 2<�%
<
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��01 ��� �5
X(ω) = X∗(−ω)

��
 ����� 
�	 �� ��� �
x(t) = x∗(t)

�
 
	�� �� ����	 �� 	���� �� � �����
5.3.4

>-/�

 ������	 �� ��� � ���� 
�	 �� ���


���� 
�	
X(ω)

��
 �
x∗(t) = x(−t)

�� ��� � ������	 �� ��� � ���� 
�	
x

�

�� ��� ���� �� ���
 � x(t) = −x(−t)

�
 

X(ω) = X(−ω)

��
 �����	 �� ��� ���� �� � x(t) = x(−t)
�




X(ω) = −X(−ω)

��
 �����	

���9 ������ �8�9 387 �
ω ≥ 0

� �1�� �5���6 3� �4 � ��7�� � �� �� ���9 �8 9� �4 �4�7��� �4�8���
� �6 ��� ���� 67 � ��6 �67 � �8�9� 7 �� �7� 387 ��0 �794 �6 �4� ��0 �4�8�� � �9�� 4 � ��6 �67 � �8�9

�0� �7��
x

�� 2<�%
< �� �� �7 �1� 69
X(ω) =

∫ ∞

−∞
x(t)e−jωt dt


��" �� �

X∗(ω) =

∫ ∞

−∞
x∗(t)ejωt dt


��" �B �

=

∫ ∞

−∞
x(t)e−j(−ω)t dt .


��" �� �
;( ;/ ;� ��� �� � �4�8�� ��7 �18��

�� �� 	��	 
� �
�	 ������	 ���� 	���� ����	�
5.3.5

>-/�
x(t − τ)

F↔ X(ω)e−jωτ .

��" � �

���� 	��	

x(t)ejω0t F↔ X(ω − ω0)

��" �A �

��� �	 ������ � 	����

d

dt
x(t)

F↔ jωX(ω) .

��" ��C �

dn

dtn
x(t)

F↔ (jω)nX(ω) .

��" ��� �

��� �	 ������ � 	�� �������

(x ∗ y)(t)
F↔ X(ω)Y (ω) .


��" ��� �
�� �	 ������ ��� �
 ����	 ������ � 	�� �������

x(t)y(t)
F↔ 1

2π
(X ∗ Y )(ω) .


��" ��" �
���� �
 � �� � ���� �����

x(at)
F↔ 1

|a|X
(ω

a

)

.

��" ��: �
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��01 ��� �5

F [f ](ω) = 2πg(−ω)

��

f = F [g]

�
 ���� �
�� ������ ��
�� ��� 

Duality

����
��
5.3.6

>-/�
��� �� ���� ���
�

F (F [h]) (u) = 2πh(−u) , F4[h] = 4π2h .

��" ��� �

���!��� 2<�%
<

F [f ](u)
.
=

∫ ∞

−∞
f(s)e−jus ds


��" ��B �

= 2π
1

2π

∫ ∞

−∞
f(s)ej(−u)s ds


��" ��� �

= 2π
(

F−1[f ]
)

(−u)

��" �� �

= 2πg(−u) .

��" ��A �

;( ;/ ;� �� �47� ���7� � ! �9��4 3�8�
���9�@@@9 ���� 658 ��8 �9@@@� �� � �9��� ��01� F 67 �695� �8 � �� �4��1�� �1� �4� � �9�7�

�8 � ����� 9��4 3�8� ��� ���� � ��� �� ���01� � �� 2� ��0�

F−1 =
F3

4π2
.


��" ��C �

�
L2

��
x, y

��� 
�
Plancherel

������ � 5.3.7
>-/�

∫ ∞

−∞
x(t)y∗(t) dt =

1

2π

∫ ∞

−∞
X(ω)Y ∗(ω) dω .


��" ��� �

y ∈ L2
��� �
 �

Z(ω)
��

x(t) ∈ L2
�� �	� 

�	 �� ���

X(ω)
�
 	����� �� 	����

∫ ∞

−∞
x(t)y∗(t) dt =

1

2π

∫ ∞

−∞
Z(ω)Y ∗(ω) dω


��" ��� �

����	 ����� �
 �� �	 ����� ���� �� �� � �
	 �� 	����
	 �
 ����� 

x

F↔ Z
���	� ��


∫ ∞

−∞
x(t)x∗(t) dt =

∫ ∞

−∞
|x(t)|2 dt =

1

2π

∫ ∞

−∞
|X(ω)|2 dω .


��" ��" �

�� �7 2� �61� �46 3� �4 �57�� �
L2

@� � �� �� ���9 � �� �5 ����� ��7 �16 �1� �4 �46 3��7 3���8� 2��9�
5.4.1

���� ���!�� 7��7�6 �75� �8 ���4 �7��� �� �� �5 ����� 38� � �� � ����� ��9�� �� � ���6
������� ��7 �1 ����6 � !
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� �668�� � ���� 4�56 ����� ����5
�
L1

@� � !�
L2

@� ��7
x, y

���9 2 
��6�
( 5.3.23)

@�
( 5.3.21)

67 � <�%
<
∫ ∞

−∞
x(t)y∗(t) dt =

∫ ∞

−∞
x(t)

[

1

2π

∫ ∞

−∞
Y (ω)ejωt dω

]∗

dt

��" ��: �

=
1

2π

∫ ∞

−∞
Y ∗(ω)

[
∫ ∞

−∞
e−jωtx(t) dt

]

dω

��" ��� �

=
1

2π

∫ ∞

−∞
Y ∗(ω)X(ω) dω .


��" ��B �
;( ;/ ;� �3�8 1�8 �4 �6 � �47� �49�� �� �� �� ��� ��� 69

L1
@� 1�8�� � 4��7 � �� ��6 ��0 � �1��6 3� �4

� �7 ��� � ��� ��� � ! �� �3�0� ��7 �� ��� � ! �716 3� �4 � �� 67 ��!�4�� �� �8 ���� �0 �57�
�����6 1�5�� � �� �0 �1� �4 �8 ���4 �7��� �

ω
���� � ��� D6��!D �� ����

X(ω)
@7 3�8� �����

��� �� � �668� ��� �5

����� �� ���
���
� ����
 ����� � ��

u
�!���� � ���4�5 67�6 �8 2� �668�� � ���� 4�58 � �6�!� � ����4�5 7�56 3� �4 �8 7 �!��6 7 � � �7��

�41��7 3���8 �� �� �5 �����6 6�!� 4��� �1� �4 �� ��69 6�95�6 3� �4 �6 386 �
L2

@� �6 � !�
L1

@� �44��
�� �668�� � ���� 4�56 � ! �4�84 �0

� ����4�56 � ! � �� �5 ����� ���!�6 3� �47 ����� �� ��75� �44�� 6�!� 4��� ��� ���!��7 ����6
�0� �

ω
�4�7�� 67 31� � ���4�5 � ��

φ
@�

L1
@� � ���4�5 � ��

f
�� �8 �6 � �7 4 ����!�� ����6 �� �668��

∫ ∞

−∞
F(f)(ω)φ(ω) dω =

∫ ∞

−∞

∫ ∞

−∞
f(t)e−jωtφ(ω) dω dt


��: �� �

=

∫ ∞

−∞
f(t)

(
∫ ∞

−∞
e−jωtφ(ω) dω

)

dt

��: �� �

=

∫ ∞

−∞
f(t)F{φ}(t) dt.


��: �" �
�����4�5 ���9 �418�� �7� �0 �7� �31� � ���4�5 ���9� � �� 31� � ��� 4�5 67 � �� �5 ����� �8 �6 � �7 4

��668�� ����4�5 67 ����5 ����� 67 ���!� �79�6 7�7�
L1

@�
��
 �

ω
	����	 �� ������ 	������ 
�	

t
	����	 ��

f
������ 	������ �� 	���� ����	

5.4.1
<&.*<

���� � ������� �� 	����� ��� ������ 
�	� �F(f)
�� ����

∫ ∞

−∞
F(f)(ω)φ(ω) dω

.
=

∫ ∞

−∞
f(t)F{φ}(t) dt.


��: �: �

67 ����5 ����� ��� 69 �46��� �7� �668��� ���� 4�5� 67 �6�95� �� ���� �� ��7�� 67 6��7 ��
���� 4�5� 67 �6�95� � ���� � �� 387 �� �� ��!�� 3�� � �� �31� � ���4�5 69 ��6�95 �� ��� ��� 69 ��0 �

f�31� � ��� 4�5 69
f

�668���
� ���6 �469 �668�� ����4�5 38� � �� �668�� ����4�5 67 � �� �5 �����7 ����6 ��8 2� ����� ��9�
6�!� 4�� 387 ������ � �� � ����4�6� �6�� �3�8 3��4 �6 � �47� ����4� �� �5���� � ����4�6 2� ���� �47

�6��7 �� � ! 386� ���4�6 ���!�� 67 3�� � �� 386 ����4�6 � �� ��� �5 ����� 67
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� �668�� � ���� 4�56 ����� ����5
�� ���7 4 � �� �5 ����� ��4�8� 68 �� �6�!� 4��� ������ 67 � �4�8� ��� ��� �5 ����� �4��!�7 3���8
67 �7��� �4��� � ���!�� 67 3���� ��67 ����5 ����� 3��6 � ���4�5 3�� �8�9 �1 �1 �7� 7 � ���5�

� 
���� 4 68� ��96 �1�� �4�� �7��7 �68�� �� �� 4�
���	 ������� �� 	���� ����	 �
 ����

5.4.2
<�*
.

∫ ∞

−∞
F{δ}(ω)φ(ω) dω =

∫ ∞

−∞

∫ ∞

−∞
δ(t)e−jωtφ(ω) dω dt


��: �� �

=

∫ ∞

−∞
φ(ω)

∫ ∞

−∞
e−jωtδ(t) dt dω


��: �B �

=

∫ ∞

−∞
φ(ω) · 1 dω,


��: �� �
�t

���
1

	���	 	������	 �� ��� �
1

	������	 
�	 	��� �� 	���� ����	 ����

δ
F↔ 1 .


��: � �

�
1

���� 4�5� 67 ����5 ����� �� �714 �� �5�� 3��8�
	���	� ����� 
������ 	������ �
� 	��
 ������

1
	������	 �� 	���� ����	 �
 ���� ���

5.4.3
<�*
.
�����

∫ ∞

−∞
F{1}(ω)φ(ω) dω =

∫ ∞

−∞
1 · F{φ}(t) dt


��: �A �

= 2π
1

2π

∫ ∞

−∞
ej·0·t · F{φ}(t) dt


��: ��C �

= 2πφ(0)

��: ��� �

=

∫ ∞

−∞
2πδ(ω)φ(ω) dω


��: ��� �
������� 
�	

φ
�� ����� �ω = 0

	�����
φ

�� 	���		 �� 	���	 	���	 �� �� ����	 ����
	 ����	 ������	 ��
�
����
� ���
�	 ���
	 �� 	
���	 
	������	 �� �����	 ���	 �
 ����� 	���		 �� 	���		 	���		 ����


F{1}(ω) = 2πδ(ω)
�� 	
��

����
1

�� 	���� ����	� ���� 	��		 ������

F
(

ejω0t
)

(ω) = 2πδ(ω − ω0) .

��: ��" �

�� �����

cos(ω0t) =
1

2

[

ejωt + e−jωt
]
��: ��: �

�� 	���		 �� ����
���	 ������ ����

F [cos(ω0·)](ω) = π [δ(ω − ω0) + δ(ω + ω0] .

��: ��� �
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� �668�� � ���� 4�56 ����� ����5
�
L1

�� 	��
 �
���� 
�	 �
 ����	 ������ 	������ �	��� �� ��� 

x(t) = tn

�� 	���		 �
 ����
5.4.4

<�*
.
����

( 5.4.4)
	���	� 
	���		 ������ ��������
	 	����� ����	� ���� 
� ����

∫ ∞

−∞
F{x}(ω)φ(ω) dω =

∫ ∞

−∞
tnF{φ}(t) dt


��: ��B �

= (−j)n
∫ ∞

−∞
(jt)nF{φ}(t) dt.


��: ��� �
������	 	����� ��� ���� 
 dn

dωn φ(ω)
�� 	���� ����	 
�	

(jt)nF{φ}(t) �� ���
� ���

∫ ∞

−∞
F{x}(ω)φ(ω) dω = (−j)n

∫ ∞

−∞
F
{

dn

dωn
φ

}

(t) dt

��: �� �

= (−j)n2π
1

2π

∫ ∞

−∞
ej0tF

{

dn

dωn
φ

}

(t) dt

��: ��A �

= 2π(−j)nφ(n)(0)

��: ��C �

=

∫ ∞

−∞
2πjnδ(n)(ω)φ(ω) dω


��: ��� �
���
�	 �����	 �
���	� 


ω = 0
	�����

φ(n) ���
n

�	 �����	 �� 	���	 	���	 
�	 �����	 ������	 ��
�

F{tn} = 2πjnδ(n) ������ ����
	�

�
 	� ���
5.4.1

��� ������ 	���		 
������ 	������ 
�	 ������ 	������ �� 	���� ����	
5.4.5

>-/�

�	 	���		� 	������	 ��� ���	 


5.3.6
��

5.3.5
�
5.3.4

�
5.3.3

������� �������	 	���� ����	 �� ������	
�� �� ��� 
�	 � �����	 
��
 	������ 	� �
�� 	���	 ���� 	���� 	���	 �� 	������ ��� �� ��� ���� �� ��


� ������ ��������

��� ��07 3���8 �� �� �5 6�!� 4�� ��� ������ �� �716 3� �4 �6 386�
L1

@� �44��
x(t) = sign(t)

����
������ 1�� �5� ��67 ������ ��7 �1 �� ���6 ��44 �� ��1� � �� �7 �16 ���� ����4 � ���� � �� ���

�3�8 �� �� ���4 �6� ��8��� ��� � �����
�4�8��� �8 �6 � �7 4 �� �7��

F
(

dx

dt

)

(ω) = jωX(ω)

��: ��� �

� ����� �� �8 9��4
dx

dt
=

dy

dt


��: ��" �
��6� �4��7 9��� ���

x(t)− y(t) = c
�8 1 ���� � ��0!4� 67 3����7� �

ω 6= 0
686

jωX(ω) = jωY (ω)
�0�

���4 ���0!4� 67 � �� �5 ����� �46 �9��� �� ��8� ��� � �
t
@�

F
(

dx

dt

)

(ω) = Y (ω)

��: ��: �

ω 6= 0
68 ���9 �1�8�� �0�

X(ω) =
1

jω
Y (ω) + Z(ω)


��: ��� �
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� �668�� � ���� 4�56 ����� ����5
�668�� ���� 4�5 � ��7 �� �

0
�� � ��

Z(ω)
�8 � �� ���� 7 ���57 3� ��8 �

ω 6= 0
686 �5���

Z(ω)
�7�8

�� �� ��0!4�
δ

��!�� �
0

���� �� � �� ��957�7
��6 ���!� 4�� � ������ @�� 4� � �� ���9

X(0) =

∫ ∞

−∞
ej·0·tx(t) dt = 0


��: ��B �
� 4��7 � ������� @�� 4� � �� �� ���9 � ! �5�� ���� �0 �4�8� �8 � �5�� �4� 386 �� ������ @�� 4�� ��9

���5� �� �6 ���!� 4��

F [sign](0) = 0 .

��: ��� �

���0!4� �4�8� � ���

F
(

d

dt
sign

)

(ω) = F(2δ) = 2 .

��: �� �

�8 9��4 3�8�

F(sign)(ω) =
2

jω


��: ��A �
�
Z(ω) = 0

���68 �3�� �� � �� ��6 ���� 3��7 �46 1���� ����� �� �� 4�� �4�8� 66!� �7�8
�� ���� �!���� � ���4�57 3���8

u(t) =
1

2
(sign(t) + 1)


��: �"C �
�8

1
67 ������� � � �� �5 ����� 67 � ����4�6�� 9��4

F(u)(ω) =
1

2

(

2

jω
+ 2πδ(ω)

)

=
1

jω
+ πδ(ω) .


��: �" � �
2�8� 4 �4�� ���71 �4��� 38� ������ ��

������ �� ��	 �������� 	����	 ������� ����
5.4.6

>-/�

F(sign)(ω) =
2

jω


��: �" � �

F(u)(ω) =
1

jω
+ πδ(ω)


��: �"" �
������
 �� 	���	

F
(
∫ t

−∞
x(τ) dτ

)

=
X(ω)

jω
1{ω 6=0} + πX(0)δ(ω) .


��: �": �
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� �8�9� � � �� �� ��� �5
�����6��4��� �4�8�� �3��1�� ��� ��� �� �� 1�8�4 2<�%
<

F
(
∫ t

−∞
x(τ) dτ

)

(ω) = F (x ∗ u) (ω)

��: �"� �

= X(ω) · F(u)(ω)

��: �"B �

= X(ω) ·
[

1

jω
+ πδ(ω)

]
��: �"� �

=
X(ω)

jω
+ πX(0)δ(ω) .


��: �" �
;( ;/ ;�

������� �����
�

����
 � ��
����� �6� �4�� 6�!� 4�� �8 �804 ��8�5� ��� �5 ����� 67

( 5.2.2)
��6�!� 4��� ���!�� � �7 34��� 4

2� �8�6

x(t) =
1

2π

∫ ∞

−∞
X(ω)ejωt dω ≈ 1

2π

∞
∑

k=−∞

X(kΩ)ejkΩtΩ .

����� �

���� 4�5� 67 ����� �7�8
ejkΩt ������ � ��4���� � ���� 4�5 67 ����6

x
� ��� �� �4���5 �� �68

67 ��9�7 688 ��8 �� ��0 ���� ��� �5 ����� 67 ��9� @@@
X(kΩ)

� ���� � ��
kΩ

���� � �4�����
X(ω0) = 0

�� �� �5�� 3���8� ��0 ���� 6��! ��8�� � ��6 �8 �� �6 3� �4 �8 �� ����� ���� �� �� 6��!
X(ω)�� 0 ���� ��!�4� 3��

x
@6 �0�

� ��
ejωt ������ �4���� � ��6 ��� �6��4�� �8�9� ���!�

5.1
� �9�� �4���7 �58

y(t) = H(ω)ejωt .

����� �
��� ��6 �8�9�� ���!� 67 6��!� �� ����� ���7 � �7� �8�9�� 67 ���� ���!� � ����� �4�

H
@6

� ��
x

�� �486 ���!�� �8 �4��� �� �� �668 35 ��� �� �4�7� � ����� � ��4����

y(t) = (x ∗ h)(t)

����" �

Y (ω) = X(ω)H(ω)

����: �

��6�� ���!� ���7 �����6��4��� 3�9�! 67 ��� �5 ����� ���
H

�7�8
� �� ������ �� �48 3�� �7��7 3���8 �� �8�9� 67 � �� �� �1 1�46 1�4 �68 �46 � 4� �4 � �� �5 �����

���!6�

Y (ω) = H(ω)X(ω)

����� �

�� ��8��� � �� �� �1 � ! 1�46 � ��1� 6�
�� ���� ���� 
�����	 �����	 ��� �� �
��� ���� � ����� �����

5.5.1
<�*
.
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-
yH1 H2-x -z

���� � �8�9� ����1 2��� ����

Z(ω) = H2(ω)Y (ω)

����B �

= H2(ω)H1(ω)X(ω)

����� �


�	 �����	 �����	 �� ���	 ����� ����

H(ω) = H2(ω)H1(ω) .

���� �


�����	 ���	 ����� �
 ���� 
�����	 �����	 ��� �� �
��� ������ � ����� �����
5.5.2

<�*
.

-x

-

-

H1

H2 -
y1

-
y2

-
y��
��
+

6����� � �8�9� ��� �1 2��� � ���

Y (ω) = Y1(ω) + Y2(ω)

����A �

= H1(ω)X(ω) + H2(ω)X(ω)

�����C �

= (H1(ω) + H2(ω))X(ω)

������ �



H(ω) = H1(ω) + H2(ω)


�	 �����	 �����	 �� ���	 ����� ����

�9�57� �8�9�� 2�8 �� �48� � �� 69 �8�9�� �957� �� 7�56 �75� ��0 ��5 67 ��68����
�� ��01� � �3�� ���

H(ω)
��� � ���� �44�� �8�9�� �� �4�7 � ����� � ��� ���8� 69 �4�7 �����

�8 �� 34�� �D34�� D �8�9�6 � ���6 �9��� �8�9� 69 �08 � �68���� �6��!
H(ω)

��� � ����� � ���
���� 68� �� �48� � �� 69 �8�9�� �9�57� ���8 @@@�6�7� ��� � �� � �68���� �7�8 ��8�9� � ��
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�� � �� � �

�� �� ����� � ���� 34�6 38� � ��9 ��� �� ��� � ��� ���� � �44���
����� 
�	

ωB
����� ��� �� ��
���


Low Pass Filter
����� � ����� ���� 
��� ������ ������

5.5.3
<&.*<


�	 	�� ���	 ����� ��


H(ω) =











1 |ω| < ωB

0 |ω| > ωB .


������ �

-

6

ω

H(ω)

1

−ωB ωB

� �8 �� 4 ���9� 34�� 2��" ����


�	 	�� ���	 ����� ��
 ����� 
�	
ωB

����� ��� �� ��
���

High Pass Filter

��	��� ����� ����

H(ω) =











1 |ω| > ωB

0 |ω| < ωB .


�����" �

-

6

ω

H(ω)

1

−ωB ωB

� �� ��! � ��9� 34�� 2��: � ���


�	 	�� ���	 ����� ��
 ����� 
�	
ωB1

, ωB2

������ ��
���

Band Pass Filter

��� ����� ����

H(ω) =











1 ωB1
< |ω| < ωB2

0 otherwise.
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-

6

ω

H(ω)

1

−ωB1
ωB1

−ωB2
ωB2

��� ���9� 34�� 2��� � ���

����� ��� ��
��� ��
� ������ 
�	� �� �
 ����� �
 ������ ���� ��
 ���� 
�	 ������ ����
5.5.4

<�*
.
���� 
�����	 ������ �
�	� ������ �	 �����	 �
 ����	� �
 �����	� � ����	� ������� ����	 �	� ���� ��
���
�� 
�� ����	� ���
 ����	 ��
� ���	��		 �
 �
�� ����
	 ��
� ������� �
���� ������ 	
�� ������
������ ����� ���� �� 	���� 	���� ����	� ���� ���� ���� �� ��
�� ��
 
�������	 �����	 ���� �
 �����
�����	 ���� �	� ���� 
� ���� � ����� ����� ���
 �� ��� � ��
��
 ���
 ����	 ������ 
� ���� 
�	 �	� ����
�������� ������ �� �� ����� 
�	 �� 	���	 
� ���� 
�	 ���� 	��
�� �	���	 
�� ����� ����	� ��
� �� �����	
������ 
�	 ��
� ����	 �� ���	 ����� �
 �
�� �����	 ��	 ������ 


9
���� 	
�� 
���� ��� 
������	


����� � ����� ����� 
�	 ��
� ������ �
 �
�� �����	 ��	� ������ �	 �����	 �
 ����	�

6

hhhhh@
@

@
@@

hhhhhA
A

A
A

A
A

A
AA

-
(((((�

�
�

��

(((((�
�
�
�
�
�
�
��

((((((((((
hhhhhhhhhh

H(ω)

ω

1

−ωB ωB
� �8 �� 4 ���9� �����5 34�� 2��B � ���

����� ��� ��� 	���	 
	���� 	��
� ������� ����� 	���� ����� ��� ������� �� ���
 �����
5.5.5

<�*
.
��� �� 	��
� 	���� �������
 � �� �
� ������� ����
 ����� ���� ��
 �����
 ����� ����� 	��� 
�	 �������
����� �
 ����� ����� ���� ���� �� ����� ���
 ����� � ���	� ���� �� ����� � ������� ����� �
� 
���� ����� ����
��������

Woofer
����� �����	 �������� 	���� ���� ��� ���� �� 	���� 
� �	��� � �������� ���� 	���� 	��

�
tweeter

�� � ���	
700−5000 � �����	 ����� ����	 ��������

mid-range
� ���	

70−700 � ����� � ������ ����	
�����	� ���� 
��
� ����� � ������

subwoofer
�� ������ ���� ���
 � ������ � ��	��� ������ ����	 �������

���� ��� �
� 
�� ����	 �����	 ���� �
 �� ����� ��� ����	� 
�	 ������ ��
� �
crossover
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�������� ����� ���� ���� 	����� ����� ����	 
� �� ����� ����� ������ ���	�� �� �
	 ������
 �
 �� �� � ��
�����	 �
 �������	 ��	��� ����� ���� � ��� ����� ���� ������ �	 �����	 �


woofer
�� �����	 ����� � �����

����� 
� �� ����	 �� ��� ���� ���� ��� �����	 ����� ��� ��� ������� ����� 
����
	 �������� ��� �
��	

�	 �����	 ����� �� ��� 
����� 
�� �����
 ��
� �� �
 ���	� ����� ����� ����� ����� ��
 ���� ��
��


�	����

H(ω) =











K ωB1
< ω < ωB2

0
���



������ �


�� ������ ������������� ���� ��� �� 	� ����� �� �� ���� ���� 
���
��
 ���
 � ���� ������ ������� ���


�	 ��� ���	 ����� ��
 ���� �����

HL(ω)

�	 �����	 �� ���	 ����� �


HF (ω) =











K/HL(ω) ωB1
< ω < ωB2

0

���



�����B �

���� ������	 ��� �� ���	 ����� 
� ��� � ��� �� � �����	 �� ��� ������� ����
� ����� ���� �����	 � �
	
��� 
�	

H(ω) = HL(ω)HF (ω) =











K ωB1
< ω < ωB2

0
���



������ �


	 ����	 	����	 �����

����� �� ���	 ����� �
 ���� ��� ����� ���	� �� �� �� ���
� 
� ����� ��� ��� �� ����� ����	
5.5.6

<�*
.
���� ���	 �	� 
����� ����� 	����� ��
 	���� ������ ��� ������ 
�

pre-filter � 	� ���� ����� �����
	� �� 	����� �	���		 ���� ������ ����� ���� �� ���� ����� ��� �DVD

���� �
 ��������� ���� ������
�� ����� � ��
��� ����� ��� ���� 	����	 � �
 ������	 	����	 �� �� �
 ����� 
	���		 �� �� ����� ���� ��

����

y(t) = x(t) ∗ h(t) + n(t) Y (ω) = H(ω)X(ω) + N(ω) .

����� �
���� ����� � ������ ��� ���	 ��
� ����� ��� � ���� 


N
���

H
�� 	���� ��� ��
 �� ����� � �
����� ���

�
H1

��� �� �
���	
pre-filter

����� ���� ������� ��� ����	 ��� �� 	��� ����� ����� 
��	��� ������ �����
�����	 �����

H1(ω)H2ω) = 1
�� ��

H2
��� �� �
���	

post-filter
���� ���� � ���	��� ����� ����� ��


�
 	��� 
� ������	 ��� �	����
	 	����	 ���� 
� ��� ���
 	���		 ��� �� �����	 � ���
��� ���� 
�������	
���	 �	� �����	 �
 ����� ��


H2
���� �
 �� �����	

N(ω)
���	 ������ ���
 
	
���� 	���� �� ���	


����� ����	 ������ 
����
�� �� 
	����	 ��
� ��	���	 �����	 ������� �� ���

H1
����� 	���		 �� �� �	� ���� ���� ���� ����� ����



���� ���	� ���� ���
 ��� �����	 ��
	 ���� ��� �
H2

��� �� ��	���	 �����	 ������� 	���		

���� 
� �� ���
��� 
� ���� �� ���� ����� ����
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���9� 34�� �6� �4�� 3� ��8 �7�

Low Stop Filter
� �8 ��4 ���1 34�� � ! ���!�6 3� �4 �� �� �����

68 �� ���9�
Band Stop Filter

��� ���1 34�� �� ���6 ��� �� � �� ��! ���1 34�� ���!� �� �� ��!
2� ��� ��� � �8�9� ��7� ��4�6 �75� 6�96 � ��� ���� � �44��� 68 �� �� ���� 3�61 �9�6 � �����
6����� � �� �� �1 ��� 69 ��0 �� �8 �� 4 � ��9� 34��� �� ����� 68�

1
��� �67 ���� ���!� �7� �8�9�

�� �8 ��4 � ��9� 34�� �7 �4� ���9�� �5��4 386 �� ����
�
B

3�9�� ��� �9 � �8 �� 4 � ��9� 34�� 67 �6�� ���!� �� �714

hLPF (t) = F−1 [HLPF ]

�����A �

=
1

2π

∫ ∞

−∞
HLPF (ω)ejωt dω


�����C �

=
1

2π

∫ B

−B
ejωt dω


������ �

=
1

2πjt

[

ejBt − e−jBt
]
������ �

=
1

πt
sin(Bt)


�����" �
=

B

π

sin Bt

Bt


�����: �
=

B

π
sinc(Bt) .


������ �

π
67 � ��67 ��6�58� ��5��� ����4�5� ��67 �6� ����� ��9� �0�

t = 0
@�

1
���7

sinc
����4�5�

�
t
67 � ��6 �67 � �8�96 � !�

t
67 � �6 ��! � �8�96 � ! �5�� �4�7 �0 � �� �8 �6 � �7 4 �

0
@� � ���8 �9�6

3� �4 �6 �8 ����! �4�7��� ����9� �� �5�� �4��7 �6� ���!� �9 ������� �6 �8�9� ���� � ��7 3�8�
����� 34�� 7��6 ��8 ��6���� � �8 ��4 � ��9� 34�� 7��6 3� �4 �6 386� ��� ��� 3�0� �08 34�� 7��6
�� �� �6��! � ��7��7 688 �� ��6 �67 � �4� 0� �� �� �5�4� ��6�� ���!� �� ��7 4 2� ��7� �9 34�� 7��4
�34��� ����� ��6�� ���4� 6�� �7 � �� � ���9� � ��7� 3�� 6�7�� ����7 �@@@� ��� ���� �� �� ��7� �8

���� 
�� ���� ����� � �� ��
�8 � �7 ���6 ����� ����� ���!� ��� ���!�� � ���4�6 �0�5 �8�9�

|H(jω)| = 1,

�����B �

∠\H(jω) = αω .

������ �

���
x

��� 69 �8�9�� �6�95 �38 �� �
H(jω) = ejαω �8 � �� � �7 ���� ��7 ��9�7� ���768

α
���9

Y (ω) = X(ω)ejαω
����� �
386�

y(t) = x(t + α) .

�����A �

�� ��7� �� �0 �� �68
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3�84 �� �4�75 � ���� 3� �4 �� �� �5 ����� 67 � ����4� � �7 �� �76 � ���!�� �5�� ���4 �0 � �9��
����� � �1�� �� ��� � 34��� !7 �� �� ���4 �7��� �� �� �� 67 � 3�45 �� 67 
� �4���9

��
� �� � �� � �
����� � �� �� �� �14� ���5� ����� ��� �1��6 
�� �� �� ������ � 9�7 ��� ���9�6 � �4��4�9� �4�7 1�44
@���6� � �� �� ����9� ���5� ����� ��0 ���96 ��� �1��6 ����9�6 �7� 386� �


0− 20KHz
� 9�7�

���� � ���6 � ��� �8��� �7� ��4� 4�� ���� 7 � �� 4!� ����6� 6! ���6 ��8 ����6 ���� ����� � ��� 4!� �
67 ����� ���� ���! ���� 9�7 ���6 � ����� 6!� ����6 ������ �7� �4� 4� �6!� ����6

λ =
c

ν
=

300, 000

20, 000

km/sec

1/sec
= 15km .


��B �� �
��44 ��� �� �� ���1 ���� 9�7� � �1�� �� �� � �8 ��4 � ���� ����6 �� �79� �4� 4� 6��7� � ��� �9�
�����76 � �6� ���� � ����� ������ ���! ���� 
�� 4!� ����6� � ��� 69

x
����� � ��� �� 7 ��6�6 386

����4�� 
����� � �0�1 � �� �
3000MHz = 3GHz

�9
500KHz = 0.5MHz

@� �� � ��� 4!� ����6� � �6!
��� �� � �� ��! � ��� 4!� ����6� � ���� ����4 �� ��9�6 ��8 �7��� ���47 �58�

5.5MHz
��� �9 9�!�

�0 �� �7� �
AM—Amplitude Modulation

@@@���� �65�� 3�45 �� ����4 �� ��� �� �75� 3�45�� �� �7
7�1 � �� 6��4@@@����� � ��� �� �� � �6 �58� �

cos(ω0t)
1�44 2

ω0
@� 3��47 ���� � �� � ��� ���

y(t) = x(t) cos(ω0t) .

��B �� �
�5�4 386� �

20KHz
���� �9 �� �9�7� 6��! 69� � �� �0� �9�7 ��� 38� � ��

x
�� ���7 4 7�1� � ��� ��

����6��4��� �4�8� �
( 5.4.15)

�56 2���7�� � ��6 ��� �5 ����� 9��4 �
ω � 20KHz

���9
X(ω) ≈ 0

�8
�����

F (x cos(ω0t)) (ω) =
1

2π
X(ω) ∗ F(cos(ω0t))(ω)


��B �" �
=

1

2π
X(ω) ∗ π (δ(ω − ω0) + δ(ω + ω0))


��B �: �
=

1

2
(X(ω − ω0) + X(ω + ω0)) .


��B �� �
���� �0� �

X(ω + ω0) = 0
��

X(ω − ω0) = 0
@7 �� ���68 ��5��� ��� ���� �1� ��156

ω
686 ��

�8
ωB

� ��� �8 38 �� 1�44 �
X(ω)

67 ����� �� � ���� � �9��� �4� 29��� � �7 �4���� �67 ����� �� �� 4��
�
ω0 > ωB

� ���� �7 �4� 6!� ��� � �|ω| > ωB
���9

X(ω) = 0
@7

�� �� � ��� �� �� �9 �
cos

� �� �� ��� � �7 ���7�� � ��� �� 6�584
Demodulation

���� �� �0176 ��8
�
� ���� ��!�� � ��� �� ���9�6 3� �4 ���� 387 �9��� � �� ��9 68 ���71 �4�� ���� �65��� � �0�5

6��4 �
z
@� �01 �7�� � ��� �� 3��4

z(t) = y(t) cos(ω0t)

��B �B �

Z(ω) =
1

2
[Y (ω − ω0) + Y (ω + ω0)]


��B �� �
=

1

2
X(ω) +

1

4
X(ω − 2ω0) +

1

4
X(ω + 2ω0) .


��B � �
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� ���!�� � �� �5
3�9�! 67 ����5 ����� �7� ����6��4�� �8�9� �4�4 �� ��� ���� � ��61� �� � ��06 �0 �46 �� �47 68

������
H(ω)

����6��4���

H(ω) =











2 |ω| < ωB

0 |ω| > ωB .


��B �A �

����� 6��4 �0 �8�9�6
z

�� � �484 �� �� �8 ��4 ���9� 34�� ���68

Z(ω)H(ω) = X(ω) .

��B ��C �

�� �� �7 ����6 ����� ��4�7 �9 �1� ������ � ��� �� �67 �� ��01 �7 �46�� ���68
�8�9� �9 �67 �� �0�5 � ��� � ��� � ���� ���� ��017� �8�9�7 7 ���6 �7� �79� 35 ���7 3���8
67 3� ��6 �7�� � ����� �� �1 9�4�6 ��8 ��5�9� ��6! 69 ��� ���� ��01 �7 �8�9� ����6 3� �4 �3�45���
�8 � ���6 6� �0 ���� �� ��� ����1 � �� �7 �4� 69 �9��� �5� �� ��� 69 � ��� �� 0�0�6 ���� 7 � �����
�� 1�46 � ��75�� � 4�� �4����7 � �68� � � ���4�6 �8�9� �4�� �0 �6�� �� ��� �� �017 � �5�9� ��6!

��� �!�4��
����� � �� ��

�9�� ������ � ��! ���� �� ��� 4!� ����6� � �� �� ��! 69 9�7 ��� �� ��76 ���8 �4�6�! ����� � �9��
� ���� 6�� �4 ��� 69 ��0 ��� �� �6��! 9��� � ��8 ���9�6 �4� 69 � �4�7 � ����� 6�9 � 7 �� �7 � �� ���
�����7 ���9�6 �6�9� 68� �7�7� �0 �� �7 �

FDM: Frequency Division Multiplexing
�� �7� � �4�7

���� 3��4 ���76 � �4��4�9� �4� ���� � �� �� �7 �67 �46 7 �7 1�44 �71�� �76 �� �9 � � �0��6� �����
���9

Xi(ω) = 0
� �����7 �8

ωB
� ��� �� �68 ����� � �6�!�� �6�87 � ��75 �76 1�44 �

x1, x2, x3
@�

� ���� �7 �8
ωi

�1�4 �|ω| > ωB

ωB < ω1

��B ��� �

ω1 + 2ωB < ω2

��B ��� �

ω2 + 2ωB < ω3 .

��B ��" �
��� ���7 47 � ��� � ��7 �6����7 ���� ���14� � ����� ����

cos
@� �� �48� � �� ��� �1� 68 6�584

y(t) = x1(t) cos ω1t + x2(t) cos ω2t + x3(t) cos ω3t .

��B ��: �

6��4 
����5 ����� � ���� � �1��

Y (ω) =
1

2

[

X1(ω − ω1) + X1(ω + ω1) + X2(ω − ω2) + X2(ω + ω2) + X3(ω − ω3) + X3(ω + ω3)
]

.


��B ��� �

��7 ��� � �5�51 � �7 3�� �8 � ���6 6� �3�45�� ���� 3�� � ��7��� 
��� �1�� �
xi

69 �4���7 ��4�� 66!�
�� �3�7��� � ��� �� ��!��6 �017 4 ���0176 3� �4 �8�56� �� �4�7� � �� ��� 67 ������� 3�� 
����
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� �5� �� ��� �5
2��� ���9� 34�� ��� �6�1� ���94 


y
���7 � �6�4� � ���

H1(ω) =











1 |ω − ω1| ≤ ωB

0 otherwise.


��B ��B �

����� 6��4 �0 34���
Y

�6�4� � ��� �� ���94 ��

Y (ω)H1(ω) =
1

2
[X1(ω − ω1) + X1(ω + ω1)] .


��B ��� �
���94�

cos ω1t
@� 6�584 �3�45��� �4� �7�8 ����� � �9�� ��0 �4�79 2

x1
�� �0176 � �9��� �4� 3�8�

�
ωB

@6 �1�� � ���� �� ���9��
H

� �8 �� 4 � ��9� 34���
68� ��67� ��� ���� 08��� � �� 68 �7�8 �� �� �� �5�� � �4�0 �� ���9�6 ��75�� �46���7 �8�9��
���0176 ��� � 3� �4 �8 �� �� ��� 3�� � �5 �51 �4���� �67 �8 �7��7� ��� �� ���� �1��� 6�!�� � ��
� ��7�7��

20KHz
@8 � �� ��67 ���� �1�� �7� �9�7 ��� �� � ���7� �4� �� ��71�� ����6 ��

���9� ��75�� 
� ���� �47 3��
2ωB

67 1���� � ���5�� �7 ���7 ���
1.5GHz−2.5GHz

3��7 � �1��
67 


KHz
@� ��7 �1� �

1, 000, 000

2 · 20 = 25, 000

��B �� �

�� �4�0 �� � �� ��

����
 ����� �����
� �� � ��
����� �7�8 �

t 6∈ [a, b]
686

f(t) = 0
@7 �8

[a, b]
6���� 4�� � ��� ���68 2�5�� ��� 7 �

f
���� 4�567 1�44

6�!� 4��� ��� ���!�� ��� �5

F (jω) =

∫ ∞

−∞
f(t)ejωt dt


��� �� �
����� �� ���!��

s
�8���� �4�7�� 67 �� �� �668 35 ���� �

jω
�4�7�� 67 � ���0! � ��� 4�5 � ��

F
�0�

38� � �6 ���5� � 

ω
@� � 6���� 4�� � �7 69 �5���6 �6�8 � � 4��

F
��5� � ���� �64� ���� 4�5 � �� 386 � 
�656

��5 �� ��� ��� �
F

@67
D� ��� ��0�5 D 3��6 3� 0� D� ��� ��0�5 D 3�� �1�� 69 9��� 6��6 3� �4 � ���5 ����� ��4�8� ��09�



5.3.5

�57� �
( 5.3.14)

����7� � ��� 3�0 �6�� ��4�7 �4�8�� �����

x(at)
F↔ 1

|a|X
(ω

a

)
��� �� �

δ
F↔ 1

���5� ����� ��0�5� �4���6 � ��!� 
6��!
a

���1� ��� 69 � 3�0� ��0�5� �6�!� �8 � �� �� �4�
08 ���� � �� � ��6� ����� �� ����� � �1� 68 69 ���1� ����� �0�5� 3�0� �� ��� 08 ���� � ��� ���68
3� ��67 ��0�5�7 � �� �� � �� ��� ��� 2� �� �6�7� �3�0� ��� 68 �45 69 �0�5� ��� � 1�8�� ���� ����
� �� ���7��7 �4��� ���0�5� ���!�� � ��6� ���7��7 3� ��8 ��� ����7 35��� 3�� � �� ���� 3� � 3� 0�

�� �� 67 ��0�5 67 ��� ��8 ���!� ��� 69 6��4 �4�7 9��� �� �� ��� 67 ���� 69 � �6� �7 �� ��6�67
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� �5� �� ��� �5
���� ��� �� ������ ����� ����� � �� � �

��� 69 ��!�� � �� �3�0� ��0�56 ���8
∆t

3� 0� �� ���5� �1�� ���!�6 
���0�5�� � ���4�� 6����

(∆t)2 =

∫∞
−∞ t2|x(t)|2 dt
∫∞
−∞ |x(t)|2 dt

.

��� �" �

��� 69
∆ω

���� �� ���5�� ���� �1�� �� �� �����

(∆ω)2 =

∫∞
−∞ ω2|X(ω)|2 dω
∫∞
−∞ |X(ω)|2 dω

.

��� �: �

α
��768 9���� � ��� �� 6�584 �� 2��!�� ��6� �4�� ��0�5�7 �86 ���� 
�48�� � 6����4� �8 �6 � �7 4

��4�7 � �6 �� ���5�� ���� �1��
��� 69 3�0� 9����� �� ���!4 67�6 �9����6 �1�� ��0�5� �� � ����!� � �� �96

x =

∫ ∞

−∞
x(t) dt .


��� �� �
�� � 69 �98 ��!�� 3�0� �� ���5�� ���� �1��

(∆t)2 =

∫∞
−∞ t2|x(t) − x|2 dt
∫∞
−∞ |x(t)|2 dt

.

��� �B �
�4� �� ����� �4�1�� �� �� ����� ����7 3���8 �9� ���6 �1�� ���� ��� �1�� ���!�6 3� �4 �� �� �����

�� ������ ���!�� �9 ��7 4� 9������ �69� 4
����	 �
��	 �
 �����

x ∈ L2
��
	 �


5.7.1
>-/�

lim
|t|→∞

[√
t x(t)

]

= 0

��� �� �



x(t) = e−αt2 ���� ���� �������

∆t · ∆ω ≥ 1/2
��


�8 �38 �� ��0 �794 ���768 9����
x

�� 6�584 �� �4�7� �4�� ������ �6�96 �4�9�7 �58 2<�%
<
� �� 	���7 @�7 �� 3����7 ��

L2
@� � �� ��6 �||x||2 = 1

6��47
∣

∣

∣

∣

∫ ∞

−∞
z(t)y(t) dt

∣

∣

∣

∣

2

≤
∣

∣

∣

∣

∫ ∞

−∞
|z(t)|2 dt

∣

∣

∣

∣

∣

∣

∣

∣

∫ ∞

−∞
|y(t)|2 dt

∣

∣

∣

∣

.

��� � �
������ 6����5 �57�� � ! 7��7 4 ���768 9��� ���9

z(t) = αy(t)
�� ��� �� � ���� � 3����7 �7�8

2��0!4�
∫ ∞

−∞
|x(t)|2 dt =

1

2π

∫ ∞

−∞
|X(ω)|2 dω


��� �A �
∫ ∞

−∞

∣

∣

∣

∣

dx(t)

dt

∣

∣

∣

∣

2

dt =
1

2π

∫ ∞

−∞
|jωX(ω)|2 dω .


��� ��C �
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� �5� �� ��� �5
� ��61� ����!� 4��� 7 �� �7 � �� ���� ��7 �1� ��� 6��4

1/2
9���� ��

∫ ∞

−∞
tx(t)

dx

dt
dt =

1

2

∫ ∞

−∞
t
dx2(t)

dt
dt


��� ��� �

=
1

2
tx2(t)

∣

∣

∞

−∞
− 1

2

∫ ∞

−∞
|x(t)|2 dt


��� ��� �

= −1

2


��� ��" �
�
1

���7
x

67 ����4� � �� 6�!� 4���
x

69 �14�� 66!� � �6��!� �47� �5��� 3�7��� ��� ���7 3���8
�
y(t) = dx(t)/dt

@�
z(t) = tx(t)

�7�8 	���7 �7 �� 3����7 �� �� 6�954� ����� ��7 �1� 7��74 �98
(

1

2

)2

=

∣

∣

∣

∣

∫ ∞

−∞
tx(t)

dx

dt
dt

∣

∣

∣

∣

2
��� ��: �

≤
∫ ∞

−∞
t2|x(t)|2 dt

∫ ∞

−∞

∣

∣

∣

∣

dx

dt

∣

∣

∣

∣

2

dt

��� ��� �

� ���� � �4�����7� �47 �� 6��4 6����5��

=

∫ ∞

−∞
t2|x(t)|2 dt

1

2π

∫ ∞

−∞
|ωX(ω)|2 dt


��� ��B �

=

∫∞
−∞ t2|x(t)|2 dt
∫∞
−∞ |x(t)|2 dt

1
2π

∫∞
−∞ |ωX(ω)|2 dt

1
2π

∫∞
−∞ |X(ω)|2 dt


��� ��� �

= (∆t)2(∆ω)2 .

��� �� �

�7�8 � ����� 3����7
dx(t)

dt
= αtx(t)


��� ��A �
��

1

x(t)

dx(t)

dt
=

d ln[x(t)]

dt


��� ��C �

= αt

��� ��� �

x(t) = ce−αt2/2 .

��� ��� �

;( ;/ ;�
����� ���	� � �� ��

�� ��
B

���� ���� �� ��� ���� ���� ��� ���
n

��� �� ��� ������
x

�

5.7.2

>-/�
sup

t

∣

∣

∣

∣

dkx(t)

dtk

∣

∣

∣

∣

≤ B, 0 ≤ k ≤ n

��� ��" �

�� ��
B1

��� ���� �� ��� �|ω|−(n+1) ���� � ���� |ω| → ∞ ��
� ��
� ��
�� 	���� ����	 ��


lim
|ω|→∞

|ωn+1X(ω)| ≤ B1 .
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� ���

���� ��� ��

�47��7� �8 �9 �� ����46 � �8�9� 67 �����9 � �� D � �� �6� ��44�5��� ��� �8 �4���
5.1

� �9��
��7 ��� 6�5 ��� �!��� � ���4�5� ��8�@@@� �89 �� � �� ��6 � ���� ���� ����� � �1�� 1�� �46 �0 ����9�
��71 �68 �4� �4

Laplace transform
�656 ����� �� �668�� � �� ��� 7��7�6 �4�6�4� ��� ��9� ����

�� �� ������ ���7 � � ���� �1 �656 ����� ���5� �� �� �� 67 ��1� �157�� �� �� � �75 6�5 ��6
�� �6�!� � ��6� ��4�5�� � �� ��7�� 6�5��6 �68 � 4� �4 
D� ��6�!� 4�� � ������ � ���5 ���� D ����� � ��� �6

�� ����@��� ������ �6�1� � ��94 ��61�� ��4�� � ��71�� 66�8

����
 �� ��
� ����� � � �
�3� 0� � �9 ��� � � ����4�6 �� ���@�� �48 � �8�9� 1�� �46 � �71 �68 �7�7� ����� �� �656 �����

�����
s

�����	 	����	 �� ����� ���� ������
x

��
 �� �������� ���� ����	
6.1.1

<&.*<
∫ ∞

−∞
|x(t)|e−(<e s)t dt < ∞ .


B���� �

�	 	���		 �
�

X(s)
.
=

∫ ∞

−∞
x(t)e−st dt .


B���� �
	���		 �����

s
�� �����	 ���
 
�	 �

ROC: Region Of Converngence � � �����		 ���� �
 �	���		 ����
��� X

	���	�
x

��� ���	 �
 ���� 

( 6.1.1)

������	 �
 ������ ����� �� ��� �������

x
L↔ X , X(s) = L[x](s) .


B���" �

���� ���
 ������		 ���� ��� �� ���� �� ���� ����	 ��

x(t) ≡ 3

��
� �� �� ���� � ��
�
6.1.2

<�*
.
��� �	 � �
	 �� 	���	 �� �
 ���� 


s
���

x(t) = eatu(t)

B���: �

��



����� �� ����� �656

	����	 ������� 
�	

x
��
	

a = 0
	����	 ���� 
	����	 ������� 
�	

u
��
�

X(s) = L[x](s)

B���� �

=

∫ ∞

−∞
eatu(t)e−st dt


B���B �

=

∫ ∞

0
e−(s−a)t dt .


B���� �
	� � ���� 
	���	 �� ������		 ���� �	� ���� �<e (s − a) > 0

�
 ��� �
 ����� 	� ������


X(s) =
1

−(s − a)
e−(s−a)t

∣

∣

∣

∣

∞

t=0


B��� �

=
1

s − a
.


B���A �
������	 ���� ��

u(t)
L↔ 1/s

����� 
<e s > <e a
������	 ���� ��

eatu(t)
L↔ 1/(s − a)

�� ������

���� ���
� ����	 ����� �� �<e s = 0

����	 �
 ������ ����
 ������		 ����� �� �� ���� 
<e s > 0

-
<e s

6Im s

a ×
ROC

�4� � �6� ��44�5�� � ��6 � �� 48�� � �1� 2B�� ����

2�1� � �� 67 ����� �98 �714
��
�� ��
 ���� ���

6.1.3
<�*
.

x(t) = −eatu(−t) .

B����C �

	���		 ���

X(s) = −
∫ ∞

−∞
eatu(−t)e−st dt


B����� �

= −
∫ 0

−∞
e(a−s)t dt .


B����� �

s
���� �� 	� ����� 
<e (a − s) > 0

�
 ��� �
 ����� ������
	 ��� 
���� ������� ����� ����
t
	� 	����

X(s) =
−1

(a − s)
e(a−s)t

∣

∣

∣

∣

0

t=−∞


B����" �

=
1

s − a
.


B����: �

<e (s) < <e (a)


�	 �� 	���	 �� ����	 ����
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�
X(s) = 1/(s − a)

����4�5� � �� � ����� �47� �656 ����� �8 3� �4 6�96 � ���!��� ��7� ��7 �1�
9��� 6�686 �4�69 ������6 � �� 3�� ��1� �7� 69 ���76 ��8 �38� �3�� �616 � �4�7 � �� ���7 � ���6 ��0�

�� �� 48��� � �1� 69
���� ��	 � �
	 ���� 	���	 ����

6.1.4
<�*
.

x(t) = eatu(t) + ebtu(−t)

B����� �

�� 	����� 
��� � �����	 � �
����� ��� ����� 
������
b
��

a
��
�

X(s) =
1

s − a
− 1

s − b
,


B����B �
ROC = {<e (s) > a} ∩ {<e (s) < b} .


B����� �
	� ��� �� ��� 


a < <e (s) < b

�	 ����	 ���� ��
 ������ 	� �
�� �
 


a < b
�
 ��� �
 �� ��� 	���		 ���


	� � �
� ���� ����	 ��
 ��
 ������ ���
 �
��	 �
 
�����	 ������ ����


��� ���� �� ��� �� 	�� 
�	 �
 �������� �
���
X

	������
6.1.5

<&.*<

X(s) =
N(s)

D(s)


B���� �


D(s)

�� ����
	 �	
X(s)

�� �����	� �
N(s)

�� ����
	 �	
X(s)

���
 
������ ���� 
�� �� ��� � ����� ���


� �
�	 � �����	 �
 �� � �����		 �����
6.1.6

>-/�


jω

���� ������� ����� 
�	 � �����		 ���� ���� 
�

�
 
�

X(s) =
N(s)

D(s)


B����A �
��
 � ������� 	������ 
�	

X(s)
�� ����� ���� ���


ROC
�	 •

�	��� �� �� ��� ��� �	 ����	� 
�	
ROC

�	 ����� � � �������� •
�	�
��� �� ��� ��
��	 ����	� 
�	

ROC
�	 ����
�� ��������� •

���������	� ��� �
����� ���� 
�	 ���� ����� �
�� ��� �� ��� �� 
�	
ROC

�	 ������ �� � �������� •

�����	

�

s

�� 
�	 	���		 ���� ��
 �|t| > B
����

x(t) = 0
�� ��

B
���� �� ��� ����� ��� ��� 
�	

x(t)
�
 
�



s

�



��
�� ����� ���������
�� 	������� 
��� � � ���� ��� 
�	 	���		 ���� ����� � � �������� 
�
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�
s

67 ������ �61� ��6� �4�� � �� �� ��48��� � �1� ���!� �56 2<�%
<
�
s1 < s2

1�44 �� ��7�� ���477 1�4�6 68�4 ����� � �9�� 66!�� ����48��� � �1�� ��
s2

� !�
s1

@7 1�44
�
t
686 �38� � �� �� 48��� � �1�� � ��

s
� ! �0�

s1 < s < s2
�� �8 ���4

e−st < e−s1t + e−s2t .

B����C �

�8 9��4 3�8�
∫ ∞

−∞
|x(t)|s−st dt ≤

∫ ∞

−∞
|x(t)|s−s1t dt +

∫ ∞

−∞
|x(t)|s−s2t dt < ∞
B����� �

3����7� ��� � 
� ��� � �1� � �� ���68 � ��7� � �� � �� 48��� � �1� ���68 �� �� 48��� � �1�� � ��
s

386�
�4��

X(s)
67 6��!� �� ��6 ���� 387 �� �� 48��� � �1�� �� �� 38� � �67 9� �4

( 6.1.21)
@� �6��7�

�� ��1
s1 < s2

���9 � �����
t ≥ 0

���97 3���8

e−s1t ≥ e−s2t ,

B����� �

�8 9��4
∫ ∞

0
|x(t)|s−s1t dt >

∫ ∞

0
|x(t)|s−s2t dt


B����" �
���48��� � �1� 67 �6��7� 6��!� ��� ��� ���!� �56 �� �7 �� ��1 ��� �4� � � ��6 � �� 48��� � �1� 386�
�6��7 ���6 � �� 48��� � �1� �8 ���4 �� �� ����� ��� ��� �4� �� �� ��� ���68@@@3�7��� �� ��� � ��

��6��7 � �6��7� �� ���� � ��
���� �9���� �64���� � ��6 ��9��� �668 35��� ��� � �� 48��� � �1�7

( 6.1.21)
@� � �� 4 ���� �� ���

�� ���� !�0 3��
�� �714� � �� 48��� � �1�� ���4� � ��768

s0
9��4 �

[−B,B]
� �1�� 68��� �5 �� ���

x(t)
@67 1�44

�� �� 48��� � �1�� ���4
s 6= s0

@7 ��4��
∫ ∞

−∞
|x(t)|e−st dt =

∫ B

−B
|x(t)|e−st dt


B����: �

=

∫ B

−B
|x(t)|e−s0te(s0−s)t dt


B����� �

≤
∫ B

−B
|x(t)|e−s0t dt

[

e(s0−s)B + e−(s0−s)B
]

.

B����B �
� ! �8 �0� � �� 48��� � �1��

s0
��7 9��4 ��5 �� ���� � �� � �9���� � ���!��� 3��1�� ��� ���7 3���8�

;( ;/ ;� �
s
�� ��

s
68 ��� � �� 48��� � �1�7 �46���

s0
686 �4�84 �0 �����7 3���8 �

s

	���� 
�	� 	������
ui

�� ���� 
<e a > <e b > <e c
��� ����

a, b, c
�������	 ��� ���	 �� ����

6.1.7
()*&$

�� ������		 ���� �
 ����� ���� ����	 �
 ��� 

u(−t)

�
 �
u(t) �

x(t) = eatu1(t) + ebtu2(t) + ectu3(t)

B����� �


� ����	 �����	 ����
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�� ��� �� ��
��� 	���� 
�	 	���		

6.1.8
>-/�

αx + βy
L↔ αX + βY


B���� �


ROCx ∩ ROCy

�
 ����� ���� ����	 � ��� �

;( ;/ ;� �6�!� 4��� � ����4�6� � ����� 9��4 2<�%
<
�0� �

α = 1 = −β
@� ��768

x = y
�1�4 ��!��6 ��� �� 6��! � ���6 6�8 � � ���� � �1� �8 7 �!��6 ��71

�
s

686 ����� 7 � �0 � ��6�
αx + βy = 0



ROCx ∩ ROCy

�
 ����� ���� � �����		 ���� 

x ∗ y

L↔ X(s)Y (s) 6.1.9
>-/�

�����6��4��� � ������ ���!� �56 2<�%
<

L(x ∗ y)(s) =

∫ ∞

−∞

[
∫ ∞

−∞
x(τ)y(t − τ) dτ

]

e−st dt

B����A �

=

∫ ∞

−∞
x(τ)

[
∫ ∞

−∞
y(t − τ)e−st dt

]

dτ

B���"C �

=

∫ ∞

−∞
x(τ)

[
∫ ∞

−∞
y(t − τ)e−s(t−τ) dt

]

e−sτ dτ

B���" � �

=

∫ ∞

−∞
x(τ)e−sτ

[
∫ ∞

−∞
y(u)e−su du

]

dτ

B���" � �

=

∫ ∞

−∞
x(τ)e−sτ dτ Y (s)


B���"" �

= X(s)Y (s) .

B���": �

;( ;/ ;� �� ������ ��7 67 � ��48��� � �1�� ���4
s

�� 3���8 ��� ��7 �1�
��� �� 6��! � ���6 6�8 � � �� 48��� � �1� 3�8 � !

� �� � 00�� ��6� 67 �656 �����

L[δ(t − a)](s) =

∫ ∞

−∞
e−stδ(t − a) dt = e−sa .


B���"� �
�� 00�� ��6� �9 ��� �6��4�� ��� � ��7� !���6 3� �4 �8 �804



X

�� ��� 
�	 � �����		 ���� �
x(t − a)

L↔ e−saX(s) 6.1.10
>-/�

2<�%
<

L[x(t − a)](s) = L[(x(t) ∗ δ(t − a)](s) = X(s)e−sa .

B���"B �
�
s

68 � ��
δ

67 � �� 48��� � �1� 387 ����� �57�� 66!� ��4�7 �66 � �� �� ��48��� � �1�6 �7��
;( ;/ ;�

�T
����� ����� ���� �� 	���	 ����

6.1.11
<�*
.

x(t) =











1 0 < t < T

0
���



B���"� �
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	���		 �� 	���		 ��� 


x(t) = u(t) − u(t − T )
��� �� � �
	 �
 ���� �� ��

L[x](s) = L[u(t) − u(t − T )](s)

B���" �

=
1

s
− 1

s
e−sT
B���"A �

=
1

s

(

1 − e−sT
)

.

B���:C �

��� �44�5���� 658��� � �� 67 ������

L[eatx(t)](s) =

∫ ∞

−∞
x(t)eate−st dt


B���: � �

=

∫ ∞

−∞
x(t)e−(s−a)t dt


B���: � �

= X(s − a) ,

B���:" �

�
s − a ∈ ROCx

��� ��!�� � �� 48��� � �1� �
��
 ������		 �����

s
����

lim|t|→∞ x(t)e−st = 0
�


6.1.12
>-/�

dx

dt

L↔ sX(s) .

B���:: �

��

0 ≤ k < n

���
lim|t|→∞ x(k)(t)e−st = 0

�
 ��� �� ���� ���
�

dnx

dtn
L↔ snX(s) .


B���:� �
�� 	��
�	 �� � ���� �
��	 �
 � �� ���� ��
�

x
�� ������		 ������

s
������	 �� �
 ���� � �����		 ����


���
� ��� ������
x

2� ��61� ����!� 4�� 2<�%
< �

L
[

dx

dt

]

=

∫ ∞

−∞
e−stẋ(t) dt


B���:B �

= x(t)e−st
∣

∣

∞

−∞
+

∫ ∞

−∞
se−stx(t) dt


B���:� �

= 0 + sX(s)

B���: �

;( ;/ ;� ��47� ��� ��� �� 6��4 �� �� ����� ��14�� 66!�
������� 
� ������
 �� 	���	

6.1.13
>-/�

∫ t

−∞
x(τ) dτ

L↔ X(s)

s


B���:A �

�	 � �����		 ���� �

ROCx ∩ {<e (s) > 0} .

B����C �
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����5 ����� ���9 �4�797 �58 2<�%
<

L
[
∫ t

−∞
x(τ) dτ

]

(s) = L[x ∗ u](s)

B����� �

= X(s)
1

s
.


B����� �
;( ;/ ;�

�s
	����� 	����

6.1.14
>-/�

−tx(t)
L↔ d

ds
X(s) .


B����" �

2<�%
<
∫ ∞

−∞
−tx(t)e−st dt =

∫ ∞

−∞

d

ds
x(t)e−st dt


B����: �

=
d

ds

∫ ∞

−∞
x(t)e−st dt


B����� �

=
d

ds
X(s) .


B����B �
;( ;/ ;�



teatu(t)

�� 	���		 �
 ����
6.1.15

<�*
.

L
[

teatu(t)
]

= − d

ds

[

1

s − a

]
B����� �

=
1

(s − a)2
,<e (s) > a .


B���� �
���� 	� �� 	����

tkeatu(t)
L↔ k!

(s − a)k+1
<e (s) > a ,


B����A �

tkeatu(−t)
L↔ −k!

(s − a)k+1
<e (s) < a .


B���BC �

����
α

���� �	��� �����
6.1.16

>-/�

x(αt)
L↔ 1

|α|X
( s

α

) s

α
∈ ROCx .


B���B � �
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2<�%
<

X
( s

α

)

=

∫ ∞

−∞
x(t)e−

s
α

t dt

B���B � �

= |α|
∫ ∞

−∞
x(ατ)e−sτ dτ


B���B" �

= |α|L[x(αt)](s) .

B���B: �

;( ;/ ;�

�� �
� ����� � ��
� �1� 69 9��� 66�8 � ������ 3��6 � ��� 3�� �8�9 �1 �1 �7� 7 � ���� �5 ����� 67 ������� ��8
�� �0176 �4� 69 
� ����� � �1 �� �5 ����6�� � � ��� 9���� 7��7�6 68�4 668 ���� 386 �
���48���
�8�5�� ������ �� �716 ���8 ���4 �0 � �9�� �� ��67 � ��48��� � �1� � �656 ����� � ��� � ���

�� �8�� �5���
����� ����� ����
 � �� � �

�7��� ��61 67 � �8�8
s = σ+ jω

�8���� �4�7�� �� 3��4 �
X(s)

�656 ����� 7 �
x(t)

���67 1�44
����48��� � �1��

σ
���9

( 6.1.1)
������ 67 ���!�� �56 ��� ���� ��61�

X(σ + jω) =

∫ ∞

−∞
x(t)e−σte−jωt dt .


B���� �
@7 � �7�

L1
@� � �� � ��

e−(σt)x(t)
�8 �6 � �7 4 �

e−(σt)x(t)
67 ����5 ����� ����� �� �0

∫ ∞

−∞

∣

∣

∣
e−(σt)x(t)

∣

∣

∣
dt =

∫ ∞

−∞
|x(t)|e−<e (st) dt < ∞
B���� �

3� �4 
� �� ���� � ��48� � �� 4�� � �8 �� ��656 ����� 7 �
x
@6 �8 ����9�� 9� �4 3��1�� 3����7� �7�8

67 � �� 48��� � �1��
σ

67 ��768 ��9 9��4 ����� ����� ��8�5�� � �� �5 ����� �1� �4� 7��7�6
�714� �656 �����

1

2πj

∫ σ+j∞

σ−j∞
X(s)est ds =

1

2πj

∫ ∞

−∞
X(σ + jω)eσtejωt jdω


B���" �

= eσt 1

2π

∫ ∞

−∞
X(σ + jω)ejωt dω

= eσtF−1[X(σ + jω](t)

B���: �

6�� �9 ��� � ��
σ

�8�5�� ������ �7�8

X(σ + jω) = F [e−σtx(t)]

B���� �
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386�

e−σtx(t) = F−1[X(σ + jω)]

B���B �

x(t) = eσtF−1[X(σ + jω)]

B���� �

= eσt 1

2π

∫ ∞

−∞
X(σ + jω)ejωt dω .


B��� �
�� �� 48��� � �1�� ����7 �8 ��1�6 �4�69

σ
�� �7�8 ��8�5� �����6 �1� �4 �46 3� �4 3��1�� 3�����7�

�8�5�� ������ �1� �4 �� 6��4
( 6.2.4)

@@
( 6.2.3)

� �� ��7� � �0 3����7�

x(t) =
1

2πj

∫ σ+j∞

σ−j∞
X(s)est ds


B���A �

�� �� ���� � �� 4� �1� � �� �5��� � ����4� � ����� 3����7� ���� �5 ����� ����� ��5� �4���7 �58 ��7�8
��� �5 ����� ���9 6�!� 4��� �1� �4 �� 6�95�6 3� �4 38�7 ���6 7 � �0 �1� �4� 7��7�6 �4� 69

��8�5��
� ����� � ���	� � ���� � �� ��

������ ���68 ���64���� � ��� 4�5 � �� ������ � ��� � �����

X(s) =
bMsM + bM−1s

M−1 + . . . + b1s + b0

sN + aN−1sN−1 + . . . + a1s + a0
.


B����C �
����� �0 �� ��7� � �7�6 �75�

M ≥ N
��

X(s) = CM−NsM−N + CM−N−1s
M−N−1 + . . . + C1s + C0 +

b̃N−1s
N−1 + b̃N−2s

N−2 + . . . + b̃1s + b̃0

sN + aN−1sN−1 + . . . + a1s + a0
.


B����� �

� ����!6 ��7� �� ��54 �
�8�5�� ������ 67 � ! 386� � ������ 67 � ����4�6� 7��7�6 68�4 �98
������

Csl

(s − λi)k

B����� �

�� ���� � ��� �9� 7��74� 

X

67 � ����� �� ��48�� ��5� ��
λi

@� �7�8 �

L−1

(

1

(s − λi)k

)

=











1
(k−1)! t

k−1eλitu(t)
�4� � � ��

−1
(k−1)! t

k−1eλitu(−t)
�6��7 � ��
B����" �

L−1 (1) = δ(t) .

B����: �

L−1 (sZ(s)) =
d

dt
z(t) .


B����� �
�� �64���� � ��� 4�5 68 67 �8�5�� ������ �� ����6 68�4 �0 �� �7�
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����� ������� �
���	 ��� �� ������ ������ ����

6.2.1
<�*
.

s2 + as + b

(s − λ1)2(s − λ2)
=

c1

(s − λ1)2
+

c2

(s − λ1)
+

c3

s − λ2
.


B����B �
�����

(s − λ1)
2(s − λ2)

����� 	��� ����� ����� ��� � �� �


s2 + as + b

(s − λ1)2(s − λ2)
=

c1(s − λ2) + c2(s − λ1)(s − λ2) + c3(s − λ1)
2

(s − λ1)2(s − λ2)


B����� �

(s − λ1)
2(s − λ2)

�� ����
	 ��� �
 ����� 
	
�	 	���� �
� ������	 �
 ���� ������ �
���	 ��� �� �
�� �
�����

s2 + as + b = c1(s − λ2) + c2(s − λ1)(s − λ2) + c3(s − λ1)
2 .


B���� �
����

s = λ1
���� �
 ���

λ2
1 + aλ1 + b = c1(λ1 − λ2)


B����A �

c1
�
 ���� �
�� 
����
�� ������
	 ����
	 ���� �����

c1 =
λ2

1 + aλ1 + b

λ1 − λ2
.


B����C �
�����

( 6.2.18)
��

s = λ2
���� ���

λ2
2 + aλ2 + b = c3(λ2 − λ1)

2
B����� �
��� 
����
�� �����
�	 ����
	 ��� ���� �����

c3 =
λ2

2 + aλ2 + b

(λ2 − λ1)2
.


B����� �
���	 �
 �����

( 6.2.18)
�� ���	� �������� ������ ����	� �� ��� ���
 
�� �� ��� �����

c2
�� �����	

�s
��� 	
����	 �
 ����� ���	� ����� �
 �

( 6.2.18)
�� ��� 	����� ����� �� �� 	��� 
���	

d

ds
[s2 + as + b] =

d

ds
[c1(s − λ2) + c2(s − λ1)(s − λ2) + c3(s − λ1)

2]

B����" �

2s + a = c1 + c2(s − λ2 + s − λ1) + 2c3(s − λ1)

B����: �

�����
s = λ1

���� ���

2λ1 + a = c1 + c2(λ1 − λ2)

B����� �

��� 
����
�� ����
	 �
�� �����

c2 =
2λ1 + a − c1

λ1 − λ2
.


B����B �
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�����

( 6.2.18)
�� ������ ����	� ���� �	���� 	����

c3 + c2 = 1

B����� �

−c32λ1 − c2(λ1 + λ2) + c1 = a

B���� �

c3λ
2
1 + c2λ1λ2 − λ2c1 = b .


B����A �


c1, c2, c3

��� ���	 �
 ���� �� � ��
��� � �
���� ������
	���		 �
 ���� ��� 	����� � �����		 ���� �� ����� ����� �
�� 
������ ������ ����� ������


	���		
	����	 	���� ���� �� ����

s2 + as + b

(s − λ1)2(s − λ2)
=

d1s + d2

(s − λ1)2
+

32

(s − λ2)
.


B���"C �

� �� ������ ������ � ����	 ���

9��6 7 � ��0 � �9� �6�1�� ��8 �� �7�� ����� �� �7� � ���61 � ���76 � ���5 9��6 3� �4 �668 35���
�67� ��48�� �!��� �6��! �4�� �4��� �!�� �� � ��� 4�5� 67 �61 ����6 ��8

( 6.2.11)
@� ��8 � �6�1

���� �57�� 7��7�6� ������4�� ����6 � �64����� ���� 4�5� �� ����6 7 � �47
	���� �������� 	������ 	���� 
������ ������ �����

6.2.2
>-/�

X(s) =
bMsM + bM−1s

M−1 + . . . + b1s + b0

(s − λ1)k1 · (s − λk2

2 ) · · · (s − λp)kp


B���" � �

�	

kn ≥ 1
�� �	���	 ���� �	

λn
�
M ≤ k1 + . . . + kp

�� ��� � 	���	 ����� 	���� 	��
 	���	 ����� ��
�	
�	 	����

X(s)
�
 ����� ���� 
�

λn
����	 �� �����	

X(s) =

p
∑

n=1

kn
∑

k=1

Ank

(s − λn)k

B���" � �

��� �� ������
Ank

������	 ��
�

Ank =
1

(kn − k)!

[

dkn−k

dskn−k

[

(s − λn)knX(s)
]

]

s=λn

.

B���"" �

�� �9 �� � � �4�8�� 7��7�6 ��7 0� � ����64���� � ���� 4�5 ��09� � ��8��� � ����� !���6 3� �4 � �� �96
��!��6

�� 	���	 	���	 ����
6.2.3

<�*
.

X(s) =
1

1 − e−sT


B���": �
�����

X(s)
�
 ����� ���
 ��� 
|e−sT | < 1

������ 	� ����� 

T > 0

�� <e s > 0

�	 � �����		 ���� ��
�

�����	 ���� ��� ��

1

1 − e−sT
= 1 + e−sT + e−2sT + . . .
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����� ���
 ���
 	���	 	���	 ���� � ���
���	 ����

x(t) = δ(t) + δ(t − T ) + δ(t − 2T ) + . . . =

∞
∑

k=0

δ(t − kT ) .

B���"B �


�����	 ����� 
��� 	� ��


������� ��
� � ��
�� �8�9� 1�� �46 � ���� �� �656 ����� �7 �� �7� 3��4 � 0 � �9��

�0� ��D�� ��� 69 ��� ���� �8�9�6
x(t) = est �6� ��44�5��� � �� � �484 �� �8 �4���

5.1
� �9��

��� � �57� �7� �
H

@6 9�!�6 �4�7 ��� �98 ���4 �
H

���9 ��� �� �46��� ��� �
H(s)est ���� ���!��

�D�� ��� 69 ��� ���� �8�9�6 �� �48 � �� � ��
x

�8 38 �� 1�44 ��0 � ���4�5 � ��� 69 7�1
N
∑

n=0

an
dny(t)

dtn
=

M
∑

m=0

bm
dmx(t)

dtm

B�" �� �

�8 ����9� 7��74� �����7�� ���� �476 �656 ����� 9��4 �
y

��� ����� �7�

L
[

dn

dtn
x

]

(s) = snX(s)

B�" �� �

6��4�
N
∑

n=0

ansnY (s) =

M
∑

m=0

bmsmX(s)

B�" �" �

Y (s)
N
∑

n=0

ansn = X(s)
M
∑

m=0

bmsm
B�" �: �

Y (s)

X(s)
=

∑M
m=0 bmsm

∑N
n=0 ansn

.

B�" �� �
�� �48 3�� �7�� �� ���� � �� 2�8�9�� 67 ������� � ���� 4�5 ���4

H(s) = Y (s)/X(s)
��� ���

67 �6�6 ���!�� 67 �656 ����� � ��
H(s)

��� ��� �L(δ) = 1
@7 3���8 ���5� ��656 ��7 ��� �� ����

��8�9��
������� ���� �� ����� �

M ≤ N
�
 ��� �


BIBO
	���� 
�	 ���� ��� �� ��
���	 �����

6.3.1
>-/�


��� ����� ���� ��� ���� �	 ������	
���� ���� ���
 	���	 ��� �
 ��� �


BIBO
	���� 
�	 �������� ������ ������� ��� �� ��
���	 �����


��� ����� ���� ��� ���� �	 ������	 ������� ���� �� ����� � 	���	

���!�� 387 ��8�9�� 67 �� �� �4�� ������7 ���!� ��48�� �4�� 3�� � ��� �� 7 � �� �8 �6 � �7 6 � �71
��7 �5��� ���� ���� 4�5� �0� � ��� �� 7 � �� �����1 �4�� � ��� 4�5� ����� �7�

s
67 ��9 � �� �� ��
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�0 �8 �4��� ��8� ���6� 67 ���0!4 �66�8 �6�� ���!� �0�

M > N
�� �

( 6.2.11)
����5� �804 2<�%
<

�6�� ���!� �� ��� ��
BIBO

����� � �� �8�9� �8 �804 �
M ≤ N

@7 38 �� 1�44 ����� � �8�9� �4��
�6�� ���!� �8 6��4 � ���61 � ���76 � ���5 ��� 69 386� �� �64���� � ��

H(s)
3�8 6�� �� �6���!� 4�� � ��

������ � �� �� 67 � �8� � ��

Ctkeλitu(t) .

B�" �B �
� �89 �� � �� 44�5���� 68 �� ��� �� ��6���!� 4�� �6�� ���!� 386 �

H
67 � ����� 3�

λi
� �� 01�

;( ;/ ;� ���0 �47� �61� �18�� �<e λi < 0
�7�8 � ���� ��� � �0� �

t → ∞ �7�8
������ ��� �� � ���� � �� � �

���!6� � �� �� ���� �� �48 3�� �7��7 3���8 �� �8�9� 67 � �� �� �1 1�46 1 �4 �68 �46 � 4� �4 �656 �����

Y (s) = H(s)X(s)

B�" �� �

�� ��8��� � �� �� �1 � ! 1�46 � ��1� 6�

�����	 �����	 ��� �� �
��� ���� � ����� �����

6.3.2
<�*
.

-
yH1 H2-x -z

���� � �8�9� ����1 2B�� ����

�� ���� ����

Z(s) = H2(s)Y (s)

B�" � �

= H2(s)H1(s)X(s)

B�" �A �


�	 �����	 �����	 �� ������	 ������� ����

H(s) = H2(s)H1(s) .

B�" ��C �
���

H2
��

H1
�� �����	 ��� ���� �
 ��� �


BIBO
	����

H
�����	 �����	 ��

6.3.1
����� ���� �����

�
 ���� 
<e (si) < 0
��� ���� �����	 ��
 ���
 �� �������� ���
 ��
 ����� �� �
� ������	 ��� �����

�����	 ���
 � �� ���� ����� ���� �
� 	���	 ��� ���� �
 � 	���� 	��
 ������	� ��
 �� ��� � ���	� �� ��

	���� �����	


�����	 �����	 ��� �� �
��� ������ � ����� �����
6.3.3

<�*
.
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-x

-

-

H1

H2 -
y1

-
y2

-
y��
��
+

6����� � �8�9� ��� �1 2B�" � ���


�����	 ������	 ������� �
 ����

Y (s) = Y1(s) + Y2(s)

B�" ��� �

= H1(s)X(s) + H2(s)X(s)

B�" ��� �

= (H1(s) + H2(s))X(s)

B�" ��" �



H(s) = H1(s) + H2(s)


�	 �����	 �����	 �� ������	 ������� ����

�����8 ���6 �46�8 � �6 �8 �9 �7� �8�9� 1�44 �� ���6

�����	 �����	 ��� �� ��
��� ���� �����

6.3.4
<�*
.

-��
��
+

x

6

�

-

H1

H2 -
y

� ?

� �7� ����1 2B�: ����

�����	 ������	 ������� 

H1(s) = −1

�� ���� ������ 	���� � ��� 
�	 �� ��� ����	 	���	 �����
�� ������

Y (s) = H2(s)[X(s) + H1(s)Y (s)]

B�" ��: �

= H2(s)X(s) + H2(s)H1(s)Y (s)

B�" ��� �

Y (s)[1 − H2(s)H1(s)] = H2(s)X(s)

B�" ��B �

Y (s) =
H2(s)

1 − H2(s)H1(s)
X(s)


B�" ��� �

Version 1.1
 :

September 2006



� �8�9� � �656 �656
����	 	���� �����	 ����� ����� �
 ������

H(s) =
H2(s)

1 − H2(s)H1(s)


B�" �� �
����� 	���� � ��� ���� �

H(s) =
H2(s)

1 + H2(s)
.


B�" ��A �
�� ��� �� �������� �	 ������	 � �������� ����

H1(s) =
N1(s)

D1(s)


B�" ��C �

H2(s) =
N2(s)

D2(s)


B�" ��� �
��
 


s
�� ��� ������ �	

Ni(s),Di(s)
��
�

H(s) =
H2(s)

1 − H2(s)H1(s)


B�" ��� �

=

N2(s)
D2(s)

1 − N2(s)
D2(s)

N1(s)
D1(s)


B�" ��" �

�����
D2(s)D1(s)

�� 	���	� 	���	 �
 �����

H(s) =
N2(s)D1(s)

D2(s)D1(s) − N2(s)N1(s)


B�" ��: �
���� ����� 	���� � ��� �� 	���	 ���� �����

H(s) =
N2(s)

D2(s) + N2(s)
.


B�" ��� �
���� ���� ���
 ���� �����	 �����	 �� 	���	 ��� ����������� ������ �� � � ��� ������ �� ���� 	� ������
��� �� �����	 ����� �� ��� ����� 	���� ����	� �� �� �� �� ���� 
� �����	 �
��� ��
 
���� ���� �	���	


��
��
H1(s)

���� �����

��14� �9�4� 67 �� ��4�� � ���69 �� �67 �46 3��7 � ����! 67 �957� ����� �8�9�� � ��� � �����
�4� 668 ���� ��� ���� �8�9� � �4�6 3� �4 �6�� � �� ���9 3��6 ��8 �
 ��8� � �6 �� � ��� 67 �0�5 �� ���9�

�� �85�� �8�9�� � �4��4�9�
GH

��
�
GH = HG = I

������ �
 �����		 �����	 
���
G

�����	
H

����� ���	�
6.3.5

<&.*<
	��� 	�
��� ��
 �����	 
�	

I

	
���	 ��

G
����	 ��� ��
�� 	����	 � �
 ��

H
�����	 �� 	���	 ����



H−1�� �� ���

H
�� �����		 �����	 
	�����

�3�� �616 � �668 � �� �6� �
�656 ����� ��� 69 @@@�0 ��5� � �8�9�� !�� ��6 ��1���� �4�� ���!��
� �1�� �� ���!�� ������ � ���4�57 3���8� ������� ����4�5 ��� ���!�� �8�9�� ��7 3���8
� �9�7� ����7 ��8 ��0 �� �8�9�� ��76 ���7� ���48�� � �1� 7 � ��� �6 � �7 6 7 � ����48���

�� �8�9�� ����16
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-
y

H G-x -x -
y

G H-x -x

��85�� �8�9� 2B�� � ���

� ����� ��64���� ������ �����4�56
H−1(s) =

1

H(s)
=

1
N(s)
D(s)

=
D(s)

N(s)
.


B�" ��B �

����
 �	 ��
� ����� � ��
D�� ��6�!� 4�� � ������ � �� �5 ���� D ����� �9�5��� ������ ��� � ���� �1 �656 �����

�� ��
s

�� ����� ���� ������
x

��
	 �� ����� �� ���� ����	
6.4.1

<&.*<
∫ ∞

0−
|x(t)|e−(<e s)t dt < ∞ .


B�: �� �

�	 	���		 �
�

X+(s)
.
=

∫ ∞

0−
x(t)e−st dt .


B�: �� �
���	 �
 ���� 
������ 	���		 �����

s
�� �����	 ���
 
�	 �

ROC: region of convergence � 	���		 ����
��� X+

	���	�
x

���

x
L+↔ X+ , X+(s) = L+[x](s) .


B�: �" �

��0 �
0
@6 6��7�@@@�� �� ��7 35��� 3�� @@@9�� � �66�8 �4�7 � �� 6�!� 4���

0−
3��1�� 6��!� � �9�7�

�� �48 � �
0

3�0 � ��9 �9�� � 7 � �� �61�� ��4� ���6� 3�!8 � �668�� � ���� 4�5 67 �957� 6�686 � 4� 69
���0 �794 �6 �4� �6�� �

0+@� �6�1��� ����� ���!�6 3� �4 ��� �� ���!�� �5� ���� ��768 � �� 67
@7 ���� �
� �668�� �6 � � �6 �!� � �� �� ���9

L+x = L[x · u] .

B�: �: �
���� � �� � ���� �1� ������ 67 � �� 48��� � �1� �
����� �� � �656 ����� � �4�8� �56 ��87 3���8�

2�� �71 �4�8� �9��4 3�8� �<e s > σ0
���68 ��4� �

����7� � �� 48�� � �1� 7 � 
������ �1 � � ����� ��7 686
�6����� � ��� 67 � �� 48��� � �1� ��� �6�7� � ���� � ��57�� � ��94 �6 �0 �����

2
�5�6 6��7� � ��5���� � � ��4� � � �� �� ���9 �� �8�9 �1 �1 � �� ������� � �� 3�� �7��7 3���8
�� ��6 �67 � �4�0 � ��9 � ��� �8�9 ��!6 9��� 68 ����7 �4�� ������

�� ���� ��� ������ � �4�8�� 6��6 �75� ����� �1� ������ � �4�8�� 6��! �61
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�� ��� �� ��
��� 	���� 
�	 	���		

6.4.2
>-/�

αx + βy
L+↔ αX + βY


B�: �� �
�
x, y

����� � � �� �
 ����

x ∗ y
L+↔ X+(s)Y+(s) .


B�: �B �
������ ����� � ���	� ���
� � �� �
 ����

(x · u) ∗ (y · u)
L+↔ X+(s)Y+(s) .


B�: �� �

;( ;/ ;� �� ���� ��� ������ 67 �6��� � �9��4 � �4�8�� 2<�%
<
� �� �00�� ��6� 67 ����� �1 �656 �����

L+[δ(t − a)](s) =

∫

0−
e−stδ(t − a) dt = e−sa
B�: � �

�� 00�� ��6� �9 ��� �6��4�� ��� ���7� !���6 3� �4 �8 �804 �
a < 0

��
0

���7 �
a ≥ 0

��
�
x

��� � � �
�
a ≥ 0

����
6.4.3

>-/�

x(t − a)
L+↔ e−saX+(s) .


B�: �A �


x(t − a)u(t − a)

���� �	 �����
x(t − a)

�
 ����� �
 ���� ���	 ��� � ���
� � �
 ����

;( ;/ ;� �� ���� ��� ������ � �4�8�� 9��4 2<�%
<
�4�8� 386 �

X+(s)
� ��� �6�67

t
���9 ��8�9 �� �0176 3� �4 �6 ����� �1 � �� �44��

x
�� �8 �6 � �7 4

��4� � � �� ���9�
a ≥ 0

���9 �� �5��� � ���6 �6�8 � �00��
��8���

s0
686 �8 ���� 9��4 � ���� ��� ������ � �4�8��

es0tx(t)
L+↔ X+(s − s0) .


B�: ��C �
��0 ��61�� ��4� �9 ������4�6 �D�� 67 � �4���5 ��7 �16 �1���� ������ ����� �1 �656 �����

����� ������
��


t → ∞ ��
�
x(t)e−st → 0

�

6.4.4

>-/�
d

dt
x

L+↔ sX+(s) − x(0−) .

B�: ��� �
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�� ���� �� ������ ���6 ��!�4� ������ �1� ������ ��� �� ���6 � ��� �61��� ��4� ���68

2<�%
<

L+

[

d

dt
x

]

=

∫ ∞

0−

d

dt
x(t)e−st dt


B�: ��� �
� ��61� ����!� 4��

= x(t)e−st
∣

∣

∞

0−
−
∫ ∞

0−
x(t)

d

dt
e−st dt


B�: ��" �

= −x(0−) + s

∫ ∞

0−
x(t)e−st dt


B�: ��: �
;( ;/ ;� ������� �� �0� ����48��� ��4� 66!�

6��4 �0 �1� �4� �0�1 7 �� �7 ��� 69
dn

dtn
x

L+↔ snX+(s) − sn−1x(0−) − sn−2x(1)(0−) − . . . − sx(n−2)(0−) − x(n−1)(0−)

B�: ��� �

= snX+(s) −
n
∑

k=1

sn−kx(k−1)(0−) .

B�: ��B �

�
t → ∞ �7�8 dk

dtk
x(t)e−st → 0

@7 ��4��
��� 9��4 3�8� �� ���� ��� �����6 3� ��8 ��0 �!��� 67 ����� �1 �����

������� 
� ������
 �� 	���	
6.4.5

>-/�
∫ t

0−
x(τ) dτ

L+↔ X+(s)

s
.


B�: ��� �

;( ;/ ;� ����� ��� ����6 �18��6 ��0 2<�%
<
�s

	����� 	����
6.4.6

>-/�

−tx(t)
L+↔ d

ds
X(s) .


B�: �� �

;( ;/ ;� ����� ��� ����6 ��0 2<�%
<

α ≥ 0
���� �	��� �����

6.4.7
>-/�

x(αt)
L+↔ 1

α
X+

(s

a

)

.

B�: ��A �

;( ;/ ;� ��6 �67
a
@� 7��7�6 3� �4 �67 3���8 �� ���� ��� �����6 ��0 2<�%
<

�6��!
s
@� ������ ��9 �9 �5�� �4�0� � ��� 67 ��9� �� � ��7 �� �5 ��� � ��61��� ��9� ��57�

��5��6�
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�	 ��
 ��� ��� ��
�	 � �����	 �
 �� ����
� �
 ���
�� ���������� � ����� 
�� ��� � � �
 ����

6.4.8
>-/�
������

�����	 ���

x(0+) = lim
s→∞

[sX+(s)] ,

B�: ��C �

���� ���

x(∞) = lim
s→0

[sX+(s)] .

B�: ��� �

����	 ���	�
e0u(0+) = 1

�� �� � 
�	 �����		 ���	
a > 0

��
�
x(t) = e−atu(t)

��
	 ����
6.4.9

<�*
.
������ ����� �
 ����� ������ 


0

�	

X+(s) =
1

s + a


B�: ��� �
lim

s→∞

s

s + a
= 1 = x(0+)


B�: ��" �
lim
s→0

s

s + a
= 0 = x(∞) .


B�: ��: �

� �7 4 �
z(t) = se−st ����4�5� �� 31�4 ��� ��� �� 3���6 ��44 �� �� �� �� 4�� 35 ��� �� ��0 �57� 1�8�4 �6

�8 �6

sX+(s) = s

∫ ∞

0−
e−stx(t) dt =

∫ ∞

0−
z(t)x(t) dt .


B�: ��� �
2
1

���
z

����4�56 �1�� 1�7�
∫ ∞

0−
se−st dt = 1 ,


B�: ��B �
����4�56 ����� ��0 �� �68 �
��7��6 3�� �� �79�6 � � �7��� ���� �08��� ����4�5� ���

s → ∞ ���9�
�
0+@� ��61��� ��9� �� �46� �� ��5�� ���6�

�1� ��� ��5 ��� ��9� ���9

L+

[

dx

dt

]

(s) = sX+(s) − x(0−)

B�: ��� �

��47 ��� ����0!� � 4�8��

lim
s→0

L+

[

dx

dt

]

(s) = lim
s→0

∫ ∞

0−
e−st dx

dt
(t) dt


B�: �� �

=

∫ ∞

0−

dx

dt
(t) dt


B�: ��A �

= x(∞) − x(0−) .

B�: �"C �
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6��4 � �4��1�� � �� ��7�� ��7�

lim
s→0

sX+(s) − x(0−) = x(∞) − x(0−)

B�: �" � �

lim
s→0

sX+(s)) = x(∞) .

B�: �" � �

���
 �	 ��
� �� � �� � ��� 	 ��� � ��
����� ��� �6�� ���!� �� 6��6 3� �4 ��� ��� �� �48 �8�9�8 �D��6 � ��1 ���� �4� �7�8 �8 �4���
���!� �� 6��4 �8�5� ����� ��� 69� ��� ��7��� ����� � �� ������� ����4�5 ��7 �1 2� ���� �� �656

��61��� ��4� �957� �� 66�8� ��� �� ���5� 1 �� �4 ��75�� � ���� �1 �656 ����� ��6��
� ����4��� ������ � D��� ��7 34��� 4

N
∑

n=0

an
dny(t)

dtn
=

M
∑

m=0

bm
dmx(t)

dtm

B���� �

2�5�� �61�� ��4� � �4�� 4 �7�8

y(0−), y(1)(0−), y(2)(0−), . . . , y(N−2)(0−), y(N−1)(0−).

B���� �
���9

( 6.4.15)
�1� �4� � � ����4�6� �4�8� ��09� �6��4� �� ��7�� ���� �47 69 � ���� �1 ����� 9��4

��0!4 67 �����

L+

(

N
∑

n=0

an
dny(t)

dtn

)

(s) =

N
∑

n=0

anL+

(

dny(t)

dtn

)

(s)

B���" �

= a0Y+(s) +
N
∑

n=1

an

(

snY+(s) −
n
∑

k=1

sn−ky(k−1)(0−)

)
B���: �

= Y+(s)

N
∑

n=0

ansn −
N
∑

n=1

an

(

n
∑

k=1

sn−ky(k−1)(0−)

)

.

B���� �

�� �� �����

L+

(

M
∑

m=0

bm
dmx(t)

dtm

)

(s) =

M
∑

m=0

bmL+

(

dmx(t)

dtm

)

(s)

B���B �

= b0X+(s) +

M
∑

m=1

bm

(

smX+(s) −
m
∑

k=1

sm−kx(k−1)(0−)

)
B���� �

= X+(s)

M
∑

m=0

bmsm −
M
∑

m=0

bm

(

m
∑

k=1

sm−kx(k−1)(0−)

)

.

B��� �

3����7� ��

L+

(

N
∑

n=0

an
dny(t)

dtn

)

(s) = L+

(

M
∑

m=0

bm
dmx(t)

dtm

)

(s)

B���A �
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�8 ���86 386 3� �4

Y+(s)
N
∑

n=0

ansn = X+(s)
M
∑

m=0

bmsm +
N
∑

n=1

an

(

n
∑

k=1

sn−ky(k−1)(0−)

)

−
M
∑

m=1

bm

(

m
∑

k=1

sm−kx(k−1)(0−)

)


B����C �

Y+(s) =

M
∑

m=0

bmsm

N
∑

n=0

ansn

X+(s) +

N
∑

n=1

an

(

n
∑

k=1

sn−ky(k−1)(0−)

)

N
∑

n=0

ansn

−

M
∑

m=1

bm

(

m
∑

k=1

sm−kx(k−1)(0−)

)

N
∑

n=0

ansn


B����� �

67 �6�� ���!� �9 ��� �6��4��� �6����� ���!�� �� �0 �� �68 2
H(s)X+(s)

�6� �4�� 3�7��� �����
�656 ����� �38 �� �

YZIR

���68 ��5� �� �48� ���!�� � ���� � �� �47� ����� �
�D��� 67 � �8�9��
���!� 67 � �8�8@@@� D�� ��� 69 ��� ���� �8�9� 67 ��668� ���!�� � �7 �16 �68 �46 �4� �4 � ���� �1�

��� �486 �� �!� � �61�� ��4�6
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� ���

����� ���

�� ��� �01� � �� ��� 6�5 ��6 �� �7 � �� ����5 ���
@�6��4�� � �8�9� � � ����4�6 � �8�9� 67 ���9 � �� � ��

est ������ �6� ��44�5��� � �� ��4���7 �58
� �� �� �!�� �0�

x(t) = ejωt ��� �� �48� � �� �� �� ��1� � �75 � �� ���!�� ��7 �1 386� 
� D�� � � ��
�09�6 68�4 0� 387 @@@� ��6� ��44�5��� ��� �� 67 � �8�8 �� �� � ��668 � �� �� !���6 ���4 386 �

H(jω)ejωt

���� ���!�� � ����4�6� ��9 �0�
x(t) =

∑

k ejωkt �� ��� �75 ����� �� �!�� �� �716� � ����4�6�

y(t) =
∑

k

H(jωk)ejωkt .

��C �� �

�5 69 9��4 ���01� � ��7 3���8 �� ��� �01� � �� ��6 � �796 3� �4 � ��4���� � �� �� 67 � �8�6 � ��� � ���5
������ � �8�8

[0, T ]
6��� �� 4��� 69 ��!��� � �� !���6 ���4 ��1� ��01� �45 69 ��8�9

∞
∑

k=−∞

ake
jkω0t
��C �� �

� �8� 687 � �7� �� ��� ��� 14��� � �7��7� �4� ��� ���� 
�� ��0� � ���� ���
ω0 = 2π/T

�7�8
2���01� � �� � ������ �1� 687 � �7� �

T
��01� �9 � ���01� ����4�5 3� ��8 � �� �69�6 ������

ejkω0t = ej(kω0t+k2π) = ej(kω0t+kω0T ) = ejkω0(t+T ).

��C �" �

���	 �����
 ��� � � �
�D� ��6�!� 4�� � ����� � � �� �5 �� �� D ����� 69 ��01 � �� �0 � �9�� ���1�

�6���� 4��� � �5�� � �!�4� ��6 7 � �7� �
0 ≤ t ≤ T

���9 � ���!��� � �� ��� ���� � ��
L2[0, T ]

�8 �804
�� �68

∫ T

0
|x(t)|2 dt < ∞.


����� �

A�



��01 ����5 ���
� �� �0 �1��� � �� �45� �658��

〈x, y〉 =
1

T

∫ T

0
x(t)y∗(t) dt


����� �
��� ����4�7 3��8 � �5�� ����4 3� ��8 �� �9�7� � �5�� ��!�4� �

‖x‖2 = 〈x, x〉 .

����" �

��� ��� �� �� �
ω0 = 2π/T

���
T
����� 9��6 � ����� �� ���� ����

{

ejkω0t
}
����: �

�� �68
L2[0, T ]

@� � ����4�5 ���9 �6���4����� � ��� �����
1

T

∫ T

0
ejkω0te−jmω0t dt = δ(k − m)


����� �
��1� �

n = 0
�� �@6 � ��7 @@@ 
����� 67 ��6��� 6����6 � ��4��� 67 ��6�� ����4�5 � ��

δ(n)
�7�8

���� �57�� � ����� 386 �C � ��7
	���� ����� �
 �����

L2[0, T ]
��

x
��
 ����

7.1.1
>-/�

an
.
= 〈x(t), ejnω0t〉 =

1

T

∫ T

0
x(t)e−jnω0t dt.


����B �
�� ��� �

MSE: Mean Square Error
�� ���

x
�� � �� ���� 	��	� ����	 ���	 ��


lim
N→∞

∫ T

0

∣

∣

∣

∣

∣

x(t) −
N
∑

n=−N

anejnω0t

∣

∣

∣

∣

∣

2

dt = 0.

����� �


�	��� ������ ���
 {bn} �	� 

�	 �� ���
x

�� ���� � ���� ����� �� ��� ���	 
�	 {an} ������	 ���
 ������
�{bn} ��� �� �����	 �� ��� 	��� {an} ��� �� �����	 �� ��� ����	 	
���	 ��
 


N,M
����� ��� �����

∫ T

0

∣

∣

∣

∣

∣

x(t) −
M
∑

n=−N

anejnω0t

∣

∣

∣

∣

∣

2

dt ≤
∫ T

0

∣

∣

∣

∣

∣

x(t) −
M
∑

n=−N

bnejnω0t

∣

∣

∣

∣

∣

2

dt.

���� �

������� ���� ������ ��
 

L2[0, T ]

�� 
�	 �� ��

y

��
 �� 	���� ����� {cn} ��� ��	�

1

T

∫ T

0
x(t)y∗(t) dt =

∞
∑

−∞

anb∗n,
1

T

∫ T

0
|x(t)|2 dt =

∞
∑

−∞

|an|2.

����A �

� ������ �� �0176 3� �4 3� ��8 �0�
( 7.0.2)

������ ��� �5 ��� ����� 3�� 4 �� �01� � �� �� �8 �6 � �7 4
�
( 7.1.6)

��� {ak}��� ��09� �� �� ���6 �75� �0� �� �� ����� � �� 4� � ����
x

� ��� �� ���� �5 ����� 67 ����� ��8
������4� 3� ��� � ! �5�� 4��
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���! �95�� ����5 ���
��� �� ���	 ������� 	���� ����� ��
 
�

L1[0, T ]
�� ��
 � ���������
 � �


x
	�	� 
	������ �
��

7.1.2
>-/�



( 7.1.6)

������ �� ���� ���� ��
� ��� �� ����� �
 ������ �� ���� ���� � �
� �� ��� ��������� ���� ��
	 ����� �

�[0, T ]

������
�
t
�� ���� ����� ��� ��� �� �����	 ��
 �� �� ���� � ��� ����

lim
N→∞,M→∞

M
∑

n=−N

anejnω0t =
1

2

[

x(t−) + x(t+)
]

.

�����C �

����9� �� �9 �� �� �� �!7 67 3���� �� �� ��� � ��� ������ �� � �4� �4 � ���5 ����� �8 7 �!��6 � �71
3� ��8 ��0 ��75�� 688 3�� � �� � ��� 3��6 �4�� �6� ����� �1��� �7� ����� � �� �96 � �751� � �� ��
��� ��� 69 ������ �0 3� ��� �8 ���4 ��� �

7.1.2
�57� 67 !���� � �� ������ �7�8 �� � �796 3� �4

��1 ���� ��� �4�� � �� �5

���� ��
 �� � ��
�� �

x(t)
67 ��96

x
67

t
��5��� ���� 4 68� � 48�� �5 �� ��� ��� 69 ������ �

7.1.2
�57�� �4���7 �58

67 �5 �� �5�� ��� 69 ��� ��� 7��74 ���� �4� �79� 35��� �� ��4�� ��96 �48�� ��� ���5� � ���� 4�
�5�� �� 6��!47 688 �4�� ��� ��� ��08 �5 �� ��� �� 67 ���!7� ��� 2� �� �8 �� �6�7� �� ����
�
ω0

@� �� ���� ���� �� 3��4 ��0 ����4 1�46 ��8 ��� �5 ����� 67 � �68� 7��7�6 3� �4 �� ������
6��7 � ���� 67 �5�� �5�� ��� 69 ����� �� ����� 4 � 48�� ����7 �8 �68�� �� �� 4� � �� �����7 1�44
�5�� ��� �� 386 �6 ��! |n| � ! 386� �6��!

nω0
�7 ���5 � �� ��! � ����7 � �7� @@@� �� ��! � ���� ����16

68 �� ���9�� � �8 ��4 � ��9� 34��� ��
HN (ω)

@� 3��4 �� �8 �� 4 � ��9� 34�� ��� ���� ���9�6 6��7
�
�0 ���� 4 1 �404 �� �

Nω0
@6 ��9� �9� ���9�� 34�� ��1�6 � ��� ������ 39�6 �

Nω0
66�8 � �9 � �����

�0� ��0 34�� 67 �6�� ���!� ��
hN (t)

@� 3��4 ��

xN (t)
.
=

N
∑

n=−N

anejnω0t = x(t) ∗ hN (t).

����� �

t 6= 0
���9 �0� �

ω0 = 2π/T
@7 3���8 2��9� �4�7 �1 � �8 ��4 � ��9� 34��� 67 �6�� ���!� ��

hN (t) =
1

2π

∫ ∞

−∞
HN (ω)ejωt dω


����� �

=
1

2π

∫ Nω0

−Nω0

ejωt dω

����" �

=
1

2πjt

[

ejNω0t − e−Nω0t
]
����: �

=
1

πt
sin(Nω0t)


����� �
=

2N

T

T

2N

1

πt
sin(Nω0t)


����B �

=
2N

T

sin(Nω0t)

Nω0t


����� �

=
2N

T
sinc(Nω0t).
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� ��� �01� � �� ��6 ����5 ����� ����5 ���
�
sinc

@� 67 � �� ��8�� ���� 4 �� �0 �8 �
sinc(0) = 1

�8 �80�4 ��� �� ����� �0 ����� 6��4
t = 0

���9
��� 
�3� ��� �71��� � �0 � ���4�56 �1�� 1�7�

∫ ∞

−∞

2N

T
sinc(Nω0t) dt = F(hN )

∣

∣

∣

ω=0
= HN (0) = 1.


����A �
�957�� ���7 3���8 �6�!

N
@7 688

0
���� ����!� ��� � �794 � �� �

δ
� ���4�5 67 ���� 3�9� ���

hN
386

� ���6 � �5�� �� ��� 4�5 67 � �5��� �� ���� 4� �5 ��� ������ �957� �� ����6 ��8 �
0

���� � �� �67
�
t = 0

���� 4� � ��� �� �68 ��67 ��5���� �� ���� 4 ����
u

�!��� � ���4�5 67 �5 �� � �� ��6 ���� ��
3���8 ��0 2

(u ∗ hN )(0) = 1/2
����6��4���� 6��4

t = 0
���9 �8 �6 � �7 4�

sinc
����4�5 67 ��!� 34��� 4

6���� � �� �6��4��� 67 �6� ����� ��9� ��47 ��� �� 66�8 1�7 �9 �������� � ��� 4�5 � ��
sinc

@�7
��71 �6�� �

1.08
������ � �� �0 ��9 �8 � ����6 �75� �

sinc
@� 67 3�7��� �5�� ���68

t = 2π
Nω0

���9
�38 �� �6�!

N
�7�8 �4��� �4�� � �� ��� 67 � ������ �� �!7� ���68 �

N
@� 668 ��6� �4�� �0 ��9 ��8�

�6�� �� 48�� ����5 ��� �
��5��� ���� 4 � ��7 � 3�� 4
t
68� ��68���� �57�� ����� ������ �� �46��

�� �!7� �� 3� 0� ����4� �
8%

@8 67 � �� � ����� �� �!7� �0� ����768 � �5��� �� ���� 4 � ��6 7 � ��
���!7� �� @@@6���� 4��� @@@� �1�� ��� �68 �6�!

N
@7 688 � �5���� �� ����46 ������ ��6� ���� ���

�
Gibbs

���! �95�� �� �0 �� ����� �� �!7� �6 �� �
N

6�� �! �9 ������ ���� �9�7�
��� 69 ��� ��� �6�8 � �� �7 �� � ��9 �� �71� 6��!� � �� � ����� �� �!7� ��� � �� �7 �� � 47 � �����8

��7��� ��!�� ���4 �� ��1� � �� �� ��� 7��7�6 7 �� �� ���� �4�� � ���5 ���

� �����	� ������ ����
 ����� � ��
@7 3���8 ��6 ���!� 4�� � ���6 6�8 � �4��

T
��01� �9 
�5� � ��7 �4��7 � �� �01� � ��

∫ ∞

−∞
|x(t)| dt =

∞
∑

m=−∞

∫ mT

t=(m−1)T
|x(t)| dt =

∞
∑

m=−∞

∫ T

t=0
|x(t)| dt = ∞
��" �� �

���� 4�58 �� �� �5 ����� ����6 ��08 � ��6 �1���4 386 �� ��� �01��� 9��4 3��1� �456� 3����7� �7�8
� �� 3�� 4 �
�������� � �����6 �484 �6 �� ���7 �1� �� �����6 3� �4 � �6���5 � �7 �1 �794 ��668��

� �� �5 !�� ��� �� �01�
x(t) =

∞
∑

k=−∞

ake
jkω0t , an =

1

T

∫ T/2

−T/2
x(t)e−jkω0t dt,


��" �� �
����� 67 �����4�6� 7��74 �� ����01�� ��9

T
�8���7 6���� 4�� 68 69 � �796 3� �4 6�!� 4�� �� �7�8

6��4� F {ejkω0t
}

(ω) = 2πδ(ω − kω0)
������� � �� �5

F {x} (ω) = F
{

∞
∑

k=−∞

ake
jkω0t

}

(ω) =

∞
∑

k=−∞

akF
{

ejkω0t
}

(ω) = 2π

∞
∑

k=−∞

akδ(ω − kω0).

��" �" �
��� 67 ����5 ����� �8 �46��� � �8 ��6 �

cos
67 ������ �� �4�7 �1 �7�8 �4��� �08 �����6 ��!��

��� 69 �4�� 4 {an} �� �67 ����5 ����� �7� ���01�

F {x} (ω) = 2π

∞
∑

k=−∞

akδ(ω − kω0).
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��017 � ���!� � ���5 ���
67 ��6�586 ��5 �� ����� ���� ��5��� ���01� � �� 67 ����� �D6�!� D � �� 67 ��� �5 �����6 ��!�4�

��668�� ���� 4�5 � �� ������ ��47 ��� ��� ���� ����
��8�D �� D� ��6� ����D ���4� 668��� � ��6 ��1���� �� �01� � �� 67 �����6 ���71 ��!��

��� �!�� �7 �46 �08�� � �� ��0 ����47 �58 D�� ��6�
�
T

����� �� ������ ��
 
�	� ������	 ��
	 
�	 ����	 ����
7.3.1

<&.*<

wT (t)
.
=

∞
∑

k=−∞

δ(t − kT ) .

��" �� �

�� ������ �7� 
������� ������ 69 !6�4 ���7 � � � �� �5 � ��8 �� �� � �7�4 ��� �01� � �� ��07 3���8

ak =
1

T

∫ T/2

−T/2
x(t)e−jkω0t dt =

1

T

∫ T/2

−T/2
δ(t)e−jkω0t dt =

1

T
.


��" �B �
���71� �1� �4� �� 6��4

( 7.3.4)
@� � 3�8�

F
{

∞
∑

k=−∞

δ(t − kT )

}

(ω) =
2π

T

∞
∑

k=−∞

δ(ω − kω0) = ω0

∞
∑

k=−∞

δ(ω − kω0) .

��" �� �

�
���� � � ��6� ���� �4� �4 
3� 0� � � ��6� ���� 67 � ���5 ����� ���68
�����

xT
67 ��� �5 � �� 6����

( 7.3.6)
��7 �1�� 2� ����� ��9�

xT (t) =
1

T

∞
∑

k=−∞

ejkω0t .

��" � �

���� 4�5 �� �0 �����7�� 67 6��7 �� ��87 ��� ����9 3�84� 7 ���5� �� 48�� �4�� 3�� � ��� � �8��7 ����
���!�� ����� �0 �6�95 �31� � ��� 4�5 69 ��6�95 ��� 69 ���!�� � �� ��668�� ���� 4�5 68 ��8 ��668��

26��! ���
∫ ∞

−∞

(

1

T

∞
∑

k=−∞

ejkω0t

)

φ(t) dt
.
= lim

N→∞

∫ ∞

−∞

N
∑

k=−N

ejkω0tφ(t) dt.

��" �A �

��� 31� � ���4�5 67 �����7 3���8 2
φ

67 ��� �5 ����� 67 � �8�9 � �8� ��07 3���8 � 48�� 3�� � ��
�� 48�� � �8�� �


ω
�4�7�� � 31� � ���4�5 ���9�

���	� � ����� � ��
�� ��5�� ���� ��9� ��7 � �� ��� � �65�� �4� �� �68 ��71�� � ��8 �794 � �� ��� ����9� �8�4 �61
� ����4� � ��� 67 � �8�9 �!����� � ��5�� ���� 68� �7�� �� �� �� 9��� 3��� � ��� 3�0� � ���7 3���8
���� �� �!� � ��� � ����� ��0176 ��� � 3� �47 �08 ����� � ��� �� � �!�6 3� �4 ��� ��� �6�7� �� ����� 3� 0
��� 69 
� ��� 3�0� � � ��� 4�5 !�� �� � �� � ����!� 67 �1� 356 �� 3�8 � ��1 ���� �4� �8 7 �!��6 ��71
� ���� � �!� ��� �71�� � ��5�� �8 ��� �9� � �� �71��� 6�5 �� ����6 ��71� ���4 35 �� ��5�� ����

�� �� �� ����9 ������ 67�6 � �4� �0 �7 �4� �D6 �!�9 D 9���� 69�5� 386� ��5 ��
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��017 � ���!� � ���5 ���
����� �� �� ��
 � ������	 ���� 
�	

T
�� 	� ��� ������ ����	 � �
	 �

x
��
 ���	�

7.4.1
<&.*<

xs(n)
.
= x(nT ).


��: �� �

�
xT (t)

.
= x(t)wT (t)

3�� 4 �

7.3.1

���!� ��� �
wT (t)

� ��6� ����� 7��74 ������ 1�� �4� ����6
6��4

xT (t) = x(t)wT (t) = x(t)

∞
∑

k=−∞

δ(t − kT )

��: �� �

=
∞
∑

k=−∞

x(kT )δ(t − kT )

��: �" �

=
∞
∑

k=−∞

xs(k)δ(t − kT ).

��: �: �

���6 ��� �5 ����� 9��4 �
ωs = 2π/T

��� ���!�� ��� �
xs(n)

� �!�� � ��� 67 � ��� 3�0� !�� �� �46� ��
6��4�

xT (t) = x(t)wT (t)

F{xwT }(ω) = XT (ω) =
1

2π
X(ω) ∗ F

{

∞
∑

k=−∞

δ(t − kT )

}

(ω)

��: �� �

=
1

2π
X(ω) ∗

[

2π

T

∞
∑

k=−∞

δ(ω − kωs)

]

(ω)

��: �B �

=
1

T

∞
∑

k=−∞

X(ω − kωs).

��: �� �

���� �� �0176 ��� � 3� �47 ��8 � �5�� ��4� ��� ���� � ��� 67 ��00� 67 
�5 �� 4�� � ���� �46� ��
�� ��768 ��� � �1�� �5�516 �4� ��!� �6 � �00��7 � �� ������

�
� �|ω| ≥ B
����

X(ω) = 0
�� ��� �

B
����� ��� ����� 
�	

x
��
	 �
 
	� ���	 ����

7.4.2
>-/�

������
x

�
 ����� �� �� ��
 �
ωs ≥ 2B

�� ��� � �
Nyquist rate � �������� ���� 	��� 
�	�

ωs
����

x
�
 ��� ���


��� �� ��� ����

��7��� ���4 � ���!�� � ��1�8� �4�� �0 �� 4� 2��9�
���94�

xT
� ��� �� � �!�� � ���� ����4 �� �

T
���!� �

B
�1��� � �8 ��4 ���9� 34��

HB
��� � 2<�%
<

6��4
( 7.4.7)

� ��� �0� �0 34�� ��� �� ��

XT (ω)HB(ω) = X(ω)

��: � �

;( ;/ ;� �7��48
����6 ��� �46 3��7 3���8 � ��75� ��01 �7 �� �7 �6 �0 �� �� �!�� � ��� � ��� 9���� �8 ���� �18���
3� �4 ���8 � 0� �� �4�� �18��� ��86 ��9� ��6���� � �8 ��4 � ��9� 34�� � �4�6 3� �4 �6� � ��6� ����
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�79� ��01 �7 ����5 ���
� �!�� � ��� � ��� ���01 �7� �� �7 �� 7��5�� �!���� �5� �4 �18�� �98 � �7�4 ��79� �017� ��4�6

6��4� �� �00��
sinc

� �� ��� �658� ��� 69 � ��� 3�0� � �� ����4
∞
∑

k=−∞

xs(k) sinc
(ωs

2
(t − kT )

)

=

∞
∑

k=−∞

xs(k)δ(t − kT ) ∗ sinc
(ωs

2
(t)
)
��: �A �

=

∞
∑

k=−∞

x(t)δ(t − kT ) ∗ T
1

π

ωs

2
sinc

(ωs

2
(t)
)
��: ��C �

=

(

x(t)
∞
∑

k=−∞

δ(t − kT )

)

∗ T
1

π

(ωs

2

)

sinc
(ωs

2
(t)
)

.

��: ��� �
�57� �18��� ��!��� �

Hωs/2
� ���� � �� ��� �6��4��� �4� �� ����� 67 ������ 2� �� �5 � ����� �714

23� 0� �658� 67 ����� ��� �6��7� ����� 67 ������� �

7.4.2

���!��

F
{

x(t)

∞
∑

k=−∞

δ(t − kT )

}

=
1

2π
X(ω) ∗

∞
∑

k=−∞

2π

T
δ(ω − kωs)


��: ��� �

=
1

T

∞
∑

k=−∞

X(ω − kωs).

��: ��" �

;( ;/ ;� ��67 �� ��01 �7 6��4 ����� 6�!��
X

@7 66!�
������ � �8 �� 4 � ��9� 34��� ���94� �

sinc
����� � ��� 6�584 2�79� ��0176 ���� 69 �0��� �0 �18��

���� ���	�� � ��
� ��7 �� � � ��� ��9 �� � ����� 3�� 4 9!�� 23��8�0 ���1 �79�6 ��� �75 �6�95 ��� �� �!�� �6�95
��8�� �47��7� �18��� ����6 �� �79� �6�95 �4�� ���0 ���96 ��4���7 ��01 �7� �6�95 ��4�456 �� ��
2� �79� �� �7 �!��� �4�� �5� �4� �18��� � ! ��� ��6 �4�6�8 �� 3��7 3� ��8 �7� ������ � �� @@@� ��6�
67 �5 �� 3�� �� ��� �� �68 2

n
686

xs(n)
���!�� �8�9� 7��7�6 �4�69

t
9!�� � ��� ��9 �� �0176 ��8
����9� � �8�9� ��5� � �� �8�9

9��6 � �� �� �4��� �� �68 ��6��! �6 ����� ���7��7 ����� �� �75 ��01 �7� � �4��4�9� �4� �79� 35 ���
��01�7 ���4 �� ��� � �75� ��01 �7� �

nT
@6 � ���

t
����9

xs(n)
�8�9� 7 �� �7 � ��

t
9!�� ��017� ��

���!4 �� �68 �9���� 3��1�� ��9� 69 � ��� �7 �4� �0 � �01 �7� �
ZOH: Zero Order Hold

�5� ����

xr(t) = xs(n), nT ≤ t < nT + T .

����� �

2�7�1 ���� 4�5 ���!4 �0 � �01 �7 1�46 ��8

pT (t)
.
=











1 0 ≤ t < T

0
��1�
����� �

2�8
xr

�01 �7�� � ��� �� � �7�6 68�4 �98

xr(t) =

∞
∑

n=−∞

xs(n)pT (t − nT ) .

����" �
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�79� ��01 �7 ����5 ���
1�46 ��8 �7 �1� �8�96 	5�� 0� �

T
����� 3�0 ���5 69 9��� � �� 2D� �!��� D � �� � ��

xr
�01�7�� � ���

2�8
xT

��09� �� �� !��4 ��� ���� � ��6 �� �� � ��7�6� ���� � �1�� �0 � ��

pT (t − nT ) = pT (t) ∗ δ(t − nT )

����: �

xr(t) =
∞
∑

n=−∞

xs(n)pT (t) ∗ δ(t − nT )

����� �

= pT (t) ∗
∞
∑

n=−∞

xs(n)δ(t − nT )

����B �

= pT (t) ∗ xT (t)

����� �

386 �
( 7.4.2)

�� ��7�� ��!��
xT

�7�8

Xr(ω) = PT (ω)XT (ω) .

���� �
��� ��017� �0� 
� ����� ���� � � �8 �� 4 � ��9� 34�� ���

PT
�� �8 � �9� �� �4� �� �!�� �57� �18���

�� �714 ���09� � ������ � �� 3�� �7�
pT

67 �00�� ����! ���!4 ��0 ����� 38 �� �714 ��67 ��
2
PT (ω)

pTS(t) =











1 −T/2 ≤ t < T/2

0
��1�
����A �

PTS(ω) = T sinc

(

ωT

2

)
�����C �

pT (t) = pTS(t − T/2)

������ �

PT (ω) = e−jωT/2PTS(ω)

������ �

= e−jωT/2T sinc

(

ωT

2

)
�����" �

|PT (ω)| = T

∣

∣

∣

∣

sinc

(

ωT

2

)
∣

∣

∣

∣

.
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First Order Hold
3�9� ���6 ���4�6 �017� 1�46 3� �4 �� �� �����

iT (t)
.
=























1 + t/T −T ≤ t ≤ 0

1 − t/T 0 ≤ t ≤ T

0
���1�


������ �

��� 69 �01 �7�� � ��� �� ���!4

xr(t) =
∞
∑

n=−∞

xs(n)iT (t − nT )

�����B �

=
∞
∑

n=−∞

xs(n)iT (t) ∗ δ(t − nT )

������ �

= iT (t) ∗ xT (t)

����� �

Xr(ω) = IT (ω)XT (ω) .

�����A �
7��� ���4�6� �017�� ��01�7�� � ��� 67 ��9� 69 9���� �� 7��7�

ZOH
@� �017� ��9� �8 �6 � �7 4

� ���1 �
T

67 ���7�� �� � ������ �� 6��6 68�4 �79� 35��� ���68 ��� ��� 3�0 � ���1 �
T

�9 9���
�3� 0

�6�� �
iT

67 ������ �� �714 1 �� 4� ����6
ZOH

67 1�� �4� ��8

iT (t) =
1

T
pTS(t) ∗ pTS(t)


�����C �
IT (ω) =

1

T
P 2

TS(ω)

������ �

= T sinc2

(

ωT

2

)

.

������ �
���� ��00� 67 �957��7 ��5�6 7 � 386 �

PT
�7�� �� �� 
6�!

ω
�7�8 � ��� �9�� �7� ����1 � �� �� 0

�
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a > 0
�7�8

eatu(t)
67�6 � ��� �5 ����� 3�� �� �656 ����� 7 � ����9 � �� �� � 47 � �47 ���

6��4� ����7 � �64���� 4�5� ����� �0� �� �� 48��� � �1�� ���4
s = 0

��5�� � �� ��� � ������ ��7

H(jω) = H(s)|<e s=0,Ims=ω .

��B �� �
����� � � �8�9�� 6�5 ��6 ������ �0 ����� �8 � ���6 �4� � �� �5 ����� 3�� ����9 �4���7 ��!����
������ ��5�� ��0 3� ��� �� �� �7 ��! �656 ����� �
� ��� ��1 � �� 44�5��� �66�8 �4�� ���!��7 �8 �

���9� � �95�� � �61�� ��4� �957�� 65�6 ������ � ���� �1�
����� ��� ������ ����� ����� � �� ��

���!4 ���� � ��� 67 ����5 ����� � ��� 6��6 3� �4 � �� �5 � �� ����� ��

x0(t)
.
=











x(t) −T
2 ≤ t ≤ T

2

0
���1�
��B �� �

��� 69 � �6���� ����5 ����� �0�

ak
.
=

1

T

∫ T/2

−T/2
x(t)e−jkω0t dt


��B �" �

=
1

T

∫ ∞

−∞
x0(t)e

−jkω0t dt

��B �: �

=
1

T
X0(ω)

∣

∣

∣

∣

ω=kω0

.
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� ��8 � � �89�� 3�7 �9 3�0� � � �� �4�� 6��! ��� �
�� �48� 6��! �
1
@6 ����� ���!��7 �9 1� �6

����� ���� ����� � � �
�� ��5� �66 3�7�� ���� �8�9�@@@�� ��� �� �75� �8�9�� 34��� 4


�	 	�� ������	 ������� ��
 ����� 	����
8.1.1

<�*
.

H(s) =
1

s + λ
ROCH = {<e (s) > −λ} .


 ���� �
�� �
 
�	 ��	� 	����	 
����� 
�	�

(−λ)
�� 
�	 ����	 �� ��� 
����� � λ > 0

�� ����

h(t) = e−λtu(t) .

 ���� �

�C�



�47 ���� �8�9� � ��5� � � ����
�
t ≥ 0

���� ����
s(t) = (u ∗ h)(t)


�	 	����� 	����	

s(t) = (h ∗ u)(t) =

∫ t

−∞
h(τ) dτ


 ���" �

=

∫ t

−∞
e−λτu(τ) dτ


 ���: �

=

∫ t

0
e−λτ dτ


 ���� �

= − 1

λ
e−λτ

∣

∣

∣

∣

t

0


 ���B �

=
1

λ

(

1 − e−λt
)

.

 ���� �
��� 
 1

λ

�� 	� 	�������� ���� ��
�� 	����	 ����� ���
� �� ���
t
����

0
�� ��
�� ��		 �����

λ > 0
�� �����

��
�� ���		 ����	 ��� ��
� � 	���� 
�� �����	� �� ��� �� �� 	��	� �����	 ����� �� ��� �� � ���
λ
��

���� 	���� � ���	������������ 
�� �� ������������ ����� ��� �� 	���� � ���	��
0

	���� 
�	� 	���� ����

1/e
��� �� ����� 	����� 	����	� �� ����	 �� ��

τ
	����	 �� � �
 ���� ����� 
	���� ����� �� 	����
�


e−λτ = e−1 ��
� 	��� 	� 
�� ���
t
�� � ����	 ����

τ =
1

λ
.


 ��� �
�� ��� �
�	��� ��
 �� �� ������ �


H(s) =
s + a

s + λ
=

a

s + λ
+

s

s + λ


 ���A �
�� ���� ��


h(t) = ae−λtu(t) +
d

dt

(

e−λtu(t)
)
 ����C �

= ae−λtu(t) +
(

−λe−λtu(t) + δ(t)
)
 ����� �

= (a − λ)e−λtu(t) + δ(t) .

 ����� �
	��	� ����� � ��� �� 	��� ������ 	����	 ��� ���
 	��� ��� 
	��� 
�	 ��		 ������ ����

a = λ
����

����	 ���� ������ � �
δ

�	 ���� � 1
���� 	����� 	� 	���� 	����� 	����	 


λ
�� 	����	 ����	�� �

λ > 0
��



λ

��� �� �����	 ����	��
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ÿ + bẏ + cy = x

 ���� �

�� �4��5�� � �4�6 �5� ��5� �� ��7�� �� � ������ 68 �7�8
1

2

(

−b ±
√

b2 − 4c
)

.

 ���� �
���� ����� � �9�� 67 1�� �4� � �� ��7�� �� � �7�7� �0�

b2 ≥ 4c
�� �� �� �668 35��� ��

c ≤ 0
��

3�7�� ���� ��8�9� ��76 � ���!� 67 � �8�8 
�!���� ���!� �� � �6�� ���!� �� � �7�6 3� �4 �� �68
�� � �7�7� �� ����� �� 386 31�4 �� �� 0 � �4���� 386� �
� ��7��� � ��47�� �1� 7��7 �9 �1� 68 �
�4�7��

ωn
�� ��1 � �7�� �4�7� ���!�6 68�4 38 69 �

c > 0
�0� � ��8 ��� � �7�7� �� ���5� �� ��8 ���

� �� ����!�7
ξ

�7��

ω2
n = c


 ���" �
2ξωn = b .


 ���: �
���68

b2 < 4c
��� �4� �� 3��49�� � �1��

4ξ2ω2
n < 4ω2

n → ξ2 < 1 .

 ���� �

������ �47 ���� ��6� ��4�5� �� ��7� 31�4 �38 ��

ÿ + 2ξωnẏ + ω2
ny = ω2

nx

 ���B �
�8 �6 � �7 4 �
� ���� ��� �� �9� �756 �9���

x
67 ����� � �|ξ| < 1

� ���� � �7��
ξ
@� �� ��1

ωn
�7�8

�|ξ| < 1
����� ��� �467 3��49�7 ����6 ����4� ��47 ���� � ���4�6 ����7� 686 � ���� �4�� �0 ����

2� ���5 ����� 9���� �� � 69 ���� ���!� �� �714 �
ξ

67 ��9 686 �� �� ���!�� �� ��7��

(jω)2Y (ω) + 2ξωnjωY (ω) + ω2
nY (ω) = ω2

nX(ω)

 ���� �

H(jω) =
ω2

n

(jω)2 + 2ξωnjω + ω2
n


 ��� �

=
ω2

n

(jω − c1)(jω − c2)


 ���A �

c1 = −ξωn + ωn

√

ξ2 − 1

 ����C �

c2 = −ξωn − ωn

√

ξ2 − 1 .

 ����� �

����� � �7�6 1 �4 ���� ���!� �� �� ��8 ��� � �7�7 67 ���� !�0 ��5�8 6��4
ξ

69 �467 � �� 4��

H(jω) =
1

(

1 − ω2

ω2
n

)

+ j2ξ ω
ωn

.
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������� � ���4�5 � ���5 �� � 69

H(s) =
ω2

n

s2 + 2ξωns + ω2
n


 ����" �
�9� �1�6 �� �6��� |ξ| < 1

� ���� � �8 �7� ���� �� 2�6�� ���!� �� 6��6 �75� � ���61 � ���76
���!6�

h(t) =
ωn

√

1 − ξ2
e−ξωnt sin

(

ωn

√

1 − ξ2t
)

u(t) .

 ����: �

3� �4 � �7 � � �7 �1 �6�� ��� �� � ��� �!���� ���!� ��7 �1

s(t) = (h ∗ u)(t)

 ����� �

=

{

1 +
ωn

2
√

1 − ξ2
e−ξωnt

[

ejωn

√
1−ξ2t

c2
− e−jωn

√
1−ξ2t

c1

]}

u(t)

 ����B �

=

{

1 − e−ξωnt

√

1 − ξ2
sin
[

ωn

√

1 − ξ2t + θ
]

}

u(t) .

 ����� �

 ���� �
���96 �

ωn
��9� ���� 3� � ���4�� 
3��

ξ
� 3�� � �8 �7 ���9 �8 �6� � ��1� �4� ���� �

θ = cos−1(ξ)
�7�8

�6�8� �!���� ���!� ����4� �� ��� �� 3� � ���4���
ωn

��� �8�9�� ��� 
|ξ| ≈ 1
� 6��! � �8 �7 ���9 ��0

�95�� �46�� � �� �48� ��9 69 �6�9 �� �!�� ��9 �0 ����� 2
t
67 � �� ����� � �8�9 ���9 � �6�67 � ���6

�
overshoot

67
� �� 48�� ��� 2�!��� ���!�� � ���� �9� � �95��� ��7 �� � �6��� �4� �47 ���� �8�9� ���9
�8�9��7 1�44 ��� ��8 35 ��� �0 � �!� 4�� � ������ � ���� �5�� 38 �� ���!4 �� ���4� � �5 ��� ��96
�7� �5�� ��96 �5� �7 �!���� ���!� 6��!

t
���97 1�44� �� ��1 � �� � �� �!���� ���!�7 �8 �����

� ��!4 �
ξ > 0

@7 ��6�� ��0 � �9�� ��� ���� �47 ���� �8�9�� ���� ��0 �

steady state

�
yss

@� 3��4
�98

�
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@�
90%

67 ��96 �9�!� ���!��7 �9 3� 0� � �� 

Rise time
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tr •
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�5 ��� ��96 69� � ����� �!��1� � �� 

overshoot

� �69�6 �!��1� @
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2� ����� � �0�1� � �� 6���� �1�� ��5 ��� ��9� ���� 3��4
��8�9���

��!��� @ �� �48� 67 ��9� �1�� �� �!7� ���68
1 − yss
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�47 ���� �8�9� � ��5� � � ����
�	
�	 	����

tr
�
 ���� ���


( 8.1.1)
�����	 ����

8.2.1
<�*
.

e−λtr = 0.1

 ����A �

tr = − log 0.1

λ


 ����C �

OS
	����	 
��������� 	���� 	��� 	����	 ��� ���� ��
 
�	

tp
�� �� ��� 
����	 ����	 �� 
�	 �������	 ��
�

�����	 �
 ���� ��
 � α
�� 	
��� ��� ���� �	���	 �� � � ����� 		� � �����		 �� � � ���� 
	��� 	��
�

0

�	

�
0.05

�

0.01, 0.02

e−λts = α

 ����� �

ts = − log α

λ
.


 ����� �


ess = 0

�� ����

� ���� � �����	 ���	��	
ξ2 > 1

�
 

ξ > 0

�� 	���� ����
( 8.2.6)

��� ���� �����	 ����
8.2.2

<�*
.
�����	� ��
� �����	 �� 	� ����� 
� ����� 	���	� 
� ��� ����
� ���� ������ 	� �� �� �� ���
 	�����

�����	 �����	 �� �
�� ��� ����� �
 ������ ����� ��� ������ 	� ���� 
�

overdamped � ��� ������ 
�	
������ 	� 	����� ����� ����� 
��� 	� ��� �ξ2 = 1

��
� 
�	 ������ �����	 � ��	��	� 	� ���� ����	
����� �� ���� ��
� � ����� 	���	� ��


ξ < 1
�
 
�����	 �����	 �� �
�� ��� ��	� ������ ����� ���

���� �����	 
�����	 �����	 �� �
�� ��� ������� � ������� ����� ��� ������ 	� 	���� 
�
underdamped �

���	 �� ������� � ��� ��� ����� ��� ������ 	� 	���� 
� ������ 
�	 	����	 	� 	�����
ξ = 0

�
 ������

�����	 �����	 �� 	� ���	



ξ2 < 1

��� �� 	���	� ������ 
�����	 ����	 �� ��� � ��� �	 �����	� 	���� 	��
 �����	
ξ < 0

�
 �� ����

���� ��� ��� �����
�

� ��
�� � ��� � �
� � ��
��64���� ������ ����4�5 �69� �8�9� 68 �6��7 ������ ��D�� ��� 69 ��� ���� �8�9� 68 �8 �6 � �7 4

����� ���6 3� �4

H(s) = C

∏N
n=1(1 + s/αn)

∏M
m=1(1 + s/βn)

= C ′

∏N
n=1(s + αn)

∏M
m=1(s + βn)


 �" �� �
9���� ��09� �8�9�� �� ���6 3� �4 386 �

(−βm)
�� �8�9�� ���� �

(−αn)
�� �8�9�� ��5� �7�8

��8�9�� 67 � ��5�� � � ����� � �� �� �� ����� @� ��5�� � ���� �5�@� ���7 ��09��
C��� � ��5��� � ����� ��7 � ��8���� ��7 ��� 67 3�� � ��� � ��8 ��� � ����� � ��5� !�0 � 0 � ���7�

� 
� ��8 ��� � � ����� � ���� !�0� � ��7�� � ��5� �47 ��7�� �� �� � �66�8 �� �6��7
� �9 �57�� � ���� 7 � ���� ��8�9�� ���!� 69 � ��5��� � ������ �1� 68 9�57� ���8 2�6�7

��� ��
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�47 ���� �8�9� � ��5� � � ����

-
<e s

6Im s

×0

×

×
0

0

0

� ��5� � � ���� �5� 2 �� � ���

������ ����4�5 �9 �47 ���� �8�9�� ��7 34��� 4 ��0 ���16 ��8

T0(s) =
ω2

n

s2 + 2ξωns + ω2
n

.

 �" �� �

�7�1 �8�9� 6��4�
(−a)

���� 4� �5� �8�9�6 � �� �4 �98

T (s) = T0(s) +
s

a
T0(s) =

ω2
n

s2 + 2ξωns + ω2
n

(

1 +
s

a

)

.

 �" �" �

����� ��0 � �7�4 ��

T (s) =
ω2

n

s2 + 2ξωns + ω2
n

+
s

a

ω2
n

s2 + 2ξωns + ω2
n


 �" �: �
�0 ���!� 67 ��0!4� �5� ��� �

T0
67 �!���6 ���!�� ��� �!���6 ���!�� �8 � ����4�6�� ���� �0�

T
�8�9�� 67 �!���6 ���!�� �0�

s(t)
@� �!���6

T0
67 ���!�� �� 3��4 �� ��� �68 �
9��� 6�58 �

���

y(t) = s(t) +
1

a
ṡ(t) .


 �" �� �
������ 3���9 � �� �� �!�� �8 ���4 ���

y(t) =
[

1 + A1e
−λ1t + A2e

−λ2t
]

u(t) .

 �" �B �
@�� ����4�5� �����7 3���8�7 �6 � �7 4� �

( 8.3.5)
�� ��7��

( 8.2.17)
@@

( 8.2.15)
�� ���4 ��0 � ���6 ��8

� ������ ���68 2
δ

6�8�6 �6�8 � �4�� �!���� ���!� ��48�� ���� 7�� 3�� �4��� ��� ����9 ����
� 
� ��6� 3�0��� � ! � ���6 3� �4 ��0 � ��5��� ��6�� ��0!47 �6�8 ��

� ������ ��4�7� �
λ1, λ2

3�0� �9��� 69 �6 �� �� ������ 69 �9�57� �5�� �5� ��7 ��� �4����
��5��� ��9� 69 9�57 � �6 � ���� ����� �6�� 
��8 � �!��1 � �4��!�7 � ����� ��4�7 3� ��8 � ��!�

� ���6 �75� �0� ��8���� ��7 ��� 67 6��7 ��� � ����4 � ����� ���68 ������ � �� �8�9�� ��
�3��

t
���9 �6�9

s(t)
@7 
��61�� ��9� �5�� ��9 ��57�� 7 �� �7 � �� � �!���� ���!�6 �668� ��� ����

� ! 
�8���� ��7 ��� 67 6��7 ��� � �� �45� ��7 �5�� �� �68 �
a > 0

��� �� �� ��1 � �� ��0!4� 386
�!���6 ���!��7 6��4� ������ ��0!4� �0�

a < 0
�� ��0 ���96 �� ���� � �4�0� �6�9

T
67 ���!��

6��7 ��� �5� �5� �� 3�� �� ��� �4�7 7 � �0 3� ��� �� �69 �8 �1� ��� ��5�6 �1�� 6� ������ �6�1��
��8���� ��7 ��� 67 �4� �� ����� �5� �5� �� 3��6 


minimum phase
�8�9� � �8���� ��7 ��� 67
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��� ���!� � ��5� � � ����
6��7 ��� �� �� � �1� ���4 �5��7 688 �� �68 ��� �� 6��!

a
@7 688 �8 �46���7 ��� ���� ���� ���4�

��6��! �957� ���� ��7��6 � ��� �5�6 ��5��6� ��� �� �4�� ��957� � ��� �8 ��8���� ��7 ��� 67
�98� ��48�� ���6 ���7 �4��� ���7 �86 � ��!� �47 �5� �5� �� �8 �6 � �7 4 �� ���� � �4� 0� � �156

��8�9�� � �!�4��� �� ��� ��4�7 ��� �
�98 ���!4 ����4 �� �� �5� �� �9�57� ���8

T (s) =
ω2

n

s2 + 2ξωns + ω2
n

1

1 + s/β
.


 �" �� �
� ����� �9 � � ��� ���� � ����6 � �� ����� � ���� �47 6��4 � ���61 � ���76 � ���5 �794 �� �98

������ ��� �� ���4� � 
� ��1�
A3

1 + s/β
.


 �" � �
������ ��� �� 3� �� �8�5� ����� 3�0� ��7 ���

y(t) =
[

B0 + B1e
−λ1t + B2e

−λ2t + B3e
−βt
]

u(t) .

 �" �A �
����� 957 �� � ���6 6�8 � � �� �� ���6 ���!�� ��48�� ��7 ���� 3���9 2���� � �8�9���

β > 0
@7 1�44

9�57 � ������ ���6 �� �� � ���� �� ��� ����68 �
ξωn

@� 3�� |<e β| �� ���� �0 �
β

��� 69 � �� ���
���� �957�� �6��! �7�� �61 69� � ��

β
��0 �� �96 �� �� �� 48��� ��� 69 �� �� � �� ��� �����

���9��
2� ��5��� � ����� �5� ��� ��� �� � ��! ���� ��8�9� ���9 � �796 3� �4 �� �� 1 �� �4

���6� 3��
t
@� � �!�4��� 69 � �� � ��5�� 67 �957�� ��48�� ���� 7�� 3�� �4��� ��� ��9 68

�� �� 48��� ��� 69 � �9 �57� � 4�� ���
��8�9�� 67 3�0� �9 ��� 69 � �� ��� ����� � �9�57�� �� �� ���� ���6 � �� ���� � �����

���
 � ���� � ��
� � ��� � � ��
����9

H(s)
������ �����4�5 �4��47 1�44 ����� ���!� 67 �0�5�� ��!�� �� � ���5 �� �� �98 ���4

69 ������ �8�9�� �7�8 ����7 �58@@@� �64���� � ���4�5 � ��
H

�8 1 �44 � �� �� 48��� � �1�� ���4
jω���68 ��8�9�� 67 ���9 � �� � ��

ejω0t �4����� � ��� �8 �804 �
� �9 ��� � ����� �9 � ���4�6 � D�� ���
� �� �08 �� �486 ���!��

y(t) = H(jω0)e
jω0t
 �: �� �

= c
P (jω0)

Q(jω0)
ejω0t
 �: �� �

= c

∏M
i=0(jω0 + βi)

∏N
i=0(jω0 + αi)

ejω0t
 �: �" �

{−αi} �48��� {−βi} �4��� �7��7 � �� �� �56 �658�8 �48�� � �4�6 �5 � �4��� � �4�6 �5 �� �4�7� �7�8
�� �7� ���! 3�� �� �68 � ���� �1�6 � �� ������� � ���4�57 �6�!�8 �� �1 �4� �4�7 3���8 �������
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��� ���!� � ��5� � � ����
9���� �47��7� �8 �6 � �7 4 ��8�9�� ��5� �� {−βi}@� �8�9�� ���� �� {−αi} 386 ��48�6� � 4��6
�5��� �� � �7�4 �

1
���7 � �� � ��67 �� ��� � ��!� �����7 �8 � �� �4�6 �5� �47 �� 6��46 ��8

c
�1�

� �7�4 �� �68 �� ��5�� ���9 � ! ��0 �794� ����0� 6� �! �56 �� �68 �� ��6�5 �����
jω0 + αi

�8����

jω0 + βi = |jω0 + βi|eφz
i


 �: �: �
jω0 + αi = |jω0 + αi|eφp

i .

 �: �� �
� �7�6 68�4 �98 ��@

i
@� �� ��� 67

φp
i
�0�5� � ! � ��8� �

ω0
���� ���6�

i
@� �5�� 67

φz
i
�0�5�7 3���8

2�8 ���� ���!� ��

H(jω0) = c

∏M
i=0(jω0 + βi)

∏N
i=0(jω0 + αi)


 �: �B �

= |c|
∏M

i=0 |jω0 + βi|
∏N

i=0 |jω0 + αi|
ej∠\c+j

PM
i=1 φz

i −j
PN

i=1 φp
i


 �: �� �

��� ���� ���!� 67 6��!� ���5��

|H(jω0)| = |c|
∏M

i=0 |jω0 + βi|
∏N

i=0 |jω0 + αi|

 �: � �

 �: �A �

��� �0�5��

∠\H(jω0) = ∠\c +

M
∑

i=1

φz
i −

N
∑

i=1

φp
i .


 �: ��C �
�
jω0

����4� 3��6
(−βi)

����4� �5�� 3�� �1��� ����� � �� |jω0 + βi| = |jω0 − (−βi)|
6��!� �6��

<e s
-

6
Im s
jω06

×(−βi)

βi

βi + jω0

PPPPPPPPPPPPPPPq

���������������:

3�7�� ���� ���! 67 6��! 2 �� ����

67 � ��1��� �658� 3�� �1�� ��� 69
ω0

3�� 4 ���� ���� ���!� 67 6��!� �� �716 3� �4 �� �68
ω0

���� 4�� �8�9�� ���� 67 � ��1��� �658� 3��6 ������� ���� 69
ω0

���� 4�� �8�9�� ��5�
��� ���� ���� 69

�
 ��8 � � ������ ������ � 3�!8 � � ��1� � �14�� ��6� �4�� � �� �� �
jω0 ∈ ROC

�8 7 ��� �0 ��7 �1 ����6
� ����� ���! ��!�6 � ��!� �� ���� ���6 ���� �� ���� �� �� �8 ���� � ���6 3� �4

( 8.4.8)
�� ��7��

�� �� ����� � ����� �01 � �1 �46 � ��!� �� �� � �� ��� �5� ��0 �� �96 ��� ���� ��616 � �� ����
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���� ���!� � ���7 � ��5� � � ����

 �
Notch filter


��� 	�� ���� � ω0
���	 �� 	���� 	���� �� ����� ��
 ���� ���� ���� �����

8.4.1
<�*
.

��� ���� ���� 
� ���� 	��
� ����� ������������� ���� �� ���
� ���� ����� ���� ������� ����	 ����
�� ��� 	� ���	 ���� �� �� � ��� ���� ��
�

(−α) = −100ε+ jω0
�� ���� ���� ���� ������ �������

ε � 0.01


(−β) = −ε + jω0

<e s
-

6Im s

jω00×

−ε−100ε

� ���� 34�� 2 �" � ���

�� ����� ���� �� ����
( 8.4.8)

�����	�

|H(jω)|2 =
(ω − ω0)

2 + ε2

(ω − ω0)2 + 10000ε2
.


 �: ��� �
�� ����

ω ≈ ω0
����

|H(jω)| ≈
(

ε2

10000ε2

)1/2

= 0.01 ,

 �: ��� �
�
 ���� � ω0

�� �
� ���� ���
�
ω

����� ��	 ����
ε
�� ����� �
� �� ��� 
� ���� ��� � ���� ������ �� ���

���� �|ω − ω0| � 100ε

|H(jω)| ≈
(

(ω − ω0)
2

(ω − ω0)2

)1/2

= 1 .

 �: ��" �



ω0

���� ���
� ������
1
�� � ����� 	��� �� ��� � � ���� 
�� �


ω0
��� ���� ���� � ���� ��� ���� �����

� ���� 67 ����8 � ���61 � ���76 � ���56 � 4� �4 �8�9�� ���!� �7�8 �� �6 � ���� �4�4567 �����
����7�� � �95��� �� 3���6 ��8 ��� �� � ��! ���� � ��7�� � ���� � 47 � �7�8 � ! �6� �3�7�� ����

��47 ���� �8�9� � �!� 4�� �� 3���6 �� �� �� ��� � � ��8 ��� � �����

�� �� ������� ������� ����� �� ��
�� ��
� � ��
����� � �7�6 3� �4 ���� ���!� � ��0� 6��! ��

( 8.4.8)
�56

|H(jω0)| = |c|
∏M

i=0 |jω0 + βi|
∏N

i=0 |jω0 + αi|

 ���� �

∠\H(jω0) = ∠\c +

M
∑

i=1

φz
i −

N
∑

i=1

φp
i .


 ���� �
�� ��� ���� � �� 4�6�� ����� 6�1� 4
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���� ���!� � ���7 � ��5� � � ����
��	�� ���� �	�� �� �� � �� � �

����� ���� ���!� �� � �7�4
c

jω + α
=

c/α

1 + jω/α
.


 ���" �
35 ��� ��� � ���4� �1�� ��

π
��� �0�56

c/α
67 ������ 386 ��7��

c
6��!� ���7�� �8�9��7 ��


���0� 6��! � ��6�5 � �7 ��� 386 ��� ��1 �1�� ��
0

�� ��6 �67 
�658�� �6��7
c

jω + α
=

|c/α|
√

1 + ω2/α2
ejπu(−cα)−j tan−1(ω/α)
 ���: �

� �7�4 �0� �8���
c

�� �� �� �668 35 ��� ��!���� ����4�5 � ��
u

�7�8
c

α
=
∣

∣

∣

c

α

∣

∣

∣
ej(φc−φα)
 ���� �

�� �� �668� ����� 386 �
α

67 3� ��� �56 �
π

��
0

���
φα

@�
c

�8���� �5��� 67 �0�5� � ��
φc

�7�8
6��4

c

jω + α
=

|c/α|
√

1 + ω2/α2
ej(φc−φα)−j tan−1(ω/α) .


 ���B �
���� �� �7�8 ��6�1� �48�� �957� �� ����4 ���� 3� ��� ��08 �8�9� 67 � ����4�� ����6 �49!�
67 � ��� 4�58 �0�5 67 ���� �� �� � ��!� 67 ���� �� �� � �8�9�� 686 �0� �

ω/α
67 � ���1 �� ����4

�
�0�5� �9��� �00� �6��!� 658 � �9��� �957� �� �0 �6�� ��4���� � �957 �� �6� � �6�!7 3� ��8 �����
� ���6 �6�1�� �957�� �
� �9 ��� �0�5�� ��!�� � 9�57� �4�� �48�� 3��

ω
���97 ��� � �668� �����

�
ω = α

@6 � ������ �7�8 ��� �9�7�
2� ��4 ���� ��!�6 �1�� ���� ��!��

ω = α
����

∣

∣

∣

∣

H(jω)|ω=α

H(jω)|ω�α

∣

∣

∣

∣

=

∣

∣

∣

∣

(c/α)/(1 + j)

(c/α)/1

∣

∣

∣

∣

=
1√
2

.

 ���� �

6��4 �� �� � ��! ����
√

1 + ω2/α2 ≈ ω/α

 ��� �

�
ω
@� � ���4�6 ����� ���� ��!�� 386�

�� 6��!4� � �7�4 �7�8 �3��
ω
@� �0�5��

π/4
@� �4��

ω = α
���� 4� �0�5� �8 ���� ���� 3��71

�� �� 4 ���� � ��0��
π/2

@� �4�� ���0� �8 6��4
α
@6 ��9�

ω������ 3�7�� ���� �5� ���9 �� �� ����

c(jω + α) = cα(1 + jω/α) .

 ���A �
�0�5� �6��!

ω
���9

ω/α
����4�6 ����� �6�9 � �

ω = α
���� ���� √

2
@� �6�9 ��!�� 3� ��8 3�8 �7�8

��� �� � �� ��! � �����
π/2

�9� �6�!� ���� ����
π/4
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���� ���!� � ���7 � ��5� � � ����
�
	 ���� ����� � �� ��

�� ����� � ��8 ��� � �!�0 �� �� ��7�� �� �� 
� ��5�� 38� � � ����� �� �7�� �8�9�� � ��� �9 �4�7 3���8
� ��6� � �!�4��� �987 3���8� ��0 �
� �� ��� � ��5� !�0 �� � � �� ��� � ���� !�0 � ��9 �� �� �8��� ����

����� � ��8 ��� � ���� ��� �9 �8�9� � �7�4 �
ξ

����5� � ! �6� ����� ���� �� �6

H(jω) =
1

(

1 − ω2

ω2
n

)

+ j2ξ ω
ωn


 ����C �

=
e
−j tan−1 2ξω/ωn

1−ω2/ω2
n

√

(1 −
(

ω2

ω2
n

)2
+ 4ξ2 ω2

ω2
n

.

 ����� �

���9 �� �68 �|1/2ξ| 67 ��� ��14��
ω = ωn

���� ���� �8 ���� ���� �� �� 67 ����6 �� �� ��7 �1
��14�� �0� |ξ| = 1/

√
2

�� ����!� 6��4 �� �� 3��
ξ

���9 �6�� ���14� � ��� 38� ��1 69� �6��!7 |ξ|38� � � � ��7�� � ���� !�0 ��8 � �� ��14�� �0� |ξ| = 1
�� ����� �� ��� ��8@

1/
√

2
���� ���� ����

����� ���! ���� �
ξ

� �1 �4� ���!� � ��6� � �� � ! �0�5� ����� �
�� ��7�� � ���� !�0 6�� 4 �0 �����
!�0� � �6��� �4���7 �58 ��14� ��7 �� �68 �

ω2
n/ω2 ��� ��� � �� � 3�7��� ���� ��� 69 ��67 4 ��14��

������ ��� � �!�4��� ���!� � �� 4 ���� �� �68 �
π
@� ���� �0�5�� ���� ��� �� �� �9 � ��7�� � ����

�957�� � ��4�� ����� ��0�5� 69� ��14�� 69 9�57�
ξ
���� ���� �

ξ
@� � �6� �66 �� ���� �47 67 ��8

����� ���6 � �� ���� � ����� �1���� �@@@� �� �9�7�
ξ

67
� ���76 ��54@@@�� �75 ����86 � �� � �64���� ��� ���!� �9 � �7�� �8�9�6 �0 1�� �4 67 ��1��
@��� ��6 ���96 �� �� 1 �4 �6�� ��71�� ��5� �9�� ��6 3� �4 ����7 3���8 ���54� ���� 68� 65� 4� � ���61
� ���� ���9 � ���� 67 � ��!�� 67 � ��� ��!�6 �6��� 67 ��� �� ��� 6����� �4��� �� �4�7 � �� 4��

� ��� �� �� �� 0�5� ���9 � ���4�6 �6��� � �
��6� � ��� ��1

�	 �

db
������ �
 � Decibels

�������� ����� �
α

�� ��� ��� ����
8.5.1

<&.*<

20 log10 α .

 ����� �

�� �8 �4��� 2��!�� 69 �0 ���!� �98 6�954 � ��8 �
20db

���
10

�5 ��!� �
0db

���
1

�5 ��!� 67�6 �8
�0� � �� �75 � ���� � � ��5� �� �66�8 ���� ���!�

|H(jω0)| = |C|
∏M

i=0 |jω0 + βi|
∏N

i=0 |jω0 + αi|

 ����" �

∠\H(jω0) = ∠\c +

M
∑

i=1

φz
i −

N
∑

i=1

φp
i .


 ����: �

Version 1.1
���

September 2006



���� ���!� � ���7 � ��5� � � ����
6��4 � ��8 ��� � ����� � �!�0 3��6 �� ��7�� � ��5�� � ���� 3�� ���54 ��

|H(jω0)| = |c|
∏ |qi(jω)|
∏ |pk(jω)|


 ����� �

qi(jω) =











jω + βi
� �75 �7�� �5�

(

1 − ω2

ω2
i

+ j2ξi
ω
ωi

) � ��8 ��� � �� ��� � ��5� !�0
 ����B �

pk(jω) =











jω + αk
� �75 �7�� �� ��

(

1 − ω2

ω2
k

+ j2ξk
ω
ωk

) � ��8 ��� � ����� � ���� !�0
 ����� �

�� ��!�6� � �4�8�� �6��4 � �6� ���� ��!�� �� �714 �� 386

|H(jω)|db = |C|db +
∑

i

|qi(jω)|db −
∑

k

|pk(jω)|db

 ���� �

∠\H(jω) = ∠\c +
∑

i

∠\(qi(jω)) −
∑

k

∠\(pk(jω)).

 ����A �

�66 �8� ��!� �� ���76 ���6 6� � �� � � ��� �1��� �1� 68 1�44 �� �98
�0 �7 �!� �� �� ��5����� ���� ���!� �� � �� �6�� � �5�!� �47 �� ���6 ���71 � ���4� �� �7
�8�9 ���9 ��� �� � �6��! �� 3��

ω
���9 � �8�9� 7 �� �7 � �� � ������ �1� 68 �957� �� � ����� �4�

����� 67 ���� ��!�6 �6���� ����� �8 �804 �� ��4���
� ����� ����� ���6 �9 �0 ����� � �7�4�@@@� ��4 ���� 9��� � �� ��!�� �8 �4��� � �75 �� �� ���9

��� 69 3�� 4 � �75 �� �� 67 ��!� �� �� � �� ��!

20 log
1

|1 + jω/α| = 20 log
1

√

1 + ω2/α2


 ����C �

≈ −10 log
(

ω2/α2
)
 ����� �

= 20 log α − 20 log ω .

 ����� �
����� � ��� ��!�6 �6��� 6�� � �6� ���� 6��!� �� � ����7� �7�8

(−20)
67 9�5 �7 �9 �7 � �� ��0

�� �� � �7 �1 �
20db/decade

67 ����1 9 �5 �7 �� ��5���� 35 ��� 3� �4 � �75 �7�� �5� �8 6��4 �� �� �����
(−40db/dec)

67 ���6�� ���� ���� ������ 3� �4 � ��8 ��� � ���� ��� 
�� ��5���� ������ ��7 � �8 3� �4
���0 6��!� � �69 3� �4 � ��5� ����

� ���4�6� 
���� �4�7� 67 � ���� ��!�6 �6��� 2�� �� � �75 �0�5� ���9 �� ��5� ���� ������
����� ����� �7�� ����� ��� �456 �1� ���� �9 �9��� �0�5� 3�7�� ���� �� �� ���9 ��0�5�
��69 7 � �� ���� ���� � �75 �5� ���9 � 


π/2
67 ����� � ���� ��� ��1� �1� ���� �9 � ���4�6

�6�1� 3�8 � ! �� �3�� ��� ����� �01 35��� ���6�� � �!�4��6 ���!� � ��8 ��� � ���� !�0 �� 0�5�
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�7 �4� �� �8�4 ���� �5 � �656 � ����� 66�8 ����� � �1�� � �8�9� 1�� �46 � �� �7 �4�8�7 �1�6
�34�� 67 3�48� � 1 �� �46 ��!���

�1� �� ����� � �1�� � ������� �������� � 3� 0� � �9��� � ����4�6 � �8�9� ��
Butterworth

�44��
����7 ��! 67� �47 ���� �7 �� ���� 3�48�� � ��75 � �7� ��0 2���4�� �� ��� � �6� ���� � �44��� �!���
���9� 34��� � ��94 �4� �� �4�� 4 � �7 ��� �56 34�� 348�4� �� �� 1�44 �� �44�� 67 �0 �157� ���!4 �7���
348�6 3� �47 � �7� � !� ��� ���� � �75 34�� ��07 � �7� � ! �� ��668 � �44�� 3�48�6 �4�5 3�� �� �0 2� �8 �� 4

67�6 ���� �00� ��� 69 � ������ 0� � ��6�1� � �8 ��4 ���9� 34�� 3�48� ��� 69 � ��1� � ��� � �44��

�� �7 ���6

��������� ����� � � �
2�8 ��!��

Butterworth
34��

	�� ���	 ����� ��
 ������� �� �� 	���� �� ��
��� ����� 
�	
N

����
Butterworth

����
9.1.1

<&.*<
�
 �	���

ω0 > 0
���� �� ����

HN (jω)

|HN (jω)|2 .
=

1

1 + (jω/jω0)
2N

.

A���� �

�����	 ���� ���� ����

|H(jω)|2 =
1

1 + Λ (jω/jω0)
,


A���� �

� ����	 ���

ω0
��� �� ����	 � ������

Λ
�� 
���

2� ���� � �4�8�� �� � �� ��� �4� ���!��� ��8 �6�� �� 08 34�� 7��6 ���8 ���4 �7���
�
ω

���� � ��69 �9 � �4�� �4�� ����� ���� 34��� 67 |H(jω)| ���� ���!� 6��! ��
�∣
∣

∣
H(jω)

∣

∣

∣

ω=0
= 1

� ���� � �� �
ω = 0

���� � �� ���� ���!� 67 ����� ��9� ��

��:



�4��
Butterworth

2
ω0

����
1/
√

2
@6 ���� ���� ���!� 6��! �"

∣

∣

∣
H(jω0)

∣

∣

∣
=

1√
2
.


A���" �

�
20N dB /decade

��� 
���� ���!�� ��� � �� ��5����� � �1 �4� �:
������ ���� ���!� ��

∂k |H(jω)|2
∂ωk

∣

∣

∣

∣

∣

ω=0

= 0 1 ≤ k ≤ 2N − 1.

A���: �

��5� ����
maximally flat

��6����� � �1 ��7 69� ���4 �0 �4�8� 69� � �8 ��4 ���9� 34��

����� ���� � ��
����� � �4�8�� � 
� �7�� �6� ���!� �9 �8�9� ���68 � � �7�� �8�9� ��� 69 34��� �� 7��6 ���4

� �� �5

|H(jω)|2 = H(jω) · H∗(jω) = H(jω) · H(−jω).

A���� �

234��� 67 ������� ����4�5 69 � �7 ���� �� � �7�4 �34��� 67 � ����� � �� �� �� �716 ��8

H(s) · H(−s) =
1

1 + (s/jω0)
2N

.

A���� �
�8 �7 ���� ��� 69 � �4�� 4 �� � �

ω0
���

H(s)H(−s)
67 � ����� 68 67 6��!� �8 � ����� 9��4 3�8�

386�
(sk/jω0)

2N = −1

sk = ω0 exp

(

j

[

π(2k + 1)

2N
+

π

2

])

0 ≤ k ≤ 2N − 1.

A���" �

�� ���� � �4�8�� �� � �� ���� 34��� 9���� 67 � �7�7� ���68
�
ω0

�� ����7 6!9� 69 �
π/N

67 � ���7 � ��� ���0 � �1 ����� �� ��� ��� � �7�7� 68 ��
�8 �6 � �7 4 �98 �

(jω1/jω0)
2N 6= −1

@7 � �7�
s = jω

�� ���� ���� 69 � �7�7 3�� ���7�� ��
‖|H‖|2 67 �� �� �3�

sk
�� �8 9��4 �4���

( 9.2.1)
�1� �4 �� � �6��� �4� � ��7��� �7 ����

� �� 
�8���� ����� �
s∗k

� ! �0� �� �� � 3�
sk

�� �8 9��4 � ��7����� �7��7 � ��
(−sk)

� ! �0�
��8 �� �

2
��

0
�� � �� � ��7��� � �7�7� �5��

ω0
������ 6!9� 69 �� � �7�7� 687 3���8 �7��7

� �7�7 3�� 0� � �
4
@� �61�� � �7�7� �5�� 0� � � ��8 ��� � �7�7� 687 �� 2� ����75� ��7 347 �

� ��75�� �
4
@� �61�� � �7�7� �5��7 ����� � ���� �0 387 �!�0

N
�� ���� �0 �� ��7��

1�8�� 386� �
4
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N
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3�48�
Butterworth

� ����� ����68 ��� �� � ��
(−σ − jωi)

� ! �0� ��� �� � ��
σ + jωi

�� �8 9��4 34��� 67 ���!���
� ����� �� �1�4 ����� 34�� 7��6 ��8 �

(σ + jωi,−σ − jωi)
������ � �!�0� � �9�5 ��

H(s)H(−s)
67

��� ���!��6 �
H(−s)

���� 386 ��� � � ����� ��7 �
H(s)

67 � ����� � ���6 �6�67 �7��� ��61 �7�
2
1–3

����
Butterworth

�44�� 67 ������� � ���� 4�5

H1(s) =
ω0

s + ω0
,


A���: �

H2(s) =
ω2

0

(s + ω0 exp(jπ/4)) (s + ω0 exp(−jπ/4))


A���� �

=
ω2

0

s2 +
√

2ω0s + ω2
0

,

A���B �

H3(s) =
ω3

0

(s + ω0) (s + ω0 exp(jπ/3)) (s + ω0 exp(−jπ/3))


A���� �

=
ω3

0

s3 + 2ω0s2 + 2ω2
0s + ω3

0

.

A��� �

����� ����� � ��
348�6 � �� �4�5��77 ��804 �� �44�� 3�48�� � �6� ��� � �4���� ��� ��8 ���!�6 �4�69 34�� 348�6 ��8

�� �8 ��4 � ��9� 34��
�
H

���� ����� � ����� ���� ����
9.3.1

<&.*<
�Transition band

����	 ���� �
0 ≤ ω ≤ ωp

�Passband
	���		 ���� ���� �� ��� 	���� ����� 
�



ωs ≤ ω �Stopband

�����	 � ��� �
ωp ≤ ω ≤ ωs

�	���		 ����� �
1

���� ����	 ���� ��� �����	 ����	 
�	
H

����	 ��
δp

�����	 
�

δp
.
= max

0≤ω≤ωp

||H(jω)| − 1|.
A�" �� �

������	 �����
H

�� �����	 ����	 
�	
δs

�����	 ���� 
�

δs
.
= max

ω≥ωs

|H(jω)|.
A�" �� �


 �
1


�	� � ����� ��	 ������
1/
√

2
�� ��� ����	 ���� ����� ���	 
�	 �����	 ��� 
�

�discrimination factor
	���		 ���� 
�

d
.
=

[

(1 − δp)
−2 − 1

δ−2
s − 1

]1/2

.

A�" �" �


��
� ���
�� ��	��� �
 � � ����	 ���� �
 � ����	 ��
� ��
� �
��� ��� ��� 
�	
d
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���� �
 ��
1
�� 	���� �

1
�� ��� ���������	 ���� 


κ
.
= ωp/ωs

�selectivity factor
���������	 ���� 
�


���� ����	

�41��� ���! � 0 �����7 3� ��8 �3�9��� ���6 � ���7 ���
ωp = ωs

@�
δs = δp = 0

��6���� 34�� ���9
�� ���!�� � 4�� � ��� ���6�� ���!�

���6� ��!�� � ��71�� �4� ���1 �4� ���! 3� � � ��6!� 3� �34��� 67 D�� �!7 D� ���!�� �8 �6 � �7 4
��0�5�� � ��69��� �
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{y(t0 − 1), y(t0 − 2), . . . , y(t0 − N)}


{y(t) : t ≥ t0} ���� ���� �� ��
( 10.1.1)
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any(t − n) +

M
∑
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bmx(t − m).
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x(t) = 0
�� ��� � x ≡ 0
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�	
( 10.1.1)
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Aifi(t)(10.1.8)


��	�� � ������ �� ����� �		 	
����	 �� ������ � ������� �	
fi(t)

��������	� ��� ��� �	
Ai

��
�


fi(t) = λt

i
��
 �����
	 ����� ��	 �� ���� ��� ��� ���� 
�	

λi
�


��
 
����
	 �����	 ��� 	��� 	� �����
λi = λi+1 = · · · = λi+k

�� ��� �
k + 1

��� ��� ���� 
�	
λi

�� ����


0 ≤ j ≤ k

����
fi+j(t) = tjλt

i

y(t) = λt ������ � �� ��71��� �5��4 �0 �67� �
Z

������ 69 ��647 �1�6 �����8 �1�8�4 �57�� ��
� ����� ��

( 10.1.3)
67 �4!�� �� 3���5 � ��

0 =

N
∑

n=0

anσ−ny(t) =

N
∑

n=0

anσ−nλt =

N
∑

n=0

anλt−n = λt−N
N
∑

n=0

anλN−n.

��4��5�� � �4�6 �5� 67 7��7 � ��
λ

�7�8 � ����
t
686 �5��� 3��1�� ��� ���

� ��� � �7��7� �4� �7�8 � ! � �7�� 3����� �� �� �� 3���56 ��� � �� �� � �� � �4���5 �8 � �� �� �4�
��� ���@�� �48 �8�9� 67 ����6

�������� � �
� �������� ������ �� ��
��� �48� �957�� 08���6 �4�4���� �0 �67� ��61�� ��4�� � !� �� �48� � ! ��6� � �� 3���5 �8 �4���
���6 ���6�

yZSR
3���56 � ��1���� ���68 ��5� �61�� ��4� ���1� ��� 69 � �� ��0 � �796 �1� ���

�� �� �� ���9 �4�797 �58 �8 69 ��!�4 ��61��� ��4� � ���!�� �� 9��� 3�0 ��1�6 � ��6�4 �4� 23���1 7 � �0
��6��7 ���� �1 � �� � �4� � ���� �1 � �� 67

2.2.12
����!�� �804

����� �

(Initially At Rest)

������	 	����� 
�	 	
� ��� �� ��
���	 ������ ��
�
10.2.1

<&.*<


s < tx

����
y(s) = 0

�� ���� 
�	 �� ��� �	����	 ����� �� ��
 
�	
s < tx

���� ��
��	 ��� � � �
� �����	

Version 1.1
���

September 2006



�6�6 ���!� 7�5� � �� ��7�
�� �� ������ �	 
����� ��
��� �� �� � �

�

2.2.1

���!� @@@
IOM

�8�9� � �� ��� �� �48 ��5 �� �8�9�8 � �� ��� 69 ��� ���� �8�9�6 � ��1 ���� �4�
�56� �

SISO
�8�9� �� �0

2.2.5
���!� �56 ����� 3� 0� � ��4�� �8�9� ����� � �� �

2.2.3
���!�� �5 69

� ����� � �� �8�9�� � 

N = M = 0

�� 3��4�� ����6 ��5 � 3��80 �69� �8�9� �� �0
2.2.6

���!�
�����

( 10.1.1)
�� ��7�� �� � �7�6 3� �47 � �7� 


2.2.8
���!� �

y(t) = −
N
∑

n=1

any(t − n) +

M
∑

m=0

bmx(t − m)

�C���� �

38 � ������ � ��9� �� �48� 67 � �8�9� �� ��6�
t
9!�� ���!�� 67 ��9� ����68 �


a0 = 1
�414�7 3���8 �

���9� ���!�� �8�9�
@7 �7 ���� 6�� �� ��� 69 67�6 ��0 �� ����� �4��7 ����4�6 7�5� �� ��7� ���!�6 3� ��8 3� �4
�
m < 0

@� 6�1� �7 �8
( 10.1.1)

67 3�� � ��� � �8�� 67 3��1�� 6��!� ��4�7 ��� 69 3�5 �6�16 �� �
a0 6= 0�7 �5� � �� ��7� 67 �4�7 !�� �� �����

12.5.1
� �9� � ! ���


� ��
��� ����� ��
�� ������	 	����� �
���	 	
�
10.2.2

<,'>
�61��� ��4� ����61�� �1�4�� �8�9� ���!�� ��4� � � �� � �� � ��4� � � �� �� � �8� �8 �6 � �7 4 2<�%
<

;( ;/ ;� �
10.1.2

�49�� �9��4 � ����4�6� 386 �� �5�� ��� �� 3�0 ���9 �5� ��
2

2.2.11

���!� � ��4�5� �8�9� � �� 
�� �9 ��� � � �4�� 4 �61�� ��4� 66�8 �
( 10.1.1)

��� 69 ��� ���� �8�9��
@�� � 7�5�� �0� �� ��0 �� �61��� ��4� �7�8 ��� �48 � �� �� �476 ���!� �714� �61�� ��4� 9��4 ��

�� ���4�6 �8�9� 9���8 �0�@@@�5� �61�� ��4� ���9
( 10.1.1)

�� � �

�� �� 	���� ����� ��
�� ������	 	����� �
���	 	
�

10.2.3
<,'>

3��4 ��4� � � �� � ��
σsx

� ! �0� �4� � � �� � ��
x

�� �8 �6 � �7 4�
s

9��4 �
2.2.18

���!�� �804 2<�%
<
�6 �7 �� �

σsx
�� �48 ���9

( 10.1.1)
�� �� �5

σsy
�8 � ���6 6� �

y = Φx
@�

�������� � �
� ������� �� ���� ����� �� ��
�� ��� 3� 0� � ! ���8�9� 67 ��!�4�� 1�� �4� � �7 �16 � ��� � �� �6�6 ���!�

�� ��� ��

Kronecker delta function

������ �� 	���	 ������� 
�	 ���� �� �� ��	 �������
10.3.1

<&.*<

�	 	����	 


δ
��

δ(n) =











1 n = 0

0

���
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�6�6 ���!� 7�5� � �� ��7�
��� ���56 �4�697 �� ��7�� ����� ����� �6�6 ���!� �716 3� �4

10.1.7
��!�� ���9

y(n) +
3

2
y(n − 1) +

1

2
y(n − 2) = δ(n).


�C�" �� �
3���5� 7��74 386 �

n ≥ 1
���9

δ(n) = 0
@7 3���8 �� �4!�� �� � �� �0 �� ��7�

n ≥ 1
���9 �8 �6 � �7 4

�
N = 2

387 ��61�� ��4� �47 � �7 ��� �
n ≥ 1

� �1�� �714 �7� �61�� ��4� �� � ��4� ��668� �4!�� ���
3� ��8 ���

y(−1) = y(−2) = 0.

�C�" �" �

���7 � ����� �714

y(0) = −3

2
y(−1) − 1

2
y(−2) + δ(0)


�C�" �: �
= 0 + 0 + 1 = 1.


�C�" �� �
y(1) = −3

2
y(0) − 1

2
y(−1)


�C�" �B �
= −3

2
· 1 − 0 = −3

2


�C�" �� �
y(2) = −3

2
y(1) − 1

2
y(0)


�C�" � �

= −3

2

(

−3

2

)

− 1

2
· 1 =

5

4
.


�C�" �A �
3���56 � �� �� 0 �4� �� �68 �
�5� ���7 ��6�� ����4�57 3���8 � �5��� �� ��7�� 67 3�� � ��

n ≥ 1
���9

���4
n ≥ 1

���9 �386 �
(−1,−1/2)

�� �4��5�� � �4�6 �5� �7�7 �8 �4���� ��8 �4�7 �1 �6�� ��4!�� ��
2� �7 �� ��7 �1� � �����6 � ��7 4� �668� �4!�� ��� 3���5�

y(n) = A1(−1)n + A2

(

−1

2

)n
�C�" ��C �

y(1) = −A1 −
1

2
A2 = −3

2


�C�" ��� �
y(2) = A1 +

1

4
A2 =

5

4
.


�C�" ��� �
����1� ��4!�� �� �44�� 3���5� ��1� �

n > 0
���9 �� � ����� �� ��7� 68� 3��1�� 3����7� �8 �6 � �7 4

�
A1 = 1

6��4�
y(1)

���9 �� ��7�� ���4 �
A2 = 1

386�
(−1/4)A2 = −1/4

6��4 � �4��1�� � �� ��7�� ��7
�8 �4��� � �8 ��6

h(n) =























(−1)n +
(

−1
2

)n
n ≥ 1

1 n = 0

0
���1�
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� �6� ��44�5��� �� �486 ���!� 7�5� � �� ��7�
��� �� �
� ��	 �� �� �� � �
2���� ����� � �� �� � �7�4

y(t) = −
N
∑

n=1

any(t − n) +

M
∑

m=0

bmx(t − m).

�C�" ��: �

�3� 0� � �9 ��� � � ����4�6� 7 �� �7 ��� 69 �6�� ���!� ��7 �1 ��
�8�9�� 67

h0(t)
�6�� ���!� �� �6�1� �714 
� �

y(t) = −
N
∑

n=1

any(t − n) + x(t).

�C�" ��� �

386 �
t > 0

���9 � �4!�� ��� �� ��7�� 67 3���5 � ��
h0

����
�4� �� �� � ���6 �4� 69 �� �����

N
�0 3���56 ��� ��7�6 �668� �4!�� ��� 3���5� �� ���4 
� �

386 �� �� ��7�
N

@6 � �� ��0
�� �� ��7�� � ��� ���!��� ��8 ��714 
! �

y(N), y(N − 1), . . . , y(0),

�C�" ��B �

�
n < 0

���9
y(n) = 0

�� �61��� ��4�7 ����9� �71���
���9 �4�7 �17 � �8�96 �668� �4!�� ��� 3���5� 67 � �����5� �� � ���4 �98 
� �

y(N), y(N − 1), . . . , y(0),

�C�" ��� �
� �4�0� �7147

( 10.3.15)
�� ��7�� 6��4 �7� ����4!�� �� � �� ��7�

N
� �7�47 �8 ��� 69

�
h0(n)

�� �8 �� �4��� �
t = 1, 2, . . . , N

6��4� �3� 0� � �9 ����� � ����4�6� 7��74 �98 
� �

h(n) =

M
∑

m=0

bmh0(n − m).

�C�" �� �

���68 � �6�� ���!� �8 ����
( 10.3.14)

�� ��7�� �8�9�� !�� ��� �
� ��6� 3�0�� � ��7 � ��7 �1 ��
� �4!�� ��� �� ��7�� �� ������ 


x = δ
�7�8

y(t) = 0, t = −1, . . . ,−N
�61�� ��4�� ���!��

�716 ��8 �
N

���� ��� �� ��7�� 387 �� �����5
N

� 47 � �668� �4!�� ��� 3���56 �
t > M

���9
� ��4!�� �� � �4���5

N
� ��� 6��4 �6�� � �� ��7� �� ����4�6 � �� ��7�

N
���56 �4�69 �6� � �����5

�
t = M +1, . . . .N +M

� �4� 0�
N

���9
( 10.3.14)

����7�� �� � �7�6 �4�69 �� �68 2����7�� 67
�
h(n)

�� �4��� � �4�7 �17 � �8�96 � �����5� �� � ���4 �98
�
Z
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� �6� ��44�5��� �� �486 ���!� 7�5� � �� ��7�
��� ������ ���� �
 ���
��� �� ���� ��� �� ����� �� ��

��� 69 � ���4 ����5 3���5 ����� � ��7 3���� ��8���
α

���9 7�5� �� ��7� 67 ���9 � �� ���
αt � ���

���9 � �7�5�� �� ��7� �� � ��� �5
y(t) = H(α)αt ���!���

x(t) = αt �� �48� �8
( 10.1.1)

@� ����
�� ��768

H(α)
�8��� 9���

N
∑

n=0

any(t − n) =
N
∑

n=0

anH(α)αt−n
�C�: �� �

= αtH(α)

N
∑

n=0

anα−n
�C�: �� �
M
∑

m=0

bmx(t − m) =

M
∑

m=0

bmαt−m
�C�: �" �

= αt
M
∑

m=0

bmα−m.

�C�: �: �

�� ��� �� 

α

686 � � ���� � 3�����7

H(α) =

∑M
m=0 bmα−m

∑N
n=0 anα−n

.

�C�: �� �
� �7�4 |α| = 1

@7 ���5� ����� �������� ����4�5 � ��
H(α)

��7��� ���47 �58� � ��� 3�0� ��8
��768 � ��67 ���9

Ω = kπ/m
�� ��� �� � ���01� �� �48 � ��7

x(t) = ejtΩ ��� �� �48�
α = ejΩ

����� ���!� ���
H(ejΩ)

���� 4�5� �
y(t) = H(ejΩ)ejtΩ ��� �08 �� �486 �� �!�� �
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�� ��� ���� ����� ������ ����� � �����

� ��� 3�0� � �� �6��4�� � 3�9�! � �8�9� 2� 0 � �976 ��01
2� �8� ��� � ���!��� ����� �� �48 � �8�9�� � ��94 �0 ��5�

y(n) =
∞
∑

k=−∞

K(n, k)x(k) .

���C �� �

�� �48� �� �8 �6 � �7 4 � 

kernel

� D3�9�! �� ����4 � �� � ��8�9�� � �!�4�� �� 3���8 �9� ��
K

����4�5�
���!� � ��

K(n,m)
386 �

K(n,m)
����

n
9!�� ���!�� �0�

δ(k − m)
��7 �� ��6� � �� �8�9�6

�
m

9!�� ��6� �� �486
n

9!�� �8�9��
� �� ����!�7 �����6��4�� �8�9�� 3��4 ���5 ����8

y(n) =

∞
∑

k=−∞

h(n − k)x(k) .

���C �� �

��8�9�� �� �!�����
h

����4�5 3��6 �� �48� � �� 3�� � �� �6��4�� ��� 69 ���!�� ��0 �8�9�

���
�� ����� ������ ���� ��
���
 ����
�
g

���� 3� 0� � �� 686 �8 �6 � �7 4
∞
∑

k=−∞

g(n − k)δ(k) = g(n) .

������ �

�
k = 0

�7�8
g(n− k)

����4�5� ��9 �� 3� � � �8�� ����� 3�0� ��6�� � ���4�5 ���!�� 9��4 3�����7�
6��4�

( 11.0.2)
����6��4�� �8�9� ���!� 69 �0 3����7 6�954 ���5� �

g(n)
���68

h(n) =

∞
∑

k=−∞

h(n − k)δ(k) .

������ �

�8�9�� ���!� � ��
h

���� 4�5� 1�8�� �0� �
( 11.0.2)

�� � 69 ��� ��� ����6��4�� �8�9� �� ���68
��6�� ���!� ����1� � �6 ���@@@��6� �� �486

���



3�9�! � �8�9� ���� 3�0 3�9�! � �8�9�
����� ������ ����


��6� � ��48� � �6�!�� � ����6 �4� �4 � ���4�6 � ��7 � ��� 3� 0� �� ��� �� �48 �8�9� 68 �
3

��5 �56
�4� �4 � ���4�6 � ��7 ���� 3�0� ����� �� �48 �8�9� 68 ��7��� ���47 �58 ��� �� ����� �3�9�! �8�9�8

������ 3�9�! �8�9�8 
3�8 ���94 �6 3� �69 � ��48� � �6�!�� � ����6

y(n) =

∞
∑

k=−∞

K(n, k)x(k) .

������ �

� ��94 ��8�9�� 3�9�! ����4 �� ��7�� � �4�7� �47 67 
��8��� �� � ��7�� ���� 4�5 � ��7 �
K

����4�5�
�
MIMO

�8�9�6 � ������ �� ��6�� ��1��6 3� �47 � ���6 ���6�
SISO

�8�9��

� ��
��� 	
����	���� ����� ����� ��
�� �

( 11.2.1)
��� �� ��
���	 ������ ����� ��

11.2.1
>-/�

@7�� ��� ��!��� ��� ��� � �� � ���� �� �48 � �� 6867 3���8 ����� �� �48 ��5 �� � �� �8�9�� 2<�%
<
�0� �

α, β, x1, x2
� �� �� � � �9 ��� �98 �1�4 �

( 11.2.1)
�� ��

y(n) = Φ[αx1 + βx2](n)

������ �

=
∞
∑

k=−∞

K(n, k)(αx1(k) + βx2(k))

�����" �

=
∞
∑

k=−∞

K(n, k)αx1(k) dt +
∞
∑

k=−∞

K(n, k)βx2(k)

�����: �

= αΦ[x1](n) + βΦ[x2](n)

������ �

;( ;/ ;� �� �8�� � ����4�6� 9��4 �7 �67� 3����7� �7�8
��768 � ���4�6 �� ��� �� �48 �8�9� �1�4 ��8�9� 68 
�9�8 � ����� �668 !�� �� ��07 � ����6 ��8

��� 69
K

���� 4�5 ���!4 �
Φ

��5� ��� 69 ���!���

K(n, k)
.
= Φ[δ(· − k)](n) = Φ[σ−kδ](n) .


�����B �
��6� � ���4�5 �9 6�!4�� ��� 69 �� �48� �� !���4

x(n) =

∞
∑

k=−∞

x(k)δ(n − k) .

������ �

� ����� {fi(k)} �����4�5 � {xi} � �9 ��� ���� 686 �����4�6 � �� �8�9��7 3���8

Φ

[

∑

i

xifi

]

(n) =
∑

i

xiΦ[fi](n) .
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y(n) = Φ[x](n)

�����A �

= Φ

[

∞
∑

k=−∞

x(k)δ(· − k)

]

(n)

������C �

=

∞
∑

k=−∞

x(k)Φ[δ(· − k)](n)

������� �

=

∞
∑

k=−∞

x(k)K(n, k) .

������� �

�3�9�! �8�9�8 �8�9�� 67 !�� �� �46� ��
���!�� � ����4�6� �4�8�7 3���8 � �� � �!������ ���� � D�57� �� �4�� �0 ��7 �17 ����� 2� ����� ��9�
3!� ��6 3� �4 �6 �7� �����4�6 � �8�9� 347 � �38� � ��5 �� 3�� � �8�6 �6� ��5 �� � ��� �1� �5�� �9 � �� �8�6

D�� ��!�6 ��5 � �8�9� �� 3� �6�� �3�9�! � �8�9�8
�3��80 �9 � ��4�� �8�9� � �� 3�9�! �8�9� ���� ��� ��6 ��5


������ ���� 	��

K(n, k) = k(n)δ(n − k)

����� �� �����	 �� 	
�	
11.2.2

()*&$



k > n

���
K(n, k) = 0

�
 ��� �
 ������ 
�	
K

����� �� �����
11.2.3

>-/�
�0� � ����� ��4�� �� 2<�%
<

y(n) =
∞
∑

k=−∞

K(n, k)x(k) =
n
∑

k=−∞

K(n, k)x(k)

������" �
�8

S > N
� �� ��� �0� � ����� �4�� ��4�� �� �47 ��� ���6�

k ≤ n
���9 � ��

x(k)
�8�9� � �6�� 386�

@7
K(N,S) = α 6= 0 .


������: �
�� �48 � �� �1�4

x(k) =











β k = S

0
���1�


������� �

���
N

9!�� ���!�� ��9

y(N) =
∞
∑

k=−∞

K(N, k)x(k) = K(N,S)β = αβ .

������B �

;( ;/ ;� �� ����� �4�� �8�9�� 386� ����9� �� �48� �8�9� ���6� ���!��
� �� ��� 686 ���!� �� �� 3� �4

K(n, k) = 1
3�9�!� 67�6 �36 �8 �6 �� ���8�5� 3�7 3�9�! � �8�9� 7 �

��8�5� �4�� 386� �6�!� 4�� �� �� ��6 7 � �7�
��� � �9�� �

n
3� 0� �7��5�� � �6�� 67� �3�0� �9��� �4�� 3�9�! �8�9� �8 � ���� ��� 4�� ����

�3�0� �9��� ��� 3�9�! �8�9� ��� ���4
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��
�� ����� ������ ����
��� 69 ���!�� ��� �6��4�� �8�9�

y(n) =

∞
∑

k=−∞

h(n − k)x(k) .

���" �� �

�� ���4�6 �� ��� �� �48 �8�9� �� �0 386� �3�9�! �8�9� 67 ���5 ���� 3���8 ��0

�� �� 	���� ���
��� 	
����	���� ����� ����� ��
��

( 11.3.1)
��� �� ��
���	 ����� ��

11.3.1
>-/�



n < 0

���
h(n) = 0

�
 ��� �
 ������ �����	
���� 4�6 �� ��� �� �48 ��5�� ��� �3�9�! �8�9� 67 ���5 ���� ��� ����6��4�� �8�9�7 3���8 2<�%
<

���!�� �56 3� 0� � �9 ��� � ���4

στy(n) = στ

[

∞
∑

k=−∞

h(n − k)x(k)

]
���" �� �

= στ

[

∞
∑

k=−∞

h(k)x(n − k)

]
���" �" �

=

∞
∑

k=−∞

h(k)στ x(n − k)

���" �: �

= Φ[στx](n)

���" �� �
67 ���!��� �7 �67� � 


11.4
��5 ��� 2� ��� 3� 06 ����� � ����6��4��� � �4�8�� 9��4 �47� 3����7� �7�8

;( ;/ ;� �
K(m,k) = h(m − k)

@7 3���8
11.2.3

�57�� 9��4 � ������6 ��4�� �
σ

y = h∗x = x
�0 ����� 38� � 2� ����� � ��

h = δ
����9 �8�9� ��57�� ��4�6 ����� �8 �6 � �7 4

�� ����� 38� �8�9���
2� �� �6��4�� �8�9� 1�8�� � �� 3� 0� �9��� 3�9�! �8�9� ��47 ���

�
x

��� ��
 

h(n)

.
= K(n, 0)

����� 
�� �� 	���� ����� �� �����
K

�	�
11.3.2

>-/�
∞
∑

k=−∞

K(n, k)x(k) =

∞
∑

k=−∞

h(n − k)x(k) .

���" �B �

����!��� 2<�%
<
Φ
[

σ−τδ
]

(n) =

∞
∑

k=−∞

K(n, k)δ(k − τ) = K(n, τ) .

���" �� �

�8 9��4 3� 0� � �9 �����
Φ
[

σ−τδ
]

(n) = σ−τΦ [δ] (n)

���" � �

= σ−τ
∞
∑

k=−∞

K(n, k)δ(k)

���" �A �

= σ−τK(n, 0)

���" ��C �

= K(n − τ, 0) .

���" ��� �
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����6��4�� ���� 3�0 3�9�! � �8�9�
;( ;/ ;� �18�� �57�� �

K(n, τ) = K(n − τ, 0)
�8 9��4 � �� ��7�� ��7�

�3���� �� �1�4 386� ������� ��09� �0 �7 �4 1�46 � �� � 1 �4 2�8�5� � �� ����6��4�� �8�9� 68 �6
�� �� �4�8� � � �� �6��4��� �6�95 67 ���9�� ��016 3� 0 7 ��� 4 ��46 � �� �71 3� ��� �6��4�� � �8�9�7 3���8

���
�� ����� ����

�� ������ �������� ��� ��� ���� �� �� 	�� ������� �����
11.4.1

<&.*<

(f ∗ g)(n)
.
=

∞
∑

k=−∞

f(k)g(n − k) .

�� ���� � �4�8�� � ���6��4��� �6�956
�� �68 �
��71 �4�� � �4�7�� ��� � ���� ��� �� ��

f ∗ g = g ∗ f .

���: �� �

k′ = n − k
� �4�7� �561� ��09� ����!�� �� � �7�4 2�18��

(f ∗ g)(n)
.
=

∞
∑

k=−∞

f(k)g(n − k)

���: �� �

=
∞
∑

k=−∞

f(n − k′)g(k′)

���: �" �

.
= (g ∗ f)(n) .


���: �: �

2 
� ��� �6��4�� ��7�7� � ���!��� � �� �� �� �68 � ���� ��������

(f ∗ g) ∗ h = f ∗ (g ∗ h) .

���: �� �

�� �4�7� �561�� 6�!�� � �� �18���
�8 ��� 9��4 � �8�� � ����4�6� 2� ���4�6 �6�95 ��� ��� �6��4��

f ∗ (αg + βh) = αf ∗ g + βf ∗ h .

���: �B �

�
g

686

(δ ∗ g)(n) = g(n).
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����6��4�� ���� 3�0 3�9�! � �8�9�

�00� 2� �� �6��4��� 67 ��5� �4 � �4�8�

(f ∗ σ−τ δ)(n)
.
=

∞
∑

k=−∞

f(n − k)δ(k − τ) ds

���: �� �

= f(n − τ)

���: � �

�
σ−τf = f ∗ σ−τ δ

2� �� �6��4�� ��09� �00� ���6 3� �47 ��� � �9�7��
����� ���71� ������ �� 3� �4 ��6� �00� �9 ��� �6��4�� ��� 3�0 � 00� 67 !�� ���

�� ��� 
�� �� 	��	 �� ������ 	�� �������	 �����
11.4.2

>-/�

(σθf) ∗ g = σθ(f ∗ g) = f ∗ σθg .

���: �A �

�	�� �������	 �� ������
�� ��
	� ���
�	� �������	� �<�%
<

(σθf) ∗ g = ((σθδ) ∗ f) ∗ g

���: ��C �

= (σθδ) ∗ (f ∗ g)

���: ��� �

= f ∗ ((σθδ) ∗ g) .

���: ��� �
�� �� 	��	 �� ���� 	��� �� 	�� ������� ��� �� 	��	 �� ����	� 
� ��� ����� ��� ������	 ����
	 ������� ��
�

;( ;/ ;� 
	�� ������� �� ������

���5��� ������ ��� �9�6 � �� �96 � �71 ���7 � ����� � ��� �6��4�� �716 ��8
�� ��� �� �� ������
� � ��� ����
��	 ��� �
 ��� �	

f, g
�� ����

11.4.3
>-/�

f(n) = 0 for n 6∈ [a, b],

���: ��" �

g(n) = 0 for n 6∈ [c, d] .

���: ��: �

��


(f ∗ g)(n) = 0 for t 6∈ [a + c, b + d] .

���: ��� �

�714 2<�%
<

(f ∗ g)(n)
.
=

∞
∑

k=−∞

f(k)g(n − k) .

���: ��B �

��� �� �8�6 �� ��� 3�� 386�
f(k) = 0

�0�
k < a

�� �
k

67 � �1� 68� ���� �� � ���4
n < a + c

��
6��!� ��!6 �18��� �� �8�6 ����� 3�� � �7 �

g(n− k) = 0
0� �

n− k < a + c− a < c
�0�

k > a
�� �47

;( ;/ ;� ���0 3��69�

Version 1.1
�"�

September 2006



��8�9� ����1 ���� 3�0 3�9�! � �8�9�
��� ����
�� ������� � �� ���� � �

@�6 ��4�� �8�9�8 �� �� !���6 3� �4 386 �3�0� �9��� � � ���4�6 �8�9� � �� � ��61�� �1�4�� �D� �8 �4���
��4!�� ��� 3���5� ��7 �1 ��� 69 �� �� ��6� 3�0�� �� � 69 2� �� �7 �5��� �716 3� �4 �6�� ���!� �� �� ��

�6�!��� ���9�� �6� � �� �7
��� ��

����� ���� ��� �� ��
�� ����� ���
� ���� ��

�� �48� �� ����68 �
�D�6 � 3�0� � �9��� � ����4�6 � �8�9� 67 �����9 � �� D � �� �6� ��44�5��� ���
�� ��� � �� ��� � ! ���!�� �0� �
�8��� �5�� � ��

z
�7�8 �

x(n) = zn ������ � �� � �� �D�6 �8�9�6
38� 3 �

H(z)
�8��� 9��� ���9

H(z)zn ���� ���!�� �� �68 �����

y(n) =

∞
∑

k=−∞

x(n − k)h(k)

���: ��� �

=
∞
∑

k=−∞

z(n−k)h(k)

���: �� �

=
∞
∑

k=−∞

znz−kh(k)

���: ��A �

= zn
∞
∑

k=−∞

z−kh(k)

���: ��C �

= znH(z).

���: ��� �
��6� �0 9��� ��� �48� � �� 6�58 
3�0� ��6� �4��7 6��! �� �68 � 9��� � �� ���!�� �8 �����6 �49!� �

�69�6 ��7 �1�� � �
f

����5�

H(z) =
∞
∑

k=−∞

z−kh(k) .

���: ��� �

�
12

��5� � ���5� ��69 ��64� ��8�9�� 67 ������� � ���4�5 ���4 �0 6��!

������ ����	 ����
�����7 3���8 23�9�! � �8�9� ��7 ���� � ���1� �4�7 �6�1� 1�44 �� �8�9� ��� �1� 3��6 �98 ��014

-
yH1 H2-x -z

���� � �8�9� ��� �1 2���� ����
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��8�9� ����1 ���� 3�0 3�9�! � �8�9�
����� ����� � ��1� �4� ��0 ���6 68�4 3�9�! � �8�9��

y(k) =

∞
∑

u=−∞

K1(k, u)x(u)

���� �� �

z(n) =
∞
∑

k=−∞

K2(n, k)y(k)

���� �� �

386�

z(n) =
∞
∑

u=−∞

∞
∑

k=−∞

(K2(n, k) [K1(k, u)x(u)])

���� �" �

=

∞
∑

u=−∞

(

∞
∑

k=−∞

K1(n, k)K2(k, u)

)

x(u)

���� �: �

=

∞
∑

u=−∞

K(n, u)x(u)

���� �� �

��� 69 3�� 4 �66�8� �8�9�� 67 3�9�!� �7�8

K(n, u) =
∞
∑

k=−∞

K1(n, k)K2(k, u) .

���� �B �

6��4 � �� �6��4�� � �8�9� ���9

z(n) = (x ∗ h1 ∗ h2)(n)

���� �� �

= (x ∗ (h1 ∗ h2))(n)

���� � �

�3�9�! � �8�9�6 � ������ ��� � ���7 � �� �3�8� �

z(n) = (h ∗ x)(n)

���� �A �

h = h1 ∗ h2 .

���� ��C �

3�9�! �8�9�� �� ���6 �� �48 3�� �7�� ����1� ���9 ��� �� � �75 � �� � �8�9� ��7 67 6����� ����1
��� 69 �� ���

y(n) = y1(n) + y2(n)

���� ��� �

=

∞
∑

k=−∞

K1(n, k)x(k) +

∞
∑

k=−∞

K2(n, k)x(k)

���� ��� �

=

∞
∑

k=−∞

(K1(n, k) + K2(n, k)) x(k)

���� ��" �
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��8�9� ����1 ���� 3�0 3�9�! � �8�9�

-x

-

-

H1

H2 -
y1

-
y2

-
y��
��
+

6����� � �8�9� ��� �1 2���� ����

386�

y(n) =

∞
∑

k=−∞

K(n, k)x(k)

���� ��: �

K(n, s) = K1(n, k) + K2(n, k) .

���� ��� �

6��4 � �� �6��4�� �8�9� ���9

y(n) = (h ∗ x)(n)

���� ��B �

h = h1 + h2 .

���� ��� �

����� 1�46 3� �47 ���� �� �8�9� ����16 ���7� 3� �4 3�9�! ��� 69 � �8�9� ��� ��7 ���4 ��8 ��
����1 � �� � �8�9�� ����� � ��� ���� � �� �� �1� �1� �6�� ��� �� � ��8��� � �� �� �1 � ! 
��� �75� � ����
3� ��� 7 �� �7 � �� �����6��4�� � �8�9� ��7� ��8���� ��08 �8�9� 1�46 3��� 4 236�6 ����7�� ���7�

-��
��
+

x

6

�

-

H1

H2 -
y

� ?

��7� ����1 2���" ����
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��8�9� ����1 ���� 3�0 3�9�! � �8�9�
�1� �46 6�� �� 6����� �� ���� ����1 ���9 ��8 � �� �7

y = (x + y ∗ h1) ∗ h2

���� �� �
�7��� �

x
@� �67 � �6�� �� ���6�

y
�� �4�� 	616 3� �4 ���8 ���� �6 �7� ������ �1� �4 � ��7

���0 �8�9� 1�46 6� ����� � �� �7 ��09� �8 ���4
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�� ���

Z
��� ��

3� ��� ��8���
α

���9 7�5� �� ��7� 67 ���9 � �� � ��
αt �6� ��44�5��� ��� �8

10.4
� �9�� �4���

H(α)
�8��� 9��� ���9 � �7�5�� �� ��7� �� � ��� �5

y(t) = H(α)αt ���!���
x(t) = αt �� �48�7

��� 69 3�� 4 �0 9 ��� �� ��768

H(α) =

∑M
m=0 bmα−m

∑N
n=0 anα−n

.

���C �� �
�9��� ����4�6 �8�9� 67 ���9 � �� ��� �6� ��44�5��� � �� ��� �� �668 35 ��� �8 �4���

11.4.2
� �9��

�7�8
y(t) = H(α)αt @8 ���86 �0 ����� �75� ��6� ��44�5��� �� �486 ���!�� �� �3� 0�

H(α) =
∞
∑

k=−∞

α−kh(k) .

���C �� �

��� ��6 � ����� ��656 �����6 6����� ������ �68� ��656 ����� �� ������ ��80� �0 ����
6�5��6 ������ ����� ��� ������ 3�8 � ! ��656 ����� ��8 �

Z
����� ���4 ����� 3�0� � �8�9� �

�� ���� �1 ������ ���� 7 � �61�� ��4� 67 �957�� � ��71�� ����6� ������ �� �48 � �8�9��
���!�� 7��74 ���� 3� 0� � �� ��6 �

4.1
� �9�� � �� �� ��1�� 67 � ���!�� �804 ������� 3��47 �456

�����
��� lp

����� �����
p ≥ 1

�� ���� � �� ������ �
 � ����� � � ������� ����
12.0.1

<&.*<

||x||p .
=

(

∞
∑

k=−∞

|x(k)|p
)

1

p

,

���C �" �

||x||∞ .
= sup

k
{|x(k)|} .


���C �: �
�� ��� �� ���� 	� �
��	 	����	 ����� � �������	 ���
� �����

lp
�� �������	 ���
 � ����	

lp = {x : ||x||p < ∞} .

���C �� �

�"�



� ���� �� �����
Z

�����
l1

�� �� ��1� � �� ��� ���� � ��
l∞

�1��� ���5� �����4 �9 ���4�6 �1�� � ��
lp

�1���
p ≥ 1

686
�� �5�� ��!�4� � �69� � ����4�5� ���� ���

l2
�1��� ��61�� � �� �8�� 
� ���� 4�5 � ��� ��� �� �� � ��

� �� �45 �658� ���!�6 3� �4 
�
p = 2

���9 ��� � �� ��9�

〈x, y〉 .
=

∞
∑

k=−∞

x(k)y∗(k)

���C �B �

�〈x, x〉 = ||x||22
��� � �� �45� �658�6 ���7� ����4� �

y
67 �8���� ����� � ��

y∗
�7�8

����
 �� ����� �� � �
����� ��

Z
����� ��656 �����6 ����� �48� ��4� �1� ����� 3�0� � �� ��6 ���!��

Z
�����

�3�0� � �9 ��� � � ����4�6 �� ���@�� �48 � �8�9� 1�� �46 � �71 �68 �7�7�
�����

z
�����	 	����	 �� ����� ���� ������

x
��
 �� ��������

Z
����	

12.1.1
<&.*<

∞
∑

k=−∞

|x(k)z−k| < ∞ .

������ �


�	 	���		 �
�

X(z)
.
=

∞
∑

k=−∞

x(k)z−k .

������ �

	���		 �����
z

�� �����	 ���
 
�	 �
ROC: Region Of Converngence � � �����		 ���� �
 �	���		 ����

��� X
	���	�

x
��� ���	 �
 ���� 


( 12.1.1)
������	 �
 ������ ����� �� ��� �������

x
Z↔ X , X(z) = Z[x](z) .


�����" �

�9��� �66 �� �� 48��� � �1� �
X(z)

���� 4�5� 2� �4�� 4 ��� ��� 69 ���!��
Z

����� ��656 ����� ��8
�
X(z)

�9��� � ���
x(n)

�� �0176 68�4 �6 � �� 48��� � �1�
�� �� !����� � �� ���!4 ���� 3�0�

x(n)
��� 3�4�� ��656 ����� ��� !�� ��6 3� �4 �0 ����� �79�6

2� ��6� ��� � ��� 3� 0�

xc(t)
.
=

∞
∑

k=−∞

x(k)δ(t − k) .

�����: �

Xc(s) = L[xc](s) = X(z)|z=es = Z[x](z)|z=es . 12.1.2
>-/�

6��4 ���!��� 2<�%
<
Xc(s) =

∫ ∞

−∞
xc(t)e

−st dt

������ �

=
∞
∑

k=−∞

x(k)e−sk
�����B �

= Z[x](z)|z=es .

������ �
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� ���� �� �����
Z

�����
;( ;/ ;�

	���	 ���� 

z

��� ���� ���
 � �����		 ����� �����
Z

����	 ��

x(n) ≡ 3

��
�� �� ���
12.1.3

<�*
.
����� �� �� 	���� 
�	

u
��
�

x(n) = anu(n)
��� �	 � �
	 ��

u(n) =











0 n < 0

1 n > 0 .


����� �


�	 	���		� 	���� 
�	
x

��

a = 1

�


U(z) =

∞
∑

k=−∞

u(k)z−k
�����A �

=
∞
∑

k=0

z−k .

������C �

����
a

���� 
|z| > 1
�
 ��� �
 ���	 ����� 	� � ���

X(z) =
∞
∑

k=−∞

x(k)z−k
������� �

=

∞
∑

k=0

akz−k
������� �

=

∞
∑

k=0

(a

z

)k
.


������" �

���� 	� � �
 ���� ��� ��� 
{z : |z| > |a|} 
�	 	���		 �� ������		 ���� ���� �|a/z| < 1
�
 ����� 	� ���

�� �����		 �����
z

���� 
�����	 ������ ����� ���� 
�	 ������		

X(z) =
1

1 − a/z


������: �

=
z

z − a
|z| > |a| .
������� �

��
�� ��
 ���� ���
12.1.4

<�*
.

x(n) = −anu(−n − 1) .

������B �
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� ���� �� �����
Z

�����
	���		 ���

X(z) = −
∞
∑

k=−∞

x(k)z−k
������� �

= −
−1
∑

k=−∞

akz−k
������ �

= −
−1
∑

k=−∞

(a

z

)k
������A �

= −
∞
∑

k=1

(z

a

)k
������C �

= −z

a

∞
∑

k=0

(z

a

)k
������� �

= −z

a

1

1 − z/a


������� �

=
z

z − a
|z| < |a| .
������" �

�� ��� �|z| < |a| �
 ��� �
 ����� ����	 ��� 
���� �� �	 �� ������� ����� ���� ��
� 	��� ��
	 	� 	����

�����	 ������ ���� ���� 
�	 	� ��
�� ��
� ������		 ����

���� �� �0176 ��8 2��0 � �� � �4�7 � �� �� �47 ���9 ������ 67 ��64���� 4�5� �����7 38 �� �46� ��
�� �� 48��� � �1� ��� �9�6 � �� ��1 �4� 3� 0� ��7 ���

��� �� ��� �
 � ���� � ����� ����
x(n) = anu(n) + bnu(−n − 1)

���� ��	 ��
	 ����
12.1.5

<�*
.
�� ���	 �� ����
����

X(z) =
z

z − a
− z

z − b


������: �
	���		 �� ��� ���� �
�� 
|a| < |z| < |b| �� ��� �� ������ �����		 ��� �� ����	 
�	 ������		 ���� ��
�


|a| < |b| �
 �� ������

�
z = rejθ 2� ���6�5 � �� 4����� ���

z
�4�7�� �� � �7�4 �668 35��� � �� 48��� � �1� �� 1�46 ��8

����� � �7�6 386 �75� � �� 48��� ��4� �� ��� ��1 6��! � ��
r

�7�8
∞
∑

k=−∞

|x(k)z−k| =

∞
∑

k=−∞

|x(k)|r−k
������� �

< ∞ .

������B �
��� 69 ��!�� � �� 48��� � �1� ����1� � �6 ��� ���

z
67 �61��� ��9� �� ��6� � �� 48��� � �1� 386

2� ���� � �4�8�� �� 6��4 �656 ������ ��8 ��8���� ��7 ��� � �6!9�
���
�	 � �����	 � �����		 �����

12.1.6
>-/�
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����� �1 �����
Z

�����

�����	 ������ ������� ��� ����� � �����		 ���� 
�


����� � ��� 
�	 ������		 ���� ��� � � �
 ���� 
�



z = 0

	����	 �
 ���� 
�� ����������� �� ����	 
�	 ������		 ���� ��
�� ��
 ���� 
�


���� 
�	 � �����		 ���� ����� �� 	��� ���� 
�

��
 
�	���
n < 0

���� ��
� 	��� � �
	 �
 ��
� �
z

�� 
�	 � �����		 ���� ���� ��� �� � �
 ���� 
�


0

	����	 �
 ���� ���
 	� � ���


	���		 �� ����� ���� ���
 � �����		 ���� 
�

@7 �8
N

� ��� �4� � � ���7 3���8 �6!9�6 	�1� � �� �4� � � ��6 � �� 48��� � �1� �8 �� 1�8�4 2<�%
<
�1�4� �� �� 48��� � �1�� ����4

z = r0
����4�7 1�44 �

N ≥ 0
�8 �6�1� 1�44 �

n < N
���9

x(n) = 0�0� �
r > r0

∞ >

∞
∑

k=−∞

|x(k)||z|−k
������� �

=
∞
∑

k=N

|x(k)|r−k
0


������ �

≥
∞
∑

k=N

|x(k)|r−k
������A �
2�8 ��7 �1� �� �47 4

N < 0
�� �� �� 48��� � �1��

r
� ! �� �68

∞ >
∞
∑

k=N

|x(k)|r−k
0


�����"C �

≥
∞
∑

k=0

|x(k)|r−k
�����" � �
� ����� ���4� �

−1
∑

k=N

|x(k)|r−k < ∞
�����" � �
�� �� 48��� � �1�� � ��

r
� ! 386�

� ��9 386 �� �� 48��� � �1�� � ���6 6�8 � �4��
0

�0� ���768
n > 0

���9
x(n) 6= 0

�� �8 �6 � �7 4
;( ;/ ;� �

n > 0
686

x(n) = 0
� D��

0 ∈ ROC
�6��7 � ��

����
 �	 ����� �� ��
�����

z
�����	 	����	 �� ����� ���� ������

x
��
 �� ��������

Z
����	

12.2.1
<&.*<

∞
∑

k=0

|x(k)z−k| < ∞ .

������ �
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������ � �4�8�
Z

�����

�	 	���		 �
�

X+(z)
.
=

∞
∑

k=0

x(k)z−k .

������ �

	���		 �����
z

�� �����	 ���
 
�	 �
ROC: Region Of Converngence � � �����		 ���� �
 �	���		 ����

��� X+
	���	�

x
��� ���	 �
 ���� 


( 12.2.1)
������	 �
 ������ ����� �� ��� �������

x
Z+↔ X+ , X+(z) = Z+[x](z) .


�����" �

�6!9�6 	 �1� ���� � �� � �� 48��� � �1� ��4� � � �� 67 ����� 3� ����� ��� � ���� �1 �����7 3���8

������ ������ �� ��
���1� 7��5�� ���4 38 �� �6� @@@� ���� �1� ��@@@� ������ ��76 ��1���� D�����D �0 � �9��

�� ��� ����
��� 	���� 
�	 	���		
12.3.1

>-/�

αx + βy
Z↔ αX + βY


���" �� �


ROCx ∩ ROCy

�
 ����� ���� ����	 � ��� �

;( ;/ ;� �� �8�� � ����4�6� � ����� 9��4 2<�%
<
�� �� 48��� �� �1� � �� �1� 6��! � ���6 3� ��8 6�8 � � �8� 67 � ��48��� � �1�



ROCx ∩ ROCy

�
 ����� ���� � �����		 ���� 

x ∗ y

Z↔ X(z)Y (z)
�� ���� �� 	���	�

12.3.2
>-/�



x ∗ y

Z+↔ X+(z)Y+(z)
��
 ����� � � �� �
 �	

y
��

x
�


�����6��4��� � ������ ���!� �56 2<�%
<

Z(x ∗ y)(z) =
∞
∑

n=−∞

[

∞
∑

k=−∞

x(k)y(n − k)

]

z−n
���" �� �

=

∞
∑

k=−∞

x(k)

[

∞
∑

n=−∞

y(n − k)z−n

]
���" �" �

=
∞
∑

k=−∞

x(k)z−k

[

∞
∑

n=−∞

y(n − k)z−(n−k)

]
���" �: �

=

∞
∑

k=−∞

x(k)z−k

[

∞
∑

m=−∞

y(m)z−m

]
���" �� �

= X(z)Y (z) .

���" �B �

�� ������ ��7 67 ���48��� � �1�� ���4
z

�� 3���8 ��� ��7 �1�
;( ;/ ;� ������� �18���� �9� �4 ������ 386� �4� � � �� � ��

x ∗ y
�0� � ��4� � � �� �� ��

y
@�

x
��
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������ � �4�8�
Z

�����


δ(n − m)

Z↔ z−m 
�	 ����� 	��� �� �� �������	 � 	���		 
�� � � ��	
12.3.3

>-/�
����� � �
 �� �� ���� �� � 	���	

x(n − m)
Z↔ z−mX(z) .


���" �� �


z = 0

	����� ���
 ��� ������ 
�� 
�	 ������		 ����
���� ��
�� ���
� � �
 ���� ����� ���
� 
����� �� 	���	� �� ������ � �
���	

m ≥ 0
�� ����� � � �� �
 ����

m > 0
���� ���� ������� ���� �

x(n + m)
Z+↔zmX+(z) −

m−1
∑

k=0

zm−kx(k)

���" � �

x(n − m)
Z+↔z−mX+(z) +

m
∑

k=1

z−(m−k)x(−k) .

���" �A �

2<�%
<

δ(n − m)
Z↔

∞
∑

k=−∞

δ(k − m)z−k
���" ��C �

=z−m
���" ��� �

x(n − m)
Z↔

∞
∑

k=−∞

x(k − m)z−k
���" ��� �

= z−m
∞
∑

k=−∞

x(k − m)z−(k−m)
���" ��" �

= z−mX(z) .

���" ��: �

���0 ����� ��7 �1�
δ

67 � ���� �1� ������
�
m > 0

@� �4� � � �� ���9

x(n − m)
Z+↔

∞
∑

k=0

x(k − m)z−k
���" ��� �

= z−m
∞
∑

k=0

x(k − m)z−(k−m)
���" ��B �

= z−m
∞
∑

k=0

x(k)z−k
���" ��� �

= z−mX+(z)

���" �� �

Version 1.1
�:"

September 2006



������ � �4�8�
Z

�����

�4� � 1�8�� �6 � �668 � ��6 �

k < m
���9

x(k − m) = 0
@7 3���8 � ����� 3��1� �456� 3����7� �7�8

�
m > 0

@�

x(n + m)
Z+↔

∞
∑

k=0

x(k + m)z−k
���" ��A �

=zm
∞
∑

k=0

x(k + m)z−(k+m)
���" ��C �

=zm
∞
∑

l=m

x(l)z−l
���" ��� �

=zm

[

∞
∑

l=0

x(l)z−l −
m−1
∑

l=0

x(l)z−l

]
���" ��� �

=zmX+(z) − zm
m−1
∑

k=0

x(k)z−k
���" ��" �

=zmX+(z) −
m−1
∑

k=0

x(k)zm−k ,

���" ��: �

����� ������

x(n − m)
Z+↔

∞
∑

k=0

x(k − m)z−k
���" ��� �

=z−m
∞
∑

k=0

x(k − m)z−(k−m)
���" ��B �

=z−m

[

∞
∑

k=m

x(k − m)z−(k−m) +

m−1
∑

k=0

x(k − m)z−(k−m)

]
���" ��� �

6��4�
p = m − k

�4� �� � �8��3
l = k − m

�6��7� ����� ���4 �98

=z−m
∞
∑

l=0

x(l)z−l + z−m
m
∑

p=1

x(−p)zp
���" �� �

=z−mX+(z) +

m
∑

k=1

x(−k)z−(m−k) .

���" ��A �

;( ;/ ;�


x(−n)

Z↔ X(1/z) 12.3.4
>-/�

��
 ���� � �
 
�	
x

�


X(z∗) = X(z)∗ , X+(z∗) = X+(z)∗ .

���" �"C �

Version 1.1
�::

September 2006



������ � �4�8�
Z

�����
2<�%
<

x(−n)
Z↔

∞
∑

k=−∞

x(−k)z−k
���" �" � �

=
∞
∑

k=−∞

x(k)zk
���" �" � �

=
∞
∑

k=−∞

x(k)

(

1

z

)−k
���" �"" �

=X

(

1

z

)

.

���" �": �

�7��
x

��

[X(z)]∗ =

[

∞
∑

k=−∞

x(k)z−k

]∗
���" �"� �

=

∞
∑

k=−∞

[

x(k)z−k
]∗
���" �"B �

=

∞
∑

k=−∞

x(k)(z∗)−k .

���" �"� �

67 ����� �1� ������ 3�� �7� � �7 3��7 3� ��8 ;( ;/ ;� ��7�� ���
x
@7 �8� 9��4 3��1�� 3�����7�

�{x(−n), n ≥ 0} 67 ����� �1� ������ 3��6 {x(n), n ≥ 0}

����� ��� �� 	���	� ��������
� 	���	
12.3.5

>-/�

anx(n)
Z↔ X(z/a)


���" �" �


z/a ∈ ROCx


�	 � �����		 ���� �

2<�%
<

anx(n)
Z↔

∞
∑

k=−∞

akx(k)z−k
���" �"A �

=
∞
∑

k=−∞

x(k)
(z

a

)−k
���" �:C �

=X(z/a) .

���" �: � �

;( ;/ ;�
�z
�� 	����

12.3.6
>-/�

−nx(n)
Z↔ z

dX(z)

dz
.


���" �: � �
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������ � �4�8�
Z

�����
2<�%
<

d

dz
X(z) =

d

dz

∞
∑

k=−∞

x(k)z−k
���" �:" �

=

∞
∑

k=−∞

x(k)
d

dz
z−k
���" �:: �

=

∞
∑

k=−∞

x(k)(−k)z−1z−k
���" �:� �

= z−1
∞
∑

k=−∞

[−kx(k)]z−k
���" �:B �

= z−1Z[−nx(n)](z) .

���" �:� �

;( ;/ ;�


nanu(n)

�� Z ����	 �
 ����
12.3.7

<�*
.
nanu(n)

Z↔− z
d

dz

[

z

z − a

]
���" �: �

=
az

(z − a)2
|z| > |a| .


���" �:A �

������		 ���	 ����
12.3.8

>-/�
x(0) = lim

|z|→∞
X+(z) .


���" ��C �
��
 ���� ��
��	 ����	 �
 �����	 ���	 ����

lim
n→∞

x(n) = lim
z→1

(z − 1)X+(z) .

���" ��� �

���!�� �56 ��� ���� � ����� �18�� ���1�6� ��� �� �� �� 4�� ���� �6�1� 3� �4 �� ����� �476 2<�%
<
X+(z) = x(0) + x(1)z−1 + x(2)z−2 + . . . .


���" ��� �
386� �5�6 � �5� �7 3�7��� �9�6 � ����� 68

z → ∞ �7�8
lim

|z|→∞
X+(z) = x(0) .


���" ��" �
���6���5 �� �� �����

X+(z) = x(0) +
1

z
f(z)


���" ��: �

f(z) =

∞
∑

k=1

x(k)z−k+1
���" ��� �

|f(z)| =

∞
∑

k=1

|x(k)| · |z−k+1|
���" ��B �
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������ � �4�8�
Z

�����
3��1�� ��� ��� ����4� ��4� � � �� � ��� � �� ��� ������7 �414�7 3���8 6��!

z
���9 �5�� 3��1�� ��� ��� �

�7��48
x(0)

�� 6��4 ∞@6 ���7 |z| �7�8 386 �6�! |z| �7�8 3��
����!�� � ��� ���7 � �7�4 �5��� ��9� �18��6

(z − 1)X+(z) = zX+(z) − X+(z)

���" ��� �

= z[x(0) + x(1)z−1 + x(2)z−2 + . . . ] − [x(0) + x(1)z−1 + x(2)z−2 + . . . ]

���" �� �

= zx(0) + x(1) + x(2)z−1 + . . .

���" ��A �

− x(0) − x(1)z−1 − x(2)z−2 + . . .

���" �BC �

= zx(0) + [x(1) − x(0)] + [x(2) − x(1)]z−1 + [x(3) − x(2)]z−2 + . . . .

���" �B � �

386
lim
z→1

(z − 1)X+(z) = x(0) + [x(1) − x(0)] + [x(2) − x(1)] + [x(3) − x(2)] + . . .

���" �B � �

= [x(0) − x(0)] + [x(1) − x(1)] + . . . + lim
n→∞

x(n)

���" �B" �

= lim
n→∞

x(n) .

���" �B: �
���4 �

z → 1
�7�8 6��!� 3��6 
�5 �� @3��� � � �8�� 3�� ���� �� � �61�6 3� �4 �8 �18�� 7��� �0 3�9��

6��!
N

��1�6 68�4
ε > 0

3� 4�� �386�
x(∞)

6��!� � ��� �14�� �56 �8 �804 ��� �� � �6���5 �18�� �98
@7 �8 � �5��

|x(n) − x(∞)| < ε

���" �B� �

�98 � �7�4 �
n > N

686

(z − 1)X+(z) = (z − 1)

N
∑

k=0

x(k)z−k + (z − 1)

∞
∑

k=N+1

x(k)z−k
���" �BB �

→ (1 − 1)
N
∑

k=0

x(k)1−k + lim
z→1

[

(z − 1)
∞
∑

k=N+1

x(k)z−k

]
���" �B� �

= 0 + lim
z→1

[

(z − 1)

∞
∑

k=N+1

x(∞)z−k + (z − 1)

∞
∑

k=N+1

[x(k) − x(∞)]z−k

]

.

���" �B �

@7 3���8 ����� 6��!� �� 3� �4 �47� �����

lim
z→1

[

(z − 1)
∞
∑

k=N+1

x(∞)z−k

]

= lim
z→1

[

x(∞)(z − 1)z−(N+1)
∞
∑

k=0

z−k

]
���" �BA �

= lim
z→1

[

x(∞)(z − 1)z−(N+1) 1

1 − z−1

]
���" ��C �

= lim
z→1

[

x(∞)(z − 1)z−(N+1) 1

1 − z−1

]
���" �� � �

= lim
z→1

[

x(∞)z−(N+1) (z − 1)z

z − 1

]
���" �� � �

= x(∞) .

���" ��" �
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Z

�����
����� �08

z
���9 �

z > 1
���9 �� ��� ������ �8 �1���� � ��� �57�� 6��!�7 �14�� �8 �6 � �7 4

� ���� �7 �67�
∣

∣

∣

∣

∣

lim
z→1

(z − 1)

∞
∑

k=N+1

[x(k) − x(∞)]z−k

∣

∣

∣

∣

∣

= lim
z→1

(z − 1)

∞
∑

k=N+1

|[x(k) − x(∞)]|z−k
���" ��: �

≤ lim
z→1

(z − 1)ε

∞
∑

k=N+1

z−k
���" ��� �

= lim
z→1

(z − 1)εzN+1 z

z − 1


���" ��B �
= ε .


���" ��� �
;( ;/ ;� ���67 �� �18��� ��� ����7 35 ��� 3��

ε
@7 3���8

�� �
� ����� �� ��
���9 �4�797 �58 �� ���61 � ���76 � ���5 ��� 69 � �� �8�5� ����� 9����6 �� ��� �� �75� �� �7�

���!��� �5��4� � �� ���� 69 ��014 �6 ��4�7 �1 ��8 �7� ������� 7 �� �7 � ��656 �����

12.4.1
<�*
.

X(z) =
3z2 − 5

2z

z2 − 3
2z + 1

2


���: �� �

= z
3z − 5

2

z2 − 3
2z + 1

2


���: �� �

=
2z

z − 1
2

+
z

z − 1
.


���: �" �

|z| > 1

�� ��� ������ ����	 ����	 ��� �� �����	 ����� ���� 	�	� � �����		 ���� ���� � � �
� ������ 	��	�
������	 	����	 ���� �� ���
���	 � ����

x(n) = 2

(

1

2

)n

u(n) + u(n) .

���: �: �

���� ���
 ������ ����� �
 ������ ������� ���� ���� ����� �� ���

X(z) = 3 +
1

z − 1
2

+
1

z − 1


���: �� �

x(n) = 3δ(n) +

(

1

2

)n−1

u(n − 1) + u(n − 1)

���: �B �

= 2

(

1

2

)n

u(n) + u(n) .

���: �� �
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Z

�����
D� ���6D �75� �0�

z
67 � �� 01� ���8 ������ �� !���6 68�4 �� ��656 ����� ���9 �4���7 �58

��!��6 �� ��� �8�9 �� � ������ � ������ � ���7 � � ������ ��

X(z) = log
(

1 +
a

z

)

.

���: � �

6��4 ��6��� ���6 1 �� �5 �� � 69 ��4� � � ��� ����� �7�8

X(z) =

∞
∑

k=1

(−1)k+1

k

(

az−1
)k�A �

=

∞
∑

k=−∞

−(−1)k

k
aku(k − 1)z−k��C �

=
∞
∑

k=−∞

x(k)z−k��� �

3�8� �

x(n) = −(−1)n

n
anu(n − 1) .

��� �
6!9�� �� 66�8 � �� 48��� � �1� �8 �0 �67� 1�44 ��8�5�� ������ ��7 �16 � ��� �64� � �� �7 �98 ��84

|z| = 1
���9 � �7�4 ����� ����� �8�5�� ������ �� �716 �0 ����� 3� �4 �|z| = 1

z = ejθ .

���: ��" �

��� ������ ���!�� �56

X
(

ejθ
)

=

∞
∑

k=−∞

x(k)e−jkθ .

���: ��: �

6�� �7� ��0 � ���4�5 67 ����5 � �� � ���� � �� ��� ��� � �
2π

��01� �9
θ

�4�7�� ����01� ���� 4�5 �� �0
6�� 4

L2[0, 2π]
�1���

ejkθ � �� ��� 67 � ����4� �4�8�� � ���7 � �� ��0

x(n) =
1

2π

∫ 2π

0
X
(

ejθ
)

ejnθ dθ .

���: ��� �
���48��� � �1��

z0
���768 ���� 4 �1�4 �� �� 48��� � �1�� �4�� ���1�� 6!9� �� ����� �98 65� 4

����� ������ �� � �7�6 3� �4� �� �� 48��� � �1�� � ��
z = r0e

jθ 6!9�� �0� �
z0 = r0e

jθ0
� �7�4�

X
(

r0e
jθ
)

=

∞
∑

k=−∞

x(k)r−k
0 e−jkθ .


���: ��B �

6��4�
θ

�4�7�� ����01� ����4�5 �� �0 9���
r0

���9 ������ ����� ��8

x(n)r−n
0 =

1

2π

∫ 2π

0
X
(

r0e
jθ
)

ejnθ dθ

���: ��� �

x(n) = rn
0

1

2π

∫ 2π

0
X
(

r0e
jθ
)

ejnθ dθ .
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7�5� � �� ��7� 3���5
Z

�����

�8 ����
Residue

� ���7� �57� �8 �804 �� ���7� �57�� 6��47 ��7 �16 �6��7 �0 �1� �4 �79�6

1

j2π

∮

zp−1 dz =











1 p = 0

0 p 6= 0 .


���: ��A �

�
Z

����� ���!��

X(z)zn−1 =

∞
∑

k=−∞

x(k)z−k+n−1
���: ��C �
6��4 � �� 48��� � �1�� ���4� 6!9� 69 6�!� 4�� 9��4 �� ����7� �57�� 386�

∮

X(z)zn−1 dz =

∞
∑

k=−∞

x(k)

∮

z−k+n−1 dz

���: ��� �

= j2πx(n)

���: ��� �

x(n) =
1

j2π

∮

X(z)zn−1 dz .

���: ��" �

�
z = r0e

jθ � �4�7� ��4�7 ��� 69 � ���6 3� �47 �58
( 12.4.18)

@6 �6��7 �0 �1� �4

� �
� ��� ���� ����
 �� ��
����4�6 � �7�5� �� ��7� �4��!�

( 10.1.1)
@�

N
∑

n=0

any(t − n) =

M
∑

m=0

bmx(t − m)

���� �� �

�00�� ����5��� �804
σx(t) = x(t + 1)


���� �� �
6��4

12.3.3
�57�� �3� 0� �4�7� ����

t
@� 7��7�6 �4�01 �� ����4��� ��� �� ��1� ��7�8

Z[σ−mx](z) = z−mX(z)

���� �" �
�� � �7�4 ��� ��� �� �48 �8�9�8 ���� ����7� �� ���16 �4� 69 � ���� �� ����� �6�1� 9��4

����� 7�5�� ����7�
N
∑

n=0

anσ−ny(t) =

M
∑

m=0

bmσ−mx(t)

���� �: �

Q(σ)y(t) = P (σ)x(t)

���� �� �

6��4
( 12.5.3)

����7���

Q(z)Y (z) = P (z)X(z)

���� �B �

Y (z) =
P (z)

Q(z)
X(z)


���� �� �
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7�5� � �� ��7� 3���5
Z

�����
��� ������� � ���4�5 �

H(z) =
P (z)

Q(z)


���� � �

=

∑M
m=0 bmz−m

∑N
n=0 anz−n

.

���� �A �

z
���9 � �� � � �� 48��� � �1� �0� � ����� �8�9� ���6 ��8 � �7�5�� ����7�� � �7��7� �4� ��

� �4�6 �5 �7��7 �9 � ��� �� �1�6 �48�� � �4�6 �5 67 7��7 � �� ��� ��� 69 ��!�� 6!9�� � �6!9�6 	�1�
��� ��� 6��!� 
�4���

6��4
12.3.3

�57�� �� ���� �1 ������ 7��7�6 �4�69 �61��� ��4� �� 3��71� �1�6 ��8

Z[σ−mx](z) = z−mX+(z) +

m
∑

k=1

z−(m−k)x(−k) .

���� ��C �

6��4 ���!6� �1�6 �� ���� ��� ������ ���9 ��8 ��� �� ��� ���94

Y+(z) = H(z)X+(z) +
y

67 �
x

67 �61��� ��4�� � �4�6 �5
Q(z)

.

���� ��� �
������ � �� �47� �� ���� ��5� �61� ��4�� ���!�� �

yZSR

67 ����� �1� ������ � �� 3�7��� �����
��� �48� ���4�6 � �� �5� �61�� ��4�� 3���5� �8 �6 � �7 4 ��5� �� �48� ���!�� �

yZIR

67 � ���� �1�
��61��� ��4�� ���4�6 � �� �5� �� �48� 3���5� �6�� �


�	 � ������� �
����
12.5.1

<�*
.

y(n + 2) =y(n + 1) + y(n)

���� ��� �

y(0) = 0, y(1) = 1 .

���� ��" �

���� � ���� �� 	���	 ����� 
	���� 
�� 	
���� �	��

y(n + 1)
Z+↔zY+(z) − zy(0)


���� ��: �
y(n + 2)

Z+↔z[zY+(z) − zy(0)] − zy(1)

���� ��� �

= z2Y+(z) − z2y(0) − zy(1)

���� ��B �

Y+(z) =
z2y(0) + zy(1) − zy(0)

z2 − z − 1


���� ��� �
=

z

z2 − z − 1


���� �� �
=

z

(z − z1)(z − z2)


���� ��A �

z1,2 =
1 ±

√
1 + 4

2


���� ��C �

=
1

2
±

√
5

2


���� ��� �

Y+(z) =
1

z1 − z2

[

z

z − z1
− z

z − z2

]
���� ��� �
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� �7�7 � � ����
Z

�����
����

z1 − z2 =
√

5
�� �����

y(n) =
1√
5

(zn
1 − zn

2 ) u(n)

���� ��" �

= {0, 1, 1, 2, 3, 5, 8, . . . } .

���� ��: �

�6�� �
a0 6= 0

@7 ��4�� � ����� �8�9� �4� �4 � �7�5�� �� ��7� 67 �467 � �7 ��� ���� �8 �6 � �7 4
�� �8 ��6 ��0 �4�8�� ��6� �4�� ������� �� ��7�� 3�� �41� �57 �7��



Z

����	 �� 	����	 ��
� �
 �
Z

����	 ����� ����� ���� � ����	 �
����
12.5.2

>-/�
�61�� ��4� �9 �
������ � � �7�5� �� ��7� 67 ��75� 3���5 68 �� �� 4�� �1� �8 1 �8 ��6 �4�69 2<�%
<
3���5� �� �716 3� �4 �0� �3�84 �0 �� �� �5�� 6��!

z
���9

Z
����� �6 7 � �7� ��� ��� ���768

����!�� ���9 3���5 7 � �0� ����� 7 � �� �48� � ��6 �� �8 ���� 3���5� !�� ��� �6�� �
Z

����� ��09�
Z

�����7 3���8 ���1 � 3���5 � ��� 7�5�� ����7�6
10.1.1

�57�� ����4� �
z

�4�7�� 67 ����4�5
;( ;/ ;� ��� ��7�� 67 
��1�� � 3���5� ��0 ��� �3���5 �4� �4

� �	�	� � ��� � �� �� � �
��� �0 �� ��7� 67 �4��5�� � �4�6 �5�

10.1.6
���!� �56 �� �7�5�� �� ��7� 67

( 12.5.1)
����6 ��014

N
∑

n=0

anλN−n .

���� ��� �
���!�� 67 � ���7�6 ��7�� � �4�6 �5�7 �46��� 7�5�� �� ��7� 69

Z
����� �4695� �7�8 ��47 ���

� ��
y

Q(z) =

N
∑

n=0

anz−n = z−N
N
∑

n=0

anzN−n .

���� ��B �
@��� ����� 4�5 ���� 68 �
�656 ����� � �4��5�� � �4�6 �5� �7�7 3�� �7�� � � ��� 3�0� ��8 � ���� �386
�� ��5�� � ���� 67 � ���� 7 � �� �� �� �� �4��7 7��7 38� �� ��4��5�� � �4�6 �5� 67 � �7��7 �� ����
����7�� 34���4 �7�5� �� ��7� 67 �1� !�� ��� 34��� 4 �� � ����� �� �� ���4 � ��� 3� 06 �6���� ��

N
∑

n=0

ãnσny(t) =
M
∑

m=0

b̃mσmx(t)

���� ��� �

�4� �4 �0 �� ��7�6 � ���� ��
Z

����� �8 �6 � �7 4 �
σr(t) = r(t + 1)

�00�� ����5�� � ��
σ

�7�8
N
∑

n=0

ãnznY (z) =

M
∑

m=0

b̃mzmX(z)

���� �� �

������� ����4�5 67 �48�� 386�
N
∑

n=0

ãnzn
���� ��A �
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Z

�����
�561�� �9�6 � � ��� 3�0� ����6 3�� �616 ��0 ����� � �

z
67 � ��� ��1 � ��01� �� �� �1�4 ����� 6����

�� ������� �7 �!� 66!� 38 � �0 ����� ������ � ��� 3� 06 ��1� 1�� �4 �75�� �0 3���� �

z

���6
s

�����
��668 35 ��� �

( 12.5.27)
����� 7�5�� � �� ��7� �� !���4 


15.7
� �9�

15
��5 � ��� !�� ��� 65� 4 �7�8

������ � �1�� 6� ���� � ��
( 12.5.27)

!�� ���7 ��9� ���� ��� ����9 � �1�� �� �� 6����
( 12.5.1)

!�� ���


a0 6= 0

��
( 12.5.1)

!�� ��� �67�6 �� �6� ����� �4��7 �����
( 12.5.1)

@� �4�7
( 12.5.27)

�����
����!

M > N
���1��7 �� ��� 3� 0� ��8 �6��4

( 12.5.27)
!�� ��� ��0 ���96 �� ��� �� �8�9�� �0�

� �� ���4�� ��9��@@@� �6 ��7 �� � �!�� ���7 3���8 �� ����� �4�� �8�9�� �0 �����@@@�4�7 � �!�4��6
����� 6�1�4 ����� �����

N
∑

n=0

any(t − n) =

M
∑

m=0

bmx(t − m)

���� �"C �

6��4�
L
@� 3� 0� ��� �� 0�04 �

L = max{N,M} 3�� 4
N
∑

n=0

any(t + L − n) =

M
∑

m=0

bmx(t + L − m)

���� �" � �

6��4�
k = L − m

@�
l = L − n

2� �4�7� � �614 �98
L
∑

l=L−N

aL−l y(t + l) =

L
∑

k=L−M

bL−k x(t + k) .

���� �" � �

k ≥ L − M
���9�

l ≥ L − N
���9 ����� �����

( 12.5.27)
����6

( 12.5.1)
������ ���96 �75� 386

���!4
ãl = aL−l b̃k = bL−k .


���� �"" �
���!4 ��� �47� 6��!� � ��

M
�7�8 ���� ������ �

N = L
�0�

L = max{N,M} = N
�� �8 �6 � �7 4

38 ��
ãl = 0 , 0 ≤ l < L − N , b̃k = 0 , 0 ≤ k < L − M .


���� �": �
�� ��7�� �� �4�7� �8� �

( 12.5.32)
�� ��7��

( 12.5.34)
@@

( 12.5.33)
����!�� �� �98 ���4

N
∑

n=0

any(t − n) =

M
∑

m=0

bmx(t − m)

���� �"� �

@8 �6��7 �����
L
∑

l=0

ãly(t + l) =
L
∑

k=0

b̃kx(t + k) .

���� �"B �

�� �5�� 3��8� ���� ����� ���96 3� ��8 �75�
��5� ��� � � ������� �61 3��1�� !�� ��� �0� �4�7 �� ���� � �� �48� 67 3��80� ���� �� �8 �6 � �7 4

� ��!�6 � �� ��1 �4� � ����� �4��7 �8�9� !���6 ��8 �3�7��� !�� ��� ��0 ���96
an = 0 0 ≤ n ≤ N ′
���� �"� �

���768
N ′ > 0
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2
( 11.0.2)

����7� ��� � ���6��4�� �8�9� �4��!�
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�: ����A �
�8 9��4 3�8� ���4��� 67 ��6�� ��� 3�8

δ
�7�8

1

2π

∫ 2π

0
X(Ω)Y ∗(Ω) dΩ =

1

2π

∫ 2π

0

∞
∑

k=−∞

x(k)e−jΩk

(

∞
∑

n=−∞

y(n)e−jΩn

)∗

dΩ

�: ����C �

=
1

2π

∫ 2π

0

∞
∑

k=−∞

x(k)e−jΩk
∞
∑

n=−∞

y∗(n)ejΩn dΩ

�: ����� �

=

∞
∑

k=−∞

∞
∑

n=−∞

(

x(k)y∗(n)
1

2π

∫ 2π

0
e−jΩkejΩn dΩ

)
�: ����� �

=

∞
∑

k=−∞

x(k)y∗(k)

�: ����" �

;( ;/ ;�
����� ����� ����� �� � �� �

������ �!�� �� ���61 � ���76 � ���5 3�!8
12.4

� �9� 67 � �� �7� 7��7�6 �75� �8�5� ����� ����6
� ��

( 12.4.15)
��� �64�� �1� �4� ���5� � ��8 � � �� 01 ���8

x(n) =
1

2π

∫ 2π

0
X(Ω)ejnΩ dΩ .


�: ����: �

	��� ��� ��	� �� � ���

( 10.1.1)
����4�6� � �7�5�� �� ��7� ���9 �

Z
����� 69 ��5�7

12.5
@� ��8

N
∑

n=0

any(t − n) =

M
∑

m=0

bmx(t − m)

�: ����� �
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� ���6��4�� �8�9� ���� 3� 0� � �� �5
6��4

Y (Ω) =
P (Ω)

Q(Ω)
X(Ω)


�: ����B �

= H(Ω)X(Ω)

�: ����� �

H(Ω) =

∑M
m=0 bme−jΩm

∑N
n=0 ane−Ωn

.

�: ���� �
@�7 � �� �14�� �7�8 �7�5�� � �� ��7� ��� 69 ��� ���� �8�9�� 67 ���� ���!� �� 6��4 �� �68

�� ��61�� �1�4�� ����4 �8�9�
��� ����
�� ����� �� � ���

2
( 11.0.2)

����7� ��� � ���6��4�� �8�9� �4��!�

y(n) =
∞
∑

k=−∞

h(n − k)x(k) .

�: ����A �

��4�8�� 7 �� �7 � �� ��7�� 67 ����5 ����� ��0 �����@�� �48 �8�9� 67 �6�� ���!� � ��
h

�8 �4���
���� � �4� �4 ������

Y (Ω) = H(Ω)X(Ω)

�: ���"C �

H(Ω) =
∞
∑

k=−∞

h(k)e−jΩk .

�: ���" � �

����� � ��� ���� ����� �� � ���
� ��� � �� 3�� 4 �� ���� � ��� 67 ����5 ����� 3��6 � �!� � �� 67 ���� 3� 0� � ���5 ����� 3�� �7� � ���

�
xs(n)

.
= x(nTs)

3�� 4 �
Ts

���!� 1 ����� � !�4 �7�
x��� � �!�� � ��� 67 ���� 3�0� � �� �5 ����� ����!�� �56

Xs(Ω) =

∞
∑

n=−∞

xs(n)e−jΩn =

∞
∑

n=−∞

xs(n)e−jωnTs .

�: ���" � �

2
�� �!�� �57� ��� �
wTs

� ��6� ��8�� 658�� �� ���� � ��� 67 ����5 ����� �� �98 �714

F
{

x(t)
∞
∑

n=−∞

δ(t − nTs)

}

=

∫ ∞

−∞

∞
∑

n=−∞

x(nTs)δ(t − nTs)e
−jωt dt


�: ���"" �

=
∞
∑

n=−∞

xs(n)e−jωnTs
�: ���": �

=

∞
∑

n=−∞

xs(n)e−jΩn.

�: ���"� �
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��� �5 � �� ���� 3� 0� � �� �5
���� �4�7� 3�� �7�� ���68 �

X(Ω)
� ���� � �� 3��1�� ��� ��� �

Ω = ω · Ts
3�� ��� �47��7� �7�8

69 �4��678 �4��� �47 ��� �
Ω = ω · Ts

��� ���� 3�0� ������ ���� �4�7� 3��6 � �� �5 ������
�8 ��01�7 � ���!�

F
{

x(t)
∞
∑

n=−∞

δ(t − nTs)

}

=
1

Ts

∞
∑

n=−∞

X(ω − nωs).

�: ���"B �

�7�� �� 6��4 �4�7��� �1� �4� �9 � �4��1�� � ���� ��� �47 �� ���7 4 ��

Xs(Ω) =
1

Ts

∞
∑

n=−∞

X(ω − nωs) , Ω = ω · Ts

�: ���"� �

=
1

Ts

∞
∑

n=−∞

X

(

Ω

Ts
− n

2π

Ts

)
�: ���" �
���� 67 ����5 ����� 67 � �00�� � �6 �58�7� �6���� � �!�� � ��� 67 ���� 3�0� � ���5 ����� ���68

�
2π

��01� �9
Ω

@� � ���01� � �� ������7 3�8� � ! � ��� �������

� ��� ���� ����
 ��� �� ��
��� �� ��� 3�0� ��8 �

DFT: Discrete Fourier Transform
����4� �����6 6�� �� ���� 3�0� � �� �5 ���

�

N

��01� �9 � ��� �01� � �� ��� ��6��7 ����� ��� �
N

�8� ��7 �5 �� 3�0 1���� 69 � �� ��� �� �9 � �� �5
Ω0 = 2π/N

�� ��� ��� �9 ��� ��� 69 �0 � �� !���6 ���4 �{x(t) : 0 ≤ t ≤ N − 1} ��� 38 �� 9��4
������ ��� � �751� �4�7 !�� ��� �

kΩ0
3� � �� ��!� � ��4����� �7�8

x(t) =

∞
∑

k=−∞

ãke
jk[ 2π

N ]t .

�: ���� �

���68 �
2π

��01� �9 ���01� ���� � �� �4���� � �� �8 �4��� �6��
ejk[2π

N ]t = ejk[2π
N ]t+j2πt

= ej[k 2π
N

+ 2π
N

·N]t

= ej[k+N ] 2π
t .

6�58 � �8� ��� 69
( 14.2.1)

�� � �7�4 2�5 �� 4�� � �8�� ���� 3�� 386

x(t) =

∞
∑

k=−∞

ãke
jk[2π

N ]t
�: ���� �

=

∞
∑

l=−∞

N−1
∑

k=0

ãlN+ke
j(lN+k)[ 2π

N ]t
�: ���" �

�����01�� 66!� �6��

=

N−1
∑

k=0

(

∞
∑

l=−∞

ãlN+k

)

ejk[ 2π
N ]t
�: ���: �

=

N−1
∑

k=0

ake
jk[ 2π

N ]t
�: ���� �
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��� �5 � �� ���� 3� 0� � �� �5
�5 �� � �8� 67 ����� ���� 3� 0� � �� �5 � �� �� �46��� � �8 ��6 ��5�� @3��� � �8�� ��� ��!��

ak
�7�8

x(t) =

N−1
∑

k=0

ake
jk[ 2π

N ]t .

���6� � �����
N

@� � ����
N

�� � 69 ��!�� � �4�7 � �8�9
N

69� ���� 3� 0� � �� 67 ��� �5 � �� ���68
�3�8 � ! �5�� � ��� 3� 0� � ���8� �4�7 � ��64!������ �4�8� �8 �6 � �7 4

������
k1

��� ���
14.2.1

<,'>
N−1
∑

t=0

ejk1[ 2π
N ]t =











N k1 mod N = 0

0
���


�0�
N

67 ��67 �6�58 � ��
k1

�� 38� � �
N

67 ��67 �6�58 � ��
k1

38 �� �6� �5��� � �8�� ���68
��5��� � �8��7 ��1� �

1
� ���7 � ��� �1�� 68

�0�
k1 = 0,±N,±2N, . . .

��7 ���� 6��4 ��67
k

686
e2πk = 1

@7 3���8 2<�%
<
N−1
∑

t=0

ejk1[ 2π
N ]t =

N−1
∑

t=0

1 = N .

�: ���B �

��5 �� ������! � ��6 �1� �4� � ��� �0�
N

67 ��67 �6�58 �4��
k1

��
N−1
∑

t=0

ejk1[ 2π
N ]t =

1 − ejk1[ 2π
N ]N

1 − ejk1[ 2π
N ]


�: ���� �

=
1 − ejk12π

1 − ejk1[ 2π
N ]


�: ��� �

= 0 .

�: ���A �

�8 �6 � �7 4 ��0 �����6 ����� �� 4�� �� �� �4� �4 �7� ��7��5� �5� �4 �18�� � ��4
N−1
∑

t=0

ejk1[ 2π
N ]t =

N
∑

t=1

ejk1[ 2π
N ]te−jk1[ 2π

N ]

=

[

N−1
∑

t=0

ejk1[ 2π
N ]t +

(

ejk1[ 2π
N ]N − ejk1[ 2π

N ]N ·0
)

]

e−jk1[ 2π
N ].

��67
k1

@7 3���8

ejk1[ 2π
N ]N = ejk1[ 2π

N ]N ·0 = 1 .

�8 386 �46��
N−1
∑

t=0

ejk1[ 2π
N ]t =

N−1
∑

t=0

ejk1[ 2π
N ]te−jk1[ 2π

N ]
�: ����C �
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��� �5 � �� ���� 3� 0� � �� �5
�8 9� �4

N
67 �6�58 �4��

k1
@7 �414�7 3���8

e−jk1[ 2π
N ] 6= 1

�� �� 38� �
( 14.2.10)

@� 3����7 386�
N−1
∑

t=0

ejk1[ 2π
N ]t = 0 .

;( ;/ ;�
�� ���5 ��� ����� �� �716 ��8 6�46 68�4 � ��64�!������ �4�8� ��

��� �� ���� 	���� ��� ����� �

14.2.2

>-/�

ak =
1

N

N−1
∑

t=0

x(t)e−jk 2π
N

t .

�: ����� �

���8
x

���� �� � �7�4 2<�%
<
1

N

N−1
∑

t=0

x(t)e−jk 2π
N

t =
1

N

N−1
∑

t=0

[

N−1
∑

m=0

amejm[ 2π
N ]t

]

e−jk 2π
N

t

=
1

N

N−1
∑

m=0

am

(

N−1
∑

t=0

[

ejm[ 2π
N ]t
]

e−jk 2π
N

t

)

=
1

N

N−1
∑

m=0

amNδ(m − k) k = 0, 1, . . . , N − 1

= ak .

;( ;/ ;�
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�� ���

���� ����� � �����

� �5 �� � 3��8�6 66�8 � ������ �� �� �� ��� 69 � ��� ���� � �8�9� 69 ��016 7 � 2�0 ��5 ����6 ��01
�� �� ����

68 �� �!�� ���� ���!�� �7�8 �� ����1 � � �4�8� 69� ���� � �� ��� � �� ��7� ��� 69 �8�9� ����
�8�9�� ���!� ��7 �1 �0�

t0
9!�� �8�9�� 67 ���� 9��� �� ��87 3���8 ���9� � ���� �� 4��6�� 9����

69 �8���
s ≤ t0

��9� �� �48� ��!6 9���� �
t0 ≤ s ≤ t

� �1�� �� �48� 67 �9��� �� 7���
t > t0

9!��
� �6� ��4�5��� �� ��7�� 34��� 4 ���!��6 �

t0
@� ���� ��9 ���

ÿ + 2ẏ − 4y = x .

���C �� �
�� �48� �9���� ��768

t0
9!��

y(t0), ẏ(t0)
�61�� ��4� � �9 ��� �� �8 � �9��� �4� 


2
��5 � � D�� � �4�8��

���� �0 ��!��� �38 �� �
t ≥ t0

686
y

����� �� �716 �� �68 ��� ��7�� �� ���56 3� �4 �0�
t ≥ t0

���9
�
[y, ẏ]


���� ��� �� � !�0� � ��
�� ��� �45 � �4�7� � ! 
���� �� � ���!� �4�7� � �� �48 �4�7�6 ���4� 38 �� �66�8 ��� �8�9�

�
state variables

��� �4�7� � ����4�

q(t)
-

x(t)
-

y(t)

��� �8�9� 2���� ����

�
 �����	 �� ���	 ����� 
���
q

������	� ��� ����� �
���
y

	���� �
x

	���� �� �����
15.0.3

<&.*<
	����	 ���� �

q(t0)
�����	 ���	 ��� �� ���� ���
� ������ {q(t), t ≥ t0} �������	 ���	 ���� �

t0
��� 
�


{x(t), t ≥ t0} �������	



y(t) = g(q(t), x(t), t) �	����	 ��� ���	 �� ����� ���� 	������ 
�	 �����	 �
��� 
�

166



� ��� 3�0 ��� � �� ��7� ���� �1��
7 �� �� 38 � �� ��� ��� � � �� ��6 � ! ��1� � 1 �4 � ��� 66�8 �� ��� � �4��� � ���� !�� ��6 ��7��� ���47 �58
� D�� ��� 69 � ��� ���� � �8�9� ���9 �� ��� � �� ��7�� 3��4 �4� �� �668 ���!�6 ��9� �� ��1� � �75
��71�� � ��1� � �75 7 �� �� �75�� ���� !�� � �6�8 � �8�9� ���9 �� ����4�6 7�5� � �� ��7� �� � ����4�6
� ��8��� � �8�9�� ��8�8 �8�9�� 67 1�4 7 �� �7 � �


MIMO
� ������� � �� �48 � ����� � �8�9�� 6� 6�5 ��

�75�� ��� !�� �� ������ � �6� �0�5 � �9�7� �8�9�� 67 � ��� �45� � �4�7�6 7 � � �� ����� � ����� ��� ��
��!��� 6�1�4 �
����� �� � ��94 3�� � 3� 0� � �4�7�� 
���94 �6 3�� � �����4�6 �6 � �8�9�� 6�5 �� � !

�
( 15.0.1)

@6 �7��� �� ��� 3�0� ��� �� ��7� 67
�����	 ����

15.0.4
<�*
.

ÿ + 2ẏ − 4y = x .

���C �� �

�����

q(t) =





q1(t)

q2(t)



 =





y(t)

ẏ(t)



 .

���C �" �

�	
�	 	���� ����� ���

( 15.0.2)

	
����	 �


d

dt





q1

q2



 =





0 1

4 −2









q1

q2



+





0

1



x

���C �: �

y =
[

1 0
]





q1

q2






���C �� �

��� ��7�� 67 3�� � ��� � ! � ��0!4 7 �7 ����6 ��!��� �� �98 ��1�4
	��� ����� ��� �����

15.0.5
<�*
.

z̈ + 2ż − 4z = 2ẋ + x .

���C �B �
	����	 
�	

ẏ
��


x
	�����

( 15.0.2)
�����	 �� 	����	 
�	

y
�
 �� ������ ��


2.2.20
	���������� �������

����� ���

x

	�����
( 15.0.6)

����� �� 	����	 �
� ���� ���� �� ����
���	 ����� �� ���� 

ẋ

	�����
�( 15.0.6)

�����	 ���� ��� ��
���� ���� ����� ���� ��� 

z(t) = 2ẏ + y

	����

d

dt





q1

q2



 =





0 1

4 −2









q1

q2



+





0

1



x

���C �� �

z = q1 + 2q̇1

���C � �

=
[

1 2
]





q1

q2



 .

���C �A �
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� ��� 3�0 ��� � �� ��7� ���� �1��
��
� ���� �
� ������� �� � �

��� ���� � �1�5�� ����7� 2���� ����� �668 35��� ��� ��� � ��� 3� 0� ��� � �� ��7� �8�9�

q̇(t)
.
=

















q̇1(t)

q̇2(t)���
q̇N (t)

















=

















f1[q(t), x(t), t]

f2[q(t), x(t), t]���
fN [q(t), x(t), t]


















������ �

= f [q(t), x(t), t]

������ �

��� �� ���� �� ��7� �� �� ��� � � ���4�5 � ��
f
@� � �� ��� � ��

q, x, y
�7�8

y(t) = g[q(t), x(t), t]

�����" �

�� �61��� ��4� �
g

� ����� � � ��� 4�5 � ��9

q(0) =

















q1(0)

q2(0)���
qN (0)

















.

�����: �

@�5�� � �� ��7�
N

���68 �3�7�� ���� ������ � � �6� ��4�5�� �� ��7� � �� ���� � �1�5�� ����7�
���!��6 �3�7�� ���� ���4 �7�� ��� � �7 ��! �75�� ���� !�� �� �3�7�� ���� � ������ � �6� ��4

�3�0� �7��5� � �6� �66 ��� �� ��7� ��� 69 3�0� �9��� �4��7 �8�9� !���6 3� �4 ���8 ���4
���� ��� ����� �����

15.1.1
<�*
.

ẏ = ay + t + x .

������ �

����� ���
 
��� ��� ���
 ������	 �����	 ��� ���� ��� �� 	� ��� 	��
� ����� �� ��� ��

q1(t) = y

�����B �

q2(t) = t .

������ �


�	 �����	 �
 ����

q̇1(t) = aq1(t) + q2(t) + x(t)

����� �

q̇2(t) = 1

�����A �

y(t) = q1(t) .

������C �
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d

dt
q(t) =





a 1

0 0



 q(t) +





x

1






������� �

y(t) =
[

1 0
]

q(t) .

������� �
������ ��� 
	��� 	���� ��� ������� ��
 �� �� � ���	 �
 ��
� ��� �� 	����� ���
��� �	���� ��� �
���� �	��



q2(0) = 0

	���	 �
�� � ���� ��
( 15.1.5)

�����	 �� 	����� 		� 	�	� �� �����

7��5� 35 ��� � ���6� 34��
f, g

�����4�5� �� 
�� ��� �� �48 �8�9�8 � 3�0� �9��� � �� ��� �8�9�
�8�9�� ���9 67�6 2�1�8� �4�� �0 �� 4� �8 �6 � �7 4 �3�0� �4�7��

q̇ =





2 0

t t2



 q +





1

1



x

������" �

y =
[

1 0
]

q

������: �

�3� 0� � ��6� �4�� �� ��9 �� ��7�� �
q1

@� �� ���6� ���!��
�4�� �0 �� 4� � ! �� �

q, x
� �4�7�� � ����4�6

f, g
����� 4�5� �� � ���4�6 � �� �8�9�� ����� �����

����� �8�9�� �� � �7�6 �75� �0� � ����4�6 3� � ���� 4�5� �� ��1�8�

q̇(t) = A(t)q(t) + B(t)x(t)

������� �

y(t) = C(t)q(t) + D(t)x(t)

������B �
�3� 0� � ���6� � ���6 � �6�8 � �668 35��� �7� �� ���� ����� � ������ 3�

A(t), B(t), C(t),D(t)
�7�8

�� ����� �3� 0� �9��� � � ���4�6 � �� �8�9�� �0� 
3�0� � ���6� 34�� � � � �9 ��� 67 3� � ������� ��
��� 3�0� �9��� � � ���4�6 �8�9� 67 �3��4

q̇(t) = Aq(t) + Bx(t)

������� �

y(t) = Cq(t) + Dx(t) .

������ �

�
� ��� ���� �� � �� � ��� ��
�� �� ��
���8 ���4 ���1 � �4�� �0 !�� �� �8 7 �!��6 ��71 ���� � �� ��7� ��� 69 � D�� 67 !�� �� �4���

15.0.4
��!���

����� �8�9�� 6�1�4� ��08 !�� �� � �4�6

y(N) + aN−1y
(N−1) + . . . + a1y

(1) + a0y = x .

������ �
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���!4

q1 = y

������ �

q2 = q̇1 = y(1)
�����" �
q3 = q̇2 = y(2)
�����: �
��� ��� ���
������ �

qN = q̇N−1 = y(N−1) .

�����B �

����� � �7�6 68�4
( 15.2.1)

�� ��7�� ��

y(N) = −aN−1y
(N−1) − . . . − a1y

(1) − a0y + x

������ �

= q̇N

����� �

= −aN−1qN − . . . − a1q2 − a0q1 + x

�����A �

��� ���� � �1�5�� ����7� 386�

q̇1 = q2

������C �

q̇2 = q3

������� �

���
������� �
q̇N−1 = qN


������" �
q̇N = −aN−1qN − . . . − a1q2 − a0q1 + x


������: �
��� �� ���� �� ��7��

y = q1

������� �

��� � �� ��7� 67 ����� ��




















q̇1

q̇2���
q̇N−1

q̇N





















=





















0 1 0 0 · · · 0

0 0 1 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 · · · 1

−a0 −a1 −a2 · · · · · · −aN−1









































q1

q2���
qN−1

qN





















+





















0

0���
0

1





















x

������B �

y =
[

1 0 0 · · · 0 0
]

q .

������� �
@7�� �461��7 3���8 �� ��8��� � �658� �� �� ���!� 4�� ��09� �0 �8�9� 67 ���8� 7 ���� ���6 �75�
� �5�� �4� �� �9 ���

N
� �9�5�� �� ��7��7 3���8 �� �� ���!� 4��

N
@6 ���047 � �5�� �4� �

N
���� �� ��

( 15.2.19)
�8�9�� �� �� �� �1 � �6�95

N
9���7 �8��6 � �� ��0 �4� �� ���6 �� �658�

N
@6 � �156 ���047
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"!
# 
∑

∫ ∫∫

-x -q̇N -qN = q̇N−1 -. . . q2 = q̇1

? ? ?
−aN−1 −aN−2 · · · −a1 −a0A

A
AAK

B
B
B

B
BBM

B
B

B
B
BBM

6
?

-qN−1 = q̇N−2 -q1 = y

� ��0!4 �66 �� �48 �9 ��� 7 �� �� 2���� ����

�� �48� ��0!46 �� �!�� ���4� � �� ���4�6 �� ���@�� �48 �8�9� ����� ����4�6 �D�� �8 �98 �804
�0� �8�9�� ��5�� ���

Φ
�� 2���!�� ��0!4 � ��

Φ(dx/dt) = dΦ(x)/dt

������ �

�D��� ���9 ��� !�� �� � �7�6 �75� ��� �68 � 

2.2.20

�49� �
z(N) + aN−1z

(N−1) + . . . + a1z
(1) + a0z = bN−1x

(N−1) + . . . + b1x
(1) + b0x


������A �
( 15.2.1)

67 3���5� ��09� �� ���� �� !���4 ����� ����
z = bN−1y

(N−1) + . . . + b1y
(1) + b0y .


������C �
2� 4�7 ����� �� ��7� �� ����� � �1�5��6 � ��0 � �� ��7� 6��4 ��� � �� ��7� 67 �����




















q̇1

q̇2���
q̇N−1

q̇N





















=





















0 1 0 0 · · · 0

0 0 1 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 · · · 1

−a0 −a1 −a2 · · · · · · −aN−1









































q1

q2���
qN−1

qN





















+





















0

0���
0

1





















x

������� �

y =
[

b0 b1 b2 · · · bN−2 bN−1

]

q .

������� �
����7�� �� � �� ��4�7� @@@������ �8�9�� 67 ���� � �1�5��� �09�6 68�4 �0 �8�9� 7��6 ��8

2�� ����
67

N
@� ��0!4� �� ����� � �� ��6 ����4 �0�

x
67

N
@� ��0!4� � ! 9 �5 ��

( 15.2.19)
�8�9�� ��

�6�� �
x

��09��
y

67 �� �� � �8 ��4 � ��0!4 ��09� ��0 !���6 �75�
( 15.2.1)

�� ��7� ��09� �6�� �
y����� �4���6 �49!� �8 �� �{qi} ���� �4�7� ��09� !���6 �75�

y
67 �� �� � �8 ��4 � ��0!4

	���	� ���
������� 	
����
15.2.1

>-/�
N
∑

n=0

an
dny(t)

dtn
=

M
∑

m=0

bm
dmx(t)

dtm

������" �

Version 1.1
���

September 2006



��� � �� ��7�6 � D��� ���� �1��

"!
# 
∑

"!
# 
∑

∫ ∫∫

-x -q̇N -qN = q̇N−1 -. . . q2 = q̇1

? ? ?
−aN−1 −aN−2 · · · −a1 −a0A

A
AAK

B
B
B

B
BBM

B
B

B
B
BBM

6
?

6

-qN−1 = q̇N−2

6 6

bN−1 bN−2 · · · b1

-y-
-

��3

6

b0
��3

q1

��� 7 �� �� 2���" � ���

	���	� ��� �
���� ����� ����� ���

aN 6= 0

��
M ≤ N

��
�

q̇ = Aq + Bx

������: �

y = Cq + Dx

������� �
�� �� ��


M < N
�
 


( 15.2.21)
	���� � ���� ���


B
������	 �
�

A
	�����	 �
 ��


aN = 1
�
 �����



( 15.2.22)

	���� �����
C

�
�
D = 0

�����

���0!4 6�8�� ��� ��6 � �� ��0 �4�7 � �7� ��41� �57 ������ ��� !�� �� 3�� �0�
M > N

�� �8 �6 � �7 4
��6�8 � ��0!4 �75�� �4�� ���� � �� ��7� ���9 ��� ��� � �

x
�� �48� � �� 67

( 15.2.22)
@@

( 15.2.21)
��� ��7�� �7� !�� ��� ���1� �4�� ���� !�� ��7 � �� D� �1�6 3� �4D 1 �� �46 �� ���

� ! ��8 ��0 �48� �76 � �7��� �� �9�7�� 3��4�
Controllable Canonical Form

!��� �4�4� !�� � ���4
6��6 3� �4 ���8 ���4 �6�1� �6�� � 
� ���96 � �!�� 3�� �� ������ � ��7 �4� � �� �7�� � ��1� � ��76
���4

( 15.1.18)
@@

( 15.1.17)
������ ��� !�� ��� � ���4�6 �8�9� ���9 ��8�9�� �� ��6 � �4�7 � �!�� ��

�
(A,B,C,D)

��� 69 �!���� �8�9��7
	���	� ���	 ����� ����� ��� �

15.2.2
>-/�

q̇ = Aq + Bx

������B �

y = Cq + Dx

������� �

��� �� �� ��� ��� �����	 	� �
 ��
 
	���	 	�����
T

�	� 

(A,B,C,D)

��� �� ������	 ����� �� ���

(T−1AT, T−1B,CT,D) .

������ �
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������ ��


q = Tz
�� ��

z = T−1q
����� �
 �� ���

ż = T−1ATz + T−1x

������A �

.
= Ãz + B̃x


�����"C �
y = CTz + Dx


�����" � �
.
= C̃z + Dx .


�����" � �

@� �� ��7�� 3���5 69 ��� 6��� ��� ��4�86� ������ � ���6 �6�8 �
T

������� ����5 ����8 2��9�
�6� � �� ��7� ������

z
@7 ����9� 2<�%
< ��� �� �668 35��� �7 �� �7 �57�� �6�� �

15.3
� �9� ���@@

2��0!4� 67 � ����4�6�� � ���7 � �9��4

ż
.
=

d

dt

(

T−1q
)
�����"" �

= T−1q̇

�����": �

= T−1 (Aq + Bx)

�����"� �

= T−1 (ATz + Bx)

�����"B �

= T−1ATz + T−1Bx .

�����"� �

y = Cq + Dx

�����" �

= CTz + Dx

�����"A �
�� �� �0 386� �

y
���� �� �� �� 6��4

x
�� �48 �� �� ���9 �8 �8� 9��4 �� ������ � �� ��7�� �� �46�� �

;( ;/ ;� ��8�9�
�� ����� � �� ��7� 67 � �1 �4 � ����6 9�!�6 ��8 �7��� �4� �� �7�7 � �6�8 � ����4�6 � ������5� 4��

��08 � �����5� 4�� ��09� ������ ����6 9�!�6 3� �4 �6 � �� �96 �8 7 �!��6 � �71

�
� ��� ���� ����
 �� ��
3�0� � �9��� � � ����4�6 ��� � �� ��7�6 �1��� 4

q̇(t) = Aq(t) + Bx(t)

���" �� �

y(t) = Cq(t) + Dx(t) .

���" �� �
�

trajectory

2� �6!4�� � ����
N

�1��� 6�6�� ����6
q(t)

67 �9�4�8 68���6 �75� ���� � �!�4�� 69
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��� ���
�� ����� �� �� � �

�� �68 �� �4��86� � ��
A

@7 ����� 6�1� 4� �
0

�� �48� ���� � �!�4�� �714 �0 � �9��

A =





















λ1 0 0 · · · 0 0

0 λ2 0 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 λN−1 0

0 0 0 0 0 λN






















���" �" �

�8
transition matrix

��9� ������ ���!4 ��0 �����

Φ(t) =





















eλ1t 0 0 · · · 0 0

0 eλ2t 0 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 eλN−1t 0

0 0 0 0 0 eλN t






















���" �: �


�	
q(0) = q0

	���	 �
��� ��
��	 �����	 ��
 

x ≡ 0

�� �������
 
�	
A

�� ����
15.3.1

>-/�

q(t) = Φ(t)q0

���" �� �


�	 �����	 �� 	����	�

y(t) = Cq(t) .

���" �B �
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�� ���� ���9 �� ��7�� ���

x ≡ 0
@7 3���8 ����� � �1�5�� ����7� ������� �8 1 �8 ��6 �4�69 2<�%
<

238 �� � ���4 ��57�� 3��48 � ��

d

dt
Φ(t)q0 =





















d
dte

λ1t 0 0 · · · 0 0

0 d
dte

λ2t 0 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 d

dte
λN−1t 0

0 0 0 0 0 d
dte

λN t





















q0

���" �� �

=





















λ1e
λ1t 0 0 · · · 0 0

0 λ2e
λ2t 0 0 · · · 0��� ��� ��� ��� ��� ���

0 0 0 0 λN−1e
λN−1t 0

0 0 0 0 0 λNeλN t





















q0

���" � �

=





















λ1 0 0 · · · 0 0

0 λ2 0 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 λN−1 0

0 0 0 0 0 λN





















·





















eλ1t 0 0 · · · 0 0

0 eλ2t 0 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 eλN−1t 0

0 0 0 0 0 eλN t





















q0

���" �A �

= AΦ(t)q0 .

���" ��C �

;( ;/ ;� ��� ����� ���� � �1�5�� ����7� ���68
3���5� ���4 ���8 3���6 38 �� ��44 �3� ��8 �668� ����� �4�� � �4��86� ������ 67 �����

��� ��� 69 � 44�5��� 67 !�� ��� �804 ��668� �����

eα =
∞
∑

k=0

αk

k!
.
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A
���9 �8 �6 � �7 4

(At)k = tkAk =





















tkλk
1 0 0 · · · 0 0

0 tkλk
2 0 0 · · · 0��� ��� ��� ��� ��� ���

0 0 0 0 tkλk
N−1 0

0 0 0 0 0 tkλk
N






















���" ��� �

∞
∑

k=0

Ak tk

k!
=

∞
∑

k=0





















tk

k!λ
k
1 0 0 · · · 0 0

0 tk

k!λ
k
2 0 0 · · · 0��� ��� ��� ��� ��� ���

0 0 0 0 tk

k!λ
k
N−1 0

0 0 0 0 0 tk

k!λ
k
N






















���" ��" �

=





















∑∞
k=0

tk

k!λ
k
1 0 0 · · · 0 0

0
∑∞

k=0
tk

k!λ
k
2 0 0 · · · 0��� ��� ��� ��� ��� ���

0 0 0 0
∑∞

k=0
tk

k!λ
k
N−1 0

0 0 0 0 0
∑∞

k=0
tk

k!λ
k
N






















���" ��: �

=





















eλ1t 0 0 · · · 0 0

0 eλ2t 0 0 · · · 0��� ��� ��� ��� ��� ���
0 0 0 0 eλN−1t 0

0 0 0 0 0 eλN t






















���" ��� �

��� ���� 67 �44�5��� ���!�6 ��8 �0 ������ 7��74
������ �� �� � �� ���� � ���
��� ��� ��
���� ����� ��

Transition matrix
����	 ������

15.3.2
<&.*<

���	 ��� �� ����� �������
	 ��
�
A

	�����	 �� �������
	 ��� ��

Φ(t) = eAt
���" ��B �
.
=

∞
∑

k=0

tk

k!
Ak .


���" ��� �

�� �4��86�
A

@7 ����� � �75 ��� �� �46���7 3���8 �� �� �4�8� 3��� ��9�� ������ � ��� 3���6 ��44
�3��8�66 �4� �4 �� � �4��86� �4��

A
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T
�� ����

15.3.3
>-/�

T−1AT = Λ

���" �� �

Λ =





















λ1 0 0 · · · 0 0

0 λ2 0 0 · · · 0


 


 


 


 


 




0 0 0 0 λN−1 0

0 0 0 0 0 λN






















���" ��A �

������ � �
Φ

�
 �� ������
T

��


T−1eAtT = eΛt
���" ��C �
��� ��

eAt �
 ���� ���� ����

eAt = TeΛtT−1 .

���" ��� �

�� ���4�6 � ���6� ��6� � ����9 � �� ��� �
N

�6 7 � �� ��� �� 3��8�66 � 4� �4
N

����
A

������7 �804
�3���� � �����5� 4�� ����4 � �4��86�� ������6

A
�� ����9�� � �����5�4���

@7 3���8
Ak �� �4�86�

T
������� 2<�%
<

T−1AkT = T−1ATT−1Ak−1T

���" ��� �

= ΛT−1Ak−1T

���" ��" �

= Λ2T−1Ak−2T

���" ��: �

= Λk .

���" ��� �

;( ;/ ;� ������� 67 �44�5��� 67 ���!��� �98 �9��4 �49��

���
�	 � �����	 �
 ��
eAt 	������

15.3.4
>-/�


	����	 ������ �
eA·0 = I


�


 d
dte

At = AeAt 
�

eA1teA2t = e(A1+A2)t ��

A1A2 = A2A1

�
 
�

(

eAt
)−1

= e−At 
�


 �� ��������
A

�
 ����
 � � �������� 	��
 	�����	 
�



eAt1eAt2 = eA(t1+t2) 
�
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d

dt
eAt =

d

dt

∞
∑

k=0

tk

k!
Ak
���" ��B �

=

∞
∑

k=0

d
dtt

k

k!
Ak
���" ��� �

=

∞
∑

k=1

ktk−1

k!
Ak
���" �� �

= A

∞
∑

k=1

tk−1

(k − 1)!
Ak−1
���" ��A �

= A

∞
∑

k=0

tk

(k)!
Ak
���" �"C �

= AeAt .

���" �" � �
67 � ��668 � �4�8� � ��� ��0 ���4 ��9!��� �18�� �0 �6�� ����!�� � ��� 1�8��6 3� �4 " � �9� ��

3��4 �� ��6� ��4�5�� � �� ��7�
φ1(t)

.
= e(A1+A2)t


���" �" � �
φ2(t)

.
= eA1teA2t .


���" �"" �
�� � �� ���� � ����4�5� �� �4�8� � ��7�7� 668 �56 ��47 ��� ����1 �� ������ �

φ1(0) = φ2(0) = I
�0�

2� ���� � ��6� ��4�5��� � �� ��7��
d

dt
φ1(t) = (A1 + A2)φ1(t)


���" �": �
d

dt
φ2(t) = A1φ2(t) + eA1tA2e

A2t
���" �"� �
�46�� �0� � ����� �0 �� 4� �� �

A1A2 = A2A1
�� ��� ��

eA1tA2e
A2t = A2e

A1teA2t �98
d

dt
φ2(t) = (A1 + A2)φ2(t) .


���" �"B �
�� ���7 �� 386� ��61�� ��4� ���� �9 �� ��7�� ���� �� � �� ����

φ2(t)
@3

φ1(t)
���68

" � �9�� 6��4 ���9 �9 �561��
A

@7 3���8
eAte−At = e(A−A)t = I .


���" �"� �
�� �85 �� 7 � ������6 387 ����� �98 � �� � � �9�

;( ;/ ;� �B �� �46�� 386� � �561��
At2

@�
At1

��������7 ����6 6� ��� �� �����
��� ����� ����

t ≥ τ
��� ���
 
�	 	����	 ��
� �
 ����	 ������ 
���

Φ̃(t, τ)
	�����	

15.3.5
<&.*<

������
q

q(t) = Φ̃(t, τ)q(τ) .

���" �" �
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������� 658@@@� ���!6� �6�95 ��� 69 � ���� �� ����9� ������� 2� ��� � �� �7� ����

��0 ������ �4��� ��8 3�0� � �9��� � ����4�6 � �8�9� ���9 �
t
9!�� ���6

τ



Φ̃(t, τ) = Φ(t − τ)

������
( 15.3.2)

��
( 15.3.1)

�����	 ����
15.3.6

>-/�
�
q(t) = Φ(t)q0

� �����
q0

68 ���9 �8 1 �8 ��6 � �5�� 3�0� �9��� �8�9��7 3���8 �� �7�� 2<�%
<
� �����

0
�9!��� ����� 67 ��1�5��� ����7� �� ������

Φ(t)q0 = eAtq0
@7 3���8 �� ��� �0 �6��

;( ;/ ;� �
Φ(0)q0 = q0��668� 3���5� �� �716 �75�� �0 3���5 ��5� �� �48� 3���5 38 �� �46���

���� ����� �� �� ��

��5��� �4�� �� �48� �7�8 � �668� 3���5� �3�7�� ���� ����4�6 � �6� ��4�5�� ����7� 67 3���5� ��8
�8 ���54� ���� 68 ���0!� 6����� ���� �� �����!�� ���� ���� � 67 ��0!47 �58 �6�!� 4�� ��� 6����
� ������ �1� 68 69 6�!� 4�� 9�� ��� �6����� ������� �� �0@@� �� ������ 67 6�!� 4�� 67 ���!��

���54�

�	

( 15.3.1)
���	 ��
���� ����� �� �����	

15.3.7
>-/�

q(t) = eAtq0 +

∫ t

0
eA(t−τ)Bx(τ) dτ .


���" �"A �

�� 5� �61�� ��4�� 3���5� � �� �47� ������ ��5� �� �48� 3���5� 3� ��8 � �� 3�� � ��� 3�7��� �����
2� �6 �!�� ���0!� �� �1 �� 6�954 2<�%
<

d

dt
q(t) =

d

dt

[

eAtq0 +

∫ t

0
eA(t−τ)Bx(τ) dτ

]
���" �:C �

=
d

dt
eAtq0 +

d

dt

∫ t

0
eA(t−τ)Bx(τ) dτ


���" �: � �

= AeAtq0 +
d

dt

[

eAt

∫ t

0
e−AτBx(τ) dτ

]
���" �: � �

= AeAtq0 + AeAt

∫ t

0
e−AτBx(τ) dτ + eAte−AtBx(t)


���" �:" �

= A

[

eAtq0 +

∫ t

0
eA(t−τ)Bx(τ) dτ

]

+ Bx(t)

���" �:: �

= Aq(t) + Bx(t) .

���" �:� �
��8 �� �75 �4��

eAt 67 ��7 �1� �668 35 ��� �8 �4���7 3���8 �� �7 �16 �1 ���� �6� �4�� �0 �1� �47 3� ��8
��� �� 1 �4 � ��� � ����� � �� �656 ����� ��� ��7 �1 �8 �7��� ���4 ��D�� 67 �����

������� ����
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��4��86�� ����6 ����6 � �75 � ��

eAt 67 ��7 �1� �0�
A

������� �� 3�866 3� �4� ����� �8 �4���
���� � �� ��7�

N
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N
@� ��� �1 � �6�95

N
�� ��� 686� � �6�!� 4��

N
@� ���� 7 � �3�7��

���� �6 �6�� �� �5� �4 658 � �6�95
N

@� ��� �1 � �6�95
N

�� ��� 686 7��� �� ���� ���9 3���5� �����
�

1
@� 6��! ��� ��� �� � ����9 � �8�9 �7�8 ��5� � ������� 3�866 3� �4

7 �
N

���� �8�9� ���56 ��8 �3�8 � !7 ���
Controllable canonical form

@� !�� �� 67 ��71 3��� �
���7 9� �4 �4�� ����4 3��� � �0 !�� �6 �� ��8��

N
@� � �658�

N
�� ��� 686 38 � � �� ���!� 4��

N
@� ����

q1
��

t1 > t0
��� ����	 ��

q(t0)
��� ��� �

t0
��� �


state controllable
�
��� ��� �����

15.4.1
<&.*<



q(t1) = q1

�� �� {x(t), t0 ≤ t ≤ t1} 	���� �� ���

��

Controllable Canonical Form

����� �	
A,B

�
 
�	���� ���� 	
����	���	 
�� � 15.4.2
>-/�



State controllable


�	 �����	

�
State controllable

��� �8�9�� �0� ��0 ����6 �8�9�� �� ������
T

������5�4�� ����� �� 2�4���

A,B,C,D
��� �� ��
���	 ����� �� 


Jordan Canonical Form
������ �� ������	 	���	

15.4.3
>-/�

������� �� 	���� 	� �
�� 	���������� ��� �� ���	� �� ��

A =





















A1 0 0 · · · 0

0 A2 0 · · · 0


 


 


 


 




0 0 0 Ak−1 0

0 0 0 0 Ak






















���: �� �

	���	� 
�	
An

	����� ��� ���
�� �� ��� ����
 �� ������� �	
0
�	 ��
�

An =



























λn 1 0 0 · · · 0

0 λn 1 0 · · · 0


 


 


 


 




0 0 0 λn 1 0

0 0 0 0 λn 1

0 0 0 0 0 λn




























���: �� �
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k
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67 ����� ��0 ���!� �1� ���54� ���� 68 67 ����� ��� 
������6 �� � ���� ��6 �656 �����
�� ��7�� 67 ����� �1 ����� 9��4 ��� �75 � �� ���� � �� ��7�

q̇(t) = Aq(t) + Bx(t)

���� �� �

�4� �4 � ���� �1 ����� �
q(0−)

�61�� ��4� �9

sQ+(s) − q(0−) = AQ+(s) + BX+(s)

���� �� �

sQ+(s) − AQ+(s) = BX+(s) + q(0−)

���� �" �

Q+(s) = (sI − A)−1BX+(s) + (sI − A)−1q(0−)

���� �: �
�47� ������ ��5� �61�� ��4�� ���� ���!� � �� 3�� � ��� 3�7��� ����� �7�8 �� �61 ��7 �46��� �

6��4� �8�9�� ����� ���9 �� ��7�� ���4 ��5� �� �48� �� �!� � ��

Y+(s) = CQ+(s) + DX+(s)

���� �� �

= [C(sI − A)−1B + D]X+(s) + C(sI − A)−1q(0−)

���� �B �
3�8� ��5� �� �48� ���!� � �� �47� �� ���� ��5� �61�� ��4�� ���!�� � �� 3�7��� ����� 3�8 � !�

� �� �8�9�� 67 ������� ����4�57 � ��4

H(s) = C(sI − A)−1B + D .

���� �� �
� ! �08 � ���� 9��6 7 � ��48�� � �4��� �7�7 3�� � ��� �� ��1� ���� ������ � ���4�57 �47��7 3���8
�1 � ���6�� ����4�5 � �� � !

H(s)
�0� � ��6�� ��

y
@�

x
�� �������� ����4�5 �� 6��6 ��8 3�8

���� 4�5 � ��
H

�8 9��4
s
@� � ���4�6 � ��7 ������ 67 � �5 �� �� � 69 �6���� ���7 3���8 �

s
67 
�����

�4�7� !�� � � �5�6 ��� �4��� ��� ���@�� �48� �8�9� �� ����� �7� �D�� � �7�6 �75� 386 �� �64����
����!� ��0!4� � �� ��� �0� � ��5� � � ���� 67 � ���� ��� ��7 3� ��8 ��656 ����� ���@@@� D��6 ���

����� !�� �� 67 

A

������� ���� � ������ 3�� ��� � � D��� 67 
�� ���
�D�� ������ ������� �8 �4��� �

Φ(t) = eAt ������� �� �716 ��� �46 �4� �4 �656 �����
d

dt
Φ(t) = AΦ(t)


���� � �
3�� � ���� �1 �656 ����� �

Φ(0) = I
�7�8

sΦ(s)− Φ(0) = AΦ(s)

���� �A �

(sI − A)Φ(s) = I

���� ��C �

Φ(s) = (sI − A)−1 .

���� ��� �
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(sI −A)−1 67 ��7 �1� �����
67 ��4��5�� ����7�� � ���� � ��

det(sI − A)
�� ��7�� �
�������7 � ����9 � �8�9 �9�6 �

A
���

� ���6 �75� �
BIBO

� �� �� �� � �� ��5� ��� ����� � ��7 �4 66�8 ��8�9�� � �!�4�� ��7 3�8� ��8�9��
� ���� � 69 � ���6� � �4��5�� � �4�6 �5� �7��7 ��

A
67 � ����9� � �8�9� 2

A
67 � ����9� � �8�9� � ���

67 6��7 ��� � ����4
A

67 � ����9� � �8�9� 68 �� �8 �6 � �7 4 ��4�7 !��� � ���� � 69 68� �
BIBO�� ��1 ��� � ���� �����1 �� �48 68 ���97 6��4

( 15.3.39)
�668� 3���5� � ��� �0� ��8���� ��7 ���

3���� ����9� � �1�� �!�1 � �6 �8�9�� �� �8� � ! ��� �48� ��6�7 ����6 ��8 ��71 � ���� � 67 �0 !��
���67

��� ��	� �� �� � �
��8 ��� �� �71 �� �7 �1��� ��!�� �� 386 3� �4 �� 0 ����� �61 �4�� �� ��1�� � �71 � �� ��7�� �7 �4
1 �44�

( 15.2.21) Controllable Canonical Form
!�� ��� ��� �8�9�� 34���4 �08��� 3��9�� �� ���9�6

�� ����1� � �15 � �� 4�� 9��6 3� �4 36�6 1 �� �5� �� �9!� 68� ���� �� 
����6 3� �4 �� �68 � �7 �! �46 7 �7
����� �6�7� �� 31�4 ��0 ���� 67 ���16 ��9� � �� �7 �4� ����8 �6��

Controllable
����� ��� � ! �7�

Ã 6= A
������� ��� 69 ��� ��� �8�9�� 67 ������ � �!�4���

!�4��7 �86 � ��!6 
���9 �8�9�� �� ��476 3� ��8 �6�� � 3� �4 ��� �
( 15.2.21) Canonical Form

A
������� 67

an
� ������ �6��8 !�4�� �8�9��7 �86 � ��!6 3� �4 ��� ���68 ������� �����

�� �16 � ����!� �3�� � ��� � ����9 � �8�9 7 �
A

@6� 38� � �67�6 �
ãn

�4�1�7 � ��1� � ������ �561 ��
�3���4� � �796 3� �4 �� �� �� �� �

��8�9�6 �� �488 ���� � ���01� � �� �� � ���9� ��8�9�� ��� �8�9 �� � ����� �4�7 �� �9�7� ��7�
���!4 2���� �8�9 67 ���4�6 � ���

x
�� �486 � �� �4 ����� ����� ��0 �794

r(t) =

N−1
∑

n=0

ânqn(t)

���� ��� �

�8 �� ���� 6��47 �8�9�� ����� ���!4
ân

� ������ �� �7�8

q̇ = Aq + B(r + x)

���� ��" �

= Aq + B

(

N−1
∑

n=0

ânqn

)

+ Bx

���� ��: �

= Ǎq + Bx

���� ��� �

y = Cq + Dx .

���� ��B �
�
ân = ãn + an

�1�4 �98 �
ân − an

�� �4��1�� ���7� ���� �7�8
( 15.2.21)
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Ǎ

�������
3� ���� � �� ��7� 386�

Ǎ = Ã
�8 6��4

q̇ = Ãq + x

���� ��� �

y = Cq + Dx .
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




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
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
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






���B �� �
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q, x, y
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y(n) = g[q(n), x(n), n]
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2���� �8�9�� 1�� �4� 6�1� 4
N
∑

n=0

anσny(t) = x(t)
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�� ���4���� !�� ��� �4�� �0 !�� �� �8 �6 � �7 4 �
σy(t) = y(t + 1)

2�� ��� �00�� ����5�� ���
σ

�7�8
@@

( 12.5.35)
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12.5.1
� �9�� �4���7 �58 �6�� �7�5� � �� ��7� � ���� 3���� �47��7�

����� �� ��7�� �� � �7�4 0� � �
aN = 1

�8 1 �44 � ��1 �4� 39�6 �� �6 ��7 � �!�� ���
( 12.5.36)

y(t + N) = −a0y(t) − a1y(t + 1) − a2y(t + 2) − . . . − aN−1y(t + N − 1) + x(t)

���� �� �

���!4

q1(t) = y(t)

���� �" �

q2(t) = q1(t + 1) = y(t + 1)

���� �: �

q3(t) = q2(t + 1) = y(t + 2)

���� �� �

��� ��� ���
���� �B �
qN (t) = qN−1(t + 1) = y(t + N − 1) .
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y(t) =
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1 0 0 . . . 0
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q(t + 1) = Aq(t) + Bx(t)
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y(t) = Cq(t) + Dx(t)
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B
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2����

q(n) = Aq(n − 1) + Bx(n − 1)

���� ��� �

= A[Aq(n − 2) + Bx(n − 2)] + Bx(n − 1)

���� �� �

= A2q(n − 2) + ABx(n − 2) + Bx(n − 1)

���� ��A �

= A3q(n − 3) + A2Bx(n − 3) + ABx(n − 2) + Bx(n − 1)
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386�

q(n) = Anq(0) +

n
∑

k=1

Ak−1Bx(n − k) .
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Φ(t) = At
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q(t + 1) = Aq(t) + Bx(t)
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q(0)
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zQ+(z) − zq(0) = AQ+(z) + BX+(z)
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zQ+(z) − AQ+(z) = BX+(z) + zq(0)
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